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Reviewed and updated on: 01%* November 2019 Version 1.1

1 Whatis the name of the part marked as ‘X" in
DC generator? | AT SRS H X’ & &I H RAIZAT
HTIT T ATH FAT§?

Armature core | 3THTR R

Brush | SIRT

Commutator raiser | WW
Commutator segment | WC?ET@'S'

O 606 w >

2 What is the name of D.C generator? | D.C

STeIe T ATH FAT &7
P
L o
) | I
LOAD

A Differential long shunt compound | BT
ST 27T HUT3S

B Differential short shunt compound |
TSRS o7 2fe Tifareh

C Cumulative long shunt compound | =T &It
g A

D Cumulative short shunt compound | Hﬂ?ﬁﬂ'{,{
g A

3 Which rule is used to find the direction of

induced emfin D.C generator? | D.C SR H IR
SUATK T fgem AT e & fore fovg fagar &t
39T FoRT ST 82

A  Corkscrew rule | ?ﬁ#@jﬁ'&ﬂ

B Right hand palm rule | &TfgsT T ST g2l T
G

C  Fleming’s left-hand rule | Folf&aT & STT §TY T
o

D Fleming’s right hand rule | TR & gIfg=t
HEEIRCRE

4  Which formula is used to calculate the
generated emf in D.C generator? | D.C STeiieX "

3cUeeT SUHTS T ITUTAT hied o ToIT fohdt o b1
ELRICINCRIRCICIEE
ZH, .

A Generated eme?CIr_rré'QW: Cha

t

B Generated emf 3cdee] SUHUG= &0 F

N F.
-kt
C Generated emf 3cdee] SUAUH = 777 #
ZN F

— x—"\alt

D Generated emf 3cUee] SUATH = =0 ~

5 What is the formula to calculate back emf of a

D.C motor? | SUHUS T IUTAT el ol FF FATH?
Tah S A

\Y; Vv
Eb = Volts | Eb="—— dlec

aRa laRa
Eb=Vx 1R, Volts | Eb=V x|, R, dlecd
Eb=V_|a Ra V0|tS | Eb=V—|a Ra al(“a\u

Eb=V+1,R, Volts | Eb =V +I,R, dlecH

o 0o v >

6 What is the name of the part marked ‘X’ in DC
generator? | DC Generator #’X’ o &9 & RIfgaa
13T T ATH FAT 2

A Poletip | %H@fﬂ’l?
B Pole coil | %HW
C Pole core | 9T &R
D Pole shoe | Cﬂ?—l’%{\

7 What is the name of the D.C generator? | D.C

STeRe T AT FAT &2
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oA A *1

B ruse F L+
Hr_‘ : 1
nnlcu : E FELD (!) L
| e "
-to e = —— 2
Fa Ay -
A Shunt generator | € STeAC
B Series generator | 0T SeleX
C Compound generator | i ST
D Separately excited generator | 3Tel3T & 3dfaid

ST

8 Which energy is converted into electrical
energy by generator? | STAYCI GART Tohd FatT bl

Taege Fait # gRafcia forar Sirem g
A Heat | 3AT

B Kinetic | 3Tfcrefrel

C Chemical | TEIfA®

D Mechanical | I A&

9 What is the name of D.C generator field? | D.C
STeTXCX thies o 1T T g2

-

A Short shunt compound generator | ?vl'{_l}'%l"c"
IR Ferex

B Long shunt compound generator | AieaT e
FHAT3Z ST

C Differential compound generator | [A¥csH
I TR

D Cumulative compound generator | gt

AT STeeT

10 Whatis the principle of D.C generator? | D.C
AL T THSHTd FT 7

A  Corkscrew rule | aﬁé:w“ﬁm

B Fleming’s left-hand rule | Folf&aT & STT &1 T

IGRE
C  Fleming’s right hand rule | FIfR3T & &1l
HEEIRTRE

D Faradays laws of electromagnetic induction |

WWWWWWW

11  Whatis the formula for dynamically induced

emf? | FITRMer &7 @ IR STATE & forw FF =1
e?

A BLVvolts | BLV dlec

B BLsinB volts | BLsin® @lee

C BLVsinB volts | BLV sin® dlec

D BLV cosB volts | BLV cosb alee

12 Which rule is used to find direction of
magnetic field? | Wﬂ?ﬁ%?ﬂﬁﬁ%
T Ty e 1 39T fFar ST g2

A  Corkscrew rule | ﬁ@jﬁl’qﬂ

B Right hand palm rule | SIigsT 8T T gl &7
IGRE

C Fleming’s left hand rule | EI—T»T%T?ET@BT?IH
o

D  Fleming’s right hand rule | FlTHaT & &IfgeT
&g &7 faa#d

13  What s the name of the part of DC
generator? | 3T STAXeX b $719T ST ATH AT 872

A Stator | T&eX

B Pole core | %T:I'W
C

D

Pole shoes | CﬂT‘—I"\’L
Yoke (or) frame | T (IT) v
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14 How many parallel paths in duplex lap
winding of a 4 pole DC generator? | 4 9rel SIT

STeEX o gCelehd oI ATS TS & fohclel AR

TET&?
A 4
B 6
c 8
D 12

15 Name the part of DC generator? | 31ET
ST o HTIT T ATH SdATST?

e@%}? d“%?ﬁ
o

R
%g

”/‘Pf’é"g@%

A Side end plates | HE‘S’U‘S’W

B Pole shoe lamination | Cﬂ?l’%]’\ﬁﬁlﬁ%lﬂ'
C

D

Commutator segment | W@'s’
Armature core lamination | IR AR
GGG

16 How interpoles are connected in a DC
generator? | éﬁﬁaaﬁaﬁ@aﬁaﬁaﬁﬁv
A Inseries with armature | mﬁaﬁsmm
H

B In parallel with armature | 3R & @
TATATR H

C In series with shunt field | 27 HIes & TT
AT H

D In parallel with shunt field | 2€ $Ies o AT
TATATR H

17 What s the necessity of residual magnetism in
a self excited DC generator? | Ueh T 3dfold SrEr
STeTRex & 37afRrse eehed i TaRIhT 4T 82

A Build up the voltage | areest &l HY

B Reduce the field current | HTeg X e Y

C Reduce armature current | IR W FA

ETy

D Maintain constant output voltage | GEG

3M3eYe JrecsT IoTT I8

18 Which are the two points that the brush
contact resistance measured in D.C machines? | D.C

FRMAT H, I loT T ) foig & S srer Faeh yfarer v
AT g?
A  Resistance between the opposite brushes |

g ser & S afady

B Resistance between brush and commutator

raiser | E?TWWW*WW

C Resistance between brush and commutator |

ST 3TN ey & e Tiere

D Resistance between brush and armature

conductors | sTeT 3R 3R FgaeX & o gfaRIer

19 Which voltage drop is indicated in the portion
marked as X? | TF& alecoT 31T T X & &I

g fFar = g?

LOAD CUNPENT —["
L

Full load voltage drop | qy‘ra’rs'a’lsé\—:rma
Armature voltage drop | 3R alecst aTd
Armature reaction drop | mm&mgﬁ
Shunt field voltage drop | Qi?tﬁ?s’aﬁmﬁq

o 0o wv >

20 What is the name of the compound
generator, if the shunt field is connected in parallel

with armature? | HUT3S ST I ATH FATE, Tl
{C oS JTHTR & AT FHTATR A 53T '§'34T%"?

Long shunt compound | Ale=dT I HUT33

B Cumulative compound | gt i
C Differential compound | [d%es Iifan
D Short shunt compound | Fl"t?l)’?i?zl’fﬁlﬂ?
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21  Why the armature core of a DC generator is

laminated? | T Teh 3T STelieX o THT HR
gefad 82

A Reduce the copper loss | GIERIGEIE T TS
B Reduce the friction loss | EYUT gTfeY T T Y
C Reduce the hysteresis loss | e RE g &1
HH I

D Reduce the eddy current loss | HaR URT &1
& HH HL

22  Why armature resistance of a D.C generator is

very low? | D.C WWWWE@W
Fr g2

A Reduce armature current | 3T &IRT & FY
B  Reduce armature voltage drop | 3R dlecsT
31T &l A

C Runarmature with less weight | & golel &
HIY HTHT TATT

D Reduce the temperature of armature | TR
T ATTHTA T HY

23 Why the D.C generator should run in
clockwise direction only? | D.C STeI{eX &l TaT &I

feem & & 4t Torer Tnfge?

A Protect brushes from damage | EQTH#WH
q gard

B Protect the residual magnetism | 3rafirse
Hefehed s T&TT Y

C  Avoid short circuit in armature | 3R & &
i qaar

D  Avoid over loading of generator | STeIeX
HIAHTRA et G T

24 Why compensating winding is provided in
large DC generators? | a’%’mmﬁgﬂm
exfergfel st vreret S Siel &2

A Connect more loads | 37T WIS Shalee Y

B Reduce commutation effect | EI-TF{EQTH CEICE
&1 A B

C Neutralize armature reaction effect | IR
gfAfshar g8Ta &l 938X Y

D Increase the efficiency of generator | STelReX
T gaTalT 9gT¢

25 What is the reason for DC generator fails to
build up voltage? | XY ST & ool & AT
et H fathel glet T 7T HROT &2

A Loose brush contact | &Tel T2 T STeT

B  Armature resistance is more | 3R 9faRTer
AfRFHT

C Field resistance is above critical resistance |

HTes IfcRTEr Fhifceh TR H FIR &

D Prime mover is running at above rated speed |

UISH AR IS AV IR IA @Y

26 What is the name of generator, if its field is
connected in parallel with armature? | STeIeX T

T T, AR ST 8 R 5 FHAA 3T
g3Te?

A  Shunt generator | gTe e

B Series generator | A0f SeReX

C Compound generator | T3 e

D Self excited generator | TaF 3ATold el

27 What s the purpose of pole shoe in DC
generator? | 1Y STee H Yol [l 36T FT

g7

A Reduce the air gap | TIX 3T &l FHdT HY

B Increase the field strength | & T dTehd SGTT
C Minimize the magnetic losses | ﬂoﬁﬁm
T A B

D Spread out flux uniformly in the air gap | TIX
AT F FATT T Felard i thelld

28 What is the function of split rings in DC

generator? | 1Y e & f&cere R o1 a1 Ry
g?

A Maintain constant voltage | R arecat

CE U]
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B Collects the current unidirectionally | &TRT 3T
T e F U AT

C Reduces the voltage drop at brushes | sIRTYT
glecoT 319 T hd AT §

D Increases the terminal voltage than rated |
&S Y Jolall A EfHe dleesl eTdl &

29 Which material is used to make brush in

generator? | STeeX H 2T §e1Tol o ToIT foha AT
T 39T fhaT SATAT B2
A Steel and graphite | TreT 3R AwTST

Carbon and graphite | COEE 3-ﬁTd)th$c

B
C Castiron and graphite | GoTaT oligl S-T\Td)“hlsc
D Aluminium and graphite | Wﬁmﬁ?

30 Why DC generators are loosing their residual
magnetism? | 1 31T STelieX 3791 37afeUse
Yefehed W e g7

A Heavy short circuit in load | TR & $TRY Q1T
afee

B Running without load continuously | [S=T &g
& oI el T@T &

C Continuous running without break | TS=IT ¥ &

STIMTAR deledl
D Change of direction of rotation very often |

QT Y fem IFaR seodr g

31 How does the magnetic circuit complete

through the yoke and poles in a generator? | Teh
SRR 3 2 3R 4 3 A & g Wk
A RIGIATE?

A  Field coils | aﬁg»—s'a?r

B Armature core | 3THTR B

C Laminated pole core | Teford Uiel HIX

D Winding conductors in armature | IR A

.

32 Why the terminal voltage decreases if load
increases in DC shunt generator? | 3T 2 AR

H oS g W T alecol HF FAT 8l SATaT8?
A Because of armature reaction effect | IMRR

gfaferar gara & ROt

B Duetoincreased in armature resistance |
R SRR 3 e & T

C Because of brush voltage drop decreases | SIRT
drecst &1 aolg ¥ Pac FA g ATl &

D Due to increased in shunt field inductance |

C e Rehed H Je T & HROT

33  Which type of DC generator is used for long
distance distribution lines? | WE@'@%HTUT

ATSAT & ToIT foha Ten o ST STeAeT &l 3uTeT
forar ST 82

A Shunt generator | € STeleX

B Series generator | 0T SeleX

C Differential compound generator | [A%csH
IR FeAvex

D Cumulative compound generator | Ea=Y

AT STeeT

34 Which method is used to improve the
insulation resistance in DC generator? | T
STREX # SR IR 1 9ger Tl & Forw
fora fafr 1 39aer fRar ST 82

A Replacing the brushes frequently | sT2T &I TRR-

d s elddl
B Heating the machine by running periodically |

AT-GHI I AN i I3 LT

C Cleaning the commutator segments regularly |
A §9 @ Frgeex Qe T THIS =

D Blowing hot air in to the machine during

maintenance | @YW & a7l 7L 7 a7 gar
ol

35 Which type of D.C Generator works in
absence of residual magnetism? | aaf@rwaaaam

F 31919 F fFT YR T D.C FAeTeT HIH AT 8?
A Shunt generator | € STeReX
B Series generator | AU STe¥ex
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C Compound generator | i ST
D Separately excited generator | 3Tel3T & 3dfaid

36 Which type of D.C generator is used for arc

welding? | 3 afesaT & AT fFT YR F D.C
SACT T 3TN fhT ST &2

A Shunt generator | 7€ STelReT

B Series generator | 0T SeleX

C Differential compound generator | [A¥ceH
T3 TR

D Cumulative compound generator | ot

AT STeReT

37 What s the property of wave winding in D.C
generator? | D.C STei¥ex H 3T arsfaer hr faQivyar
FATE?

A Low current low voltage | & YRT & diecol
B High current low voltage | 3=d YIRT A
drecst

C Low current high voltage | shdH YIRT 3=
drecst

D High current high voltage | 3=d 9RT 3=
drecst

38 Whatis the purpose of resistance wire used in
the commutator connection in D.C generator? | D.C

STeEX A hEgEel TTslel H Y FIaRTe dR 1
3CCeT FATR?

[ « [ & [ s« [ a |

A Maintain constant voltage | fad arecst gaTT
Rec]

B  Nullifying statically induced emf | Q];RTFW
T F IR SUTATH

C Increasing statically induced emf | Tdfae &7
¥ 9RT STATE ST

D Smooth reversal of current direction | €I

TR &7 3T & Tl

39 Why solid pole shoes are used in D.C
generator? | D.C STeiReY & S Ylel [ T 3uZTaT

&1 FoRaT ST 82

A Toreduce the copper loss | aﬁ%wﬁ
HH I & fow

B Toincrease the residual magnetism | 3@f2rse

eehed I TGT= & T

C Todecrease the residual magnetism | 37@ferse
Haed Y Y 5 AT

D To reduce the reluctance of magnetic path |
I TY & ReAFeH ol v it & forw

40 Which metal is used to make large capacity

DC generator yoke? | SI3T &3l o 31T SleieX Il
oY 3 TR Ry T T STVaT o Tl €2

Cast iron | &oTdT &ilgT

Soft iron | 3 NgT

Aluminium | Wﬁm

Rolled Steel | o8 Tl

o 0o w >

41 Whatis the function of split rings in a D.C

generator? | 3T HT STeleX # oot R & &1
T B?

A Supplies output continuously | oA
3M3eYe T ATt

B Makes output in the uni direction | Tah fgem &
HT3CYC AT &

C Makes output in the opposite direction |

T feem & 3m3eqe war g

D Collects the output from alternate conductors
| ATl ShgeFeT A IICYE Tehe HFATE

42  Which type of voltage is induced dynamically
in a D.C generator? | D.C SelReX H fhdg Y& T
dreeat Afale &9 8 ARG grara?

A Pulsating voltage | ToRTEdT dlecal

B Oscillating voltage | GreleTeiTer alecot
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C Alternating voltage | IcaTddT alecal
D Direct current voltage | IcT&T YRT dlecal

43  What is the purpose of slot marked as ‘X’? |

X & &9 H RIEAT Felle &1 3eaT #1687

W7
W

A To fix the key way | Fsft AT S it

fow

B To make air circulation | arrgrcrﬁﬂwam;‘r
& fow

C  For lubrication purpose | @%ﬂ%ﬁ%ﬁ?ﬁ'ﬁf
D  For easy removal from shaft | 2ITFE & THTAT
T ge= & fav

X

44 What s the purpose of field coils in D.C
generator? | D.C STeIXeX # $les Fhigel HI 36527
FATE?

A Toincrease the flux in air gap | TIR AT H
TFelehd 2! glel o folT

B To decrease the magnetizing current |
HIACTSTSIIT I N FH HlA & foIT

C To magnetize the poles to produce coil flux |
Sl TR T PO et 3 v gt
gFefohd AT

D Toincrease the reluctance of magnetic path |

BT 2 & Reoraa 7 argieY & T

45 Which metal is used to make pole core of

large DC generator machines? | g3 ST STelkeX
TN 35 YT I Y 3 Fore Ry eareg T ST
BRI IGINE

A  Softiron | T ogT

B Castiron | &oldl oligl

C Cast steel | ToldT SEUTT

D Stainless steel | Tl d Tlal

46  Why the pole core stampings are laminated in

DC generator? | &7 GleT IR TSITUIT SIET AT
F uefaa ma g?

A Reduce the friction loss | YT §TfeY T o Y
B  Reduce the windage loss | s AT A e
Ey

C Reduce the hysteresis loss | REcRET g &r
FH B

D Reduce the eddy current loss | $7aX ¢TRT gTfel
T HH I

47  Which type of DC generator is used for

electroplating process? | W@%Tma?
fore fore g & X STeieX T 39NeT foram Sirar
g?

A Shunt generator | € STeleX

B Series generator | HUT SeleX

C Differential compound generator | [A%csH
IR FeAvex

D Cumulative compound generator | §a=Y

AT STeeT

48 What is the purpose of compensating winding

in DC generator? | 31T STeiReX H HededTedr
ST T 3T FATR?

A Minimizes rough commutation | F3RX
HFYLA FHH FATE

B Maintain constant output voltage | aa
3M3CYC Ao FATT T

C Neutralizes the demagnetizing effect |

FagFaeheRoT TeTTd T J37ET X ST &

D Decreases the excitation current of field coils |

&1 5l I IehoTel URT I TS

49 What is the effect if the shunt field resistance
is above critical resistance value in a D.C generator?

| Tfe 2l Hres ITaRTE shifde IRy Al § 3R
& oY T U3TF 95T &2 D.C ST ?

A Output voltage is pulsating | 3-113_63'637(733[
geafedrg
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B  Output voltage is above normal | 313<9C

aleesl AT A I E
C Generator fails to build up voltage | STeieX

dreesT Telled H TAHeT TR
D  Generator builds up voltage normally | STe1ReX

rATT ¥9 F dlecof 91T &

50 What s the effect of armature reaction in DC
generator? | 31T STeeX H TR giafshar r
THTT FATZ?

A Output voltage increases | 3-113'631"6’!@?
dedTE

B  Output voltage decreases | 3-113'631"6’!@?
EEEICI

C Output voltage is pulsating | Wm
TafeT g Tere

D Output voltage will become zero | 313¢9c
aleeST = gl SITTamn

51 Calculate the emf genarated in a 4 pole DC
generator with simplex wave wound armature has
1020 conductors and driven at a speed of 1500 rpm,

the flux / pole is 0.007 webers? | &Teldd aa
JI38 THTR & [T Teh 4 GreT ST STeReX & 1020
&hgered ¢ 3T 1500 RUITA Fr afay @ Farfad &,

FoIFH / Aol 0.007 AsR §; 3cUTiGd SUHUT
IUTT Y2
A 178V
B 243V
C 357V
D 428V

52 How the effect of armature reaction can be
neutralized in large DC generators? | 95 3I4T

AT A ITHTT GTATHAT o THTG T Ha 936
fra ST Ehar g?

A Using compensating winding | FeEgTaiCaT
ATSTSIT ST IUITT HleAT

B Providing additional inter poles | Hﬁﬁa—dsﬂ
Yol SeTel &hell

C Increasing brush contact resistance | ST TS

IeRIY Sga1T
D Adding resistance wires with winding | 313%'«”
& @rY 9faiy ari & SiEar

53 What s the effect in D.C generator, if it is kept
ideal for long time? | D.C STeAReX H FIT YHTT gl

€, 3R 3 oI TAT deh §¢, TQT SITT?

A Field coil resistance increases | ERIFS'EFUI??T»T
feRIY 96 STar g

B  Armature resistance increases | IR

gl sgar e

C Increase the armature reaction | IR
wfaforar sger

D Looses its residual magnetism | 379e1 37aferse
qahed BT G EATE

54 Calculate the induced emf of 4 pole dynamo
having 1000 rpm lap wound and total number of
conductors is 600, the flux / pole is 0.064 wb? | 4

il SRISAT 3 IRT STHTE Y 37T Y, 1000
3RUITH I AT38 3R hgFel T FHel HEAT 6008,

Folery / 9ol 0.064 wb §7?
A 160V
B 320V
C 480V
D 640V

55 What is the effect on induced emf if the main
field flux get distorted in DC generator? | Tfe; &

B9 3 ST S STeTY e 3% Rt @1 T, Y R
SUAUH IR FIAT THT USdT 82

A Induced emfincreases | ¥R EMF Joarg

B Induced emf decreases | ﬁﬁaéwvcsm%
C Nochangeininduced emf | Qﬁamﬁ
IS TeelTd oTET

D Induced emf becomes zero | Qﬂ?fé'ﬂ?:l'ﬂ'tﬁ
EIE AT

56 What is the cause for heavy sparking in
brushes of DC generator? | 31T ST o A H

$TY TUT{ShHaT T HIROT FAT§?
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A Short circuit in field winding | ®Tes arsf3aT & Answers:
e AfFe 1-C|2-A|3-D|4-C|5-C|6-D|7-D|
B  Short circuit in armature winding | IR

kU 8-D|10-D|11-C|12-D|13-D|14-C
R o et ke 110-Dli1-Cli2-p]13-D114-Cl
C MNA and GNA position changed | THTAT 3iR 15-D|16-A|17-A]18-C|19-C|20-D|
Shuere fRafg sea as 21-D|22-B|23-B|24-C|25-C|26-A |
D ToomuchspringtensionatbrushIEQTQ?FCT 27-D|28-B|29-B|30-D|31-B|32-A|
H 9gd 318 f&oer detra

o 33-D|34-D|35-D|36-C|37-C|38-D|

39-D|40-D|41-B|42-C|43-A|44-C|
45-C|46-D|47-A|48-C|49-C|50-8B |

51-C|52-A|53-D|54-D|55-B|56-C|
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57 Which instrument is used to measure

armature winding resistance? | WEE%UT
ST Y AT & T ford 3uatoT &1 3uter
BRI IGINE

A Megger | #IR

B Mustimeter | HeerHIcT

C Series type Ohm meter | S0f &R 3Ed HieX
D Kelvin bridge | %feds Tset

58 Which instrument is used to test armature
winding for short and open circuit? | “Me 3R

3T Tfche & Torw 3mefaR argfser st adraTor et
& foIT ford 3URT &1 3UANRT fohaT STt 87

A Tong Tester | TIeT UIeTah

B Internal Growler | 3TdR& A3

C External Growler | amfrm

D Digital multimeter | Bfolce HedIHTEY

59 What is the name of the speed control

method of DC motor? | 3T AleX & a1fa faz=or
[CIBEIEIGIC KT

L+

o e o e
B, &
Ay
DC MPPLY
g
1

O L-

A  Field diverter method | Fres sraac fafer

B  Field tapping method | Hles ¢fYer Iafer

C Voltage control method | @lecar faa=oT fafer
D Armature diverter method | IR sER
fafer

60 Which winding wire is used for DC field coil? |
3T Fes dIsdl & ToIT T arsfEar ar &1 39T

BRI IGINE

A Super enamelled copper wire | {[CR'E?I???S'
IEETGINS

B Single silk covered copper wire | Horer e

Hds IR AT
C Double silk covered copper wire | 39 e
Hds IR AT
D PVC covered copper winding wire | PVC Has

PR BT arR

61 Which formula is used to calculate the speed

of DC motor? | “SIEY FIeX I ITTcT I IUTAT Flad oh

foIT fohe g 1 3UANeT foham ST 82
A N=2
4
B N=2
Ep
c N=22
120
D N=In®
60

62 How many parallel paths in duplex lap
winding in the armature of 4 pole D.C Motor? | 4

qlel D.C HIER I 3THT H gTelard o T argfsar &

fohdey AR TS &2
2

OO w>

4
6
8

63  Which rule determines the direction of
rotation of armature in D.C motor? | D.C AlEI &

3R & gFey 1 feem it @ s e
AT E?

A Right hand grip rule | GIfg=lT 8T Yohs e

B Right hand palm rule | aTfeet 8T T gl T
faas

C Fleming’s left hand rule | Tl fH3T o ST gTr 7
IR

D  Fleming’s right hand rule | FITHaT & gIfgeT
BTY I fTH

64 What is the name of D.C motor? | D.C Al
HIFATATH &2
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3 L+
DC SUPPLY
E; A
| L.
A  D.C shunt motor | D.C g€ #leX
B D.Cseries motor | D.C AU HIEX

C D.Cdifferential compound motor | D.C

31deholet AlfaTeh Al
D D.C cumulative compound motor | D.C GIT
i A

65 Which rule determines the direction of

current in D.C motor? | 3Y T A H e o fgar
e T @ RuiRa g &2

A Right hand grip rule | TTg=T T Uehs foaeT

B Right hand palm rule | &TfgsT T ST gl T
oA

C  Fleming’s left hand rule | FeIfH3T & STT &I T
oA

D  Fleming’s right hand rule | FITR3T & IfgeY
BTY I T TH

66 What is the formula to calculate the current
taken by D.C shunt motor armature? | D.C 2I€ HIeX

3R ST ol TS &R hT IOTAT hled hT G FT

LV
A R

. _Ee
B R

| _V-E
C TR,

VB
D R

67  Which rule is applied to identify the direction
of flux in DC motor? | 3T AT H Folard T T

Y TgTe i o T ahlet AT o7 o foham Sirer
g7

A Cork’s screw rule | Eﬁé?@jﬁ'qﬂ'

B Right hand grip rule | GIfg=IT 8T Iohs faaeT

C  Fleming’s left hand rule | FITR3T & STT gT2r T
IGRE

D  Fleming’s right hand rule | FITR3T & gIfget
BY I TITH

68 Name the type of DC motor. | ST #AlCT &
R B ATH G |

L+O

s
A Shunt motor | 2/€ #AlCY

B Series motor | Uiy HeX

C Long shunt compound motor | s QI I35
A

D Short shunt compound motor | QITE e U338
A

69 What is the formula to calculate back EMF in a
DC motor? | DC A H EMF T I0TAT et T T

FATE?

ZNP
A Eb =
@ 60A
NP
B Eb =
Zp60A
ZNP
c E, =%
60 A
60 A
D Eb = d
ZNP

70 What is the name of the equipment? |
YT T =11 T g7

COIL HSULATED oM CoM

A  Megger | #IR
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B Earth resistance tester | 3{\9i<=-|1|‘€1 eI
C Internal growler | TR IT3eR
D External growler | STEIT AR

71 What is the name of winding, if coil pitch is

less than pole pitch? | If¢; Farse U, AT AT &
A &, N AT T AT FAT?

Full pitch winding | {ﬁﬁﬂw

Half pitch winding | H?fl'feﬁ'ﬁv_sﬂﬂ'

Long chorded winding | aﬁﬁé‘s'asﬁw
Short chorded winding | ?ﬁﬁﬁﬂ@%ﬁ

o 606 w >

72 What is the purpose of series resistor
connected with holding coil in a D.C four point

starter? | éﬁ'?ﬂ'ﬂﬂﬁ%ﬂ'?—?‘lﬁ?ﬁmﬁgﬁﬁ
1 A0 wfcRYersh 1 3egeg #aTg?

A Limit the current in holding coil | @%?Ti%@'
H e HrAfAd Y

B Increase the current in holding coil | ITegaT

Figel H HIC TGTU

C Increase the voltage in holding coil | ﬁsﬁﬁ
Uehsa & dleeol IoTd

D Decrease the voltage in holding coil | 8ifesaT
IS A dlecol HH HL

73  Which speed control method of D.C series
motor is used for electric train? | D.C HRIeT HAleX

1 forg a1t T o1 fafer &1 39T Sifdch ST &
fore forar Sar g2

A  Field diverter method | Hres sae fafer

B Field tapping method | Fres efver fafer

C Armature diverter method | 3MRR sacx
fafer

D Supply voltage control method | mm
foor fafer

74 Why shunt field coil is connected in series
with holding coil in D.C three point starter? | gre
68 BIsdl BT D.C AT dige TR H gifesdT higel
¥ T AT 3 Rt ST ST 2

A Increase the holding coil current | gifesar
FISl PC ST
B Decrease the holding coil current | 8fegar
FISeT T TCTU

C Protect the shunt field from over current | N[

Fres & e J a0

D Protect the motor in case of open in shunt field

| *TE Hres Gol glet T T & Are 1 geiara

75 Why the direction of rotation is changed only
by changing the armature current direction in a D.C

compound motor? | D.C fATAT Aex 7 et aRr
T2 T SEeTet haet gulet T fgem &t sgar &Y
ST &?

A Maintain rated speed | ¥¢8 31Td §aT0 3@

B  Maintain motor characteristics | A
T3 T FATT W

C Avoid armature reaction effect | IR
EIGIERIEEICE D]

D Prevent motor from over loading | FICT &I

3N AR T Nk

76  Which speed control methods offers below
normal speed in DC shunt motor? | 31T 2T€ AT H
ATHATY 31T & =i it AY 31fa forz=or fTaferar
gaTeT il o ?

A  Field control method | &= forg=or fafer

B Voltage control method | @lecst fagor fafer
C Armature control method | 3R f@a=oT
fafer

D Ward Leonard system of speed control | afa
foraoT & a8 foreTs gomelr

77 \Why starters are required to start D.C motors

in industries? | mﬁﬁ D.C Aled &Y QBRWaS
TIT T AT 3T &2

A Regulate the field voltage | &7 dlecol &l
[EIGRIGEETS

B  Reduce the armature current | IR AT Fr
HH B
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C Control the armature reaction | IR
gfafsrar 1 fAafRa ¥

D Smooth operation of motors | Fﬂﬂffﬂﬂﬂﬂ?
aTelel

78 Which insulating material belongs to class ‘B’

insulation? | aﬁﬂzﬁwwwvﬁ’@
FdToleh I g7

Cotton | h9TH

Bamboo | §T&

Fiber glass | BIS&X Telld

Leatheroid paper | THS T FHIITT

O O m™ >

79 What is the temperature value of class ‘F
insulation? | A0 T STl T ATTHTE HTe

FATE?

A 90°C
B 105°C
C 120°C
D 155°C

80 Which type of D.C motor is used for constant
speed drives? | m@w*mmw
&Y D.C AN I 3TN fohAT ATAT 82

A DC series motor | 34T Soff Aex

B DC shunt motor | 31T 2l€ AEX

C Differential long shunt compound motor |
TSR TeTeT WieaT 2l FHUT3E Al

D Differential short shunt compound motor |

TSRS 2ITE 2TE HUT3S HleT

81 Which type of DC motor is used in elevators?

| ToroFe H v TehR h1 ST AT &1 39T feham
STATE?

A DC series motor | 34T Soff AeX

B DC shunt motor | ST 2l€ AEX

C DC differential compound motor | 319"
fewifre Jiffie Al

D DC cumulative compound motor | 3 gy
i A

82 Which method of speed control gives below
the rated speed in DC series motor? | EIGRGEE

T el AT aIehT ST Aol AT A s aifa F i
CIGE-GINE

A  Field diverter method | Fres sacx fafyr

B  Tapped field method | ¢°3 &7 fafer

C Voltage control method | arecst faa=oT fafer
D Armature diverter method | ITHRR SRIE&R
fafer

83 Whatis the effect, if a four point starter
resistance is cutoff during running? | FITIHT &,

IO T 5 ST Y g T eI 3Ty
g?

A Motor stopped | FeI §¢ &l ST

B Runs at slow speed | T IIf & TeldT &

C Runs at very high speed | ag?résr?rﬁrﬁ
I

D Runs at reverse direction | 3ol &2 & ToldT

3

84  Why carbon composition brush requires in the
armature circuit to operate the D.C motor? | D.C

A & FaTford &el & forw 3w afdhe A
TeleT HUITSTRIeT §T2T T ITARThdT F1 glcil &7

A Increases the starting torque | FIR%EIHEI'\U‘[
T TSI &

B  Protects from armature reaction | 3R
gfafsrar d sararg

C Protects armature from over loading | 3

HROT { 3R Y eI T g

D Reduces the spark in the commutator segment

| FFIL TS H TE FHA F &ATS

85 Why series motor produce high torque and

speed initially without load? | ERYST Al foaT 7R
o 3R STa FereoT 3R a1 &gt der hieh &2
A Absence of back emf | a‘aﬁmﬁ
eqareafa

S
B Load current flows through field winding |
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e TSS9 o ATETH H IS FC Ya8 el &
C Armature current and field current are same |
D Series field winding wound with thick wire |

AET dR & Ty Hof 817 a3 ar

86 Why the series field is short circuited at the
time of starting in differential compound motor? |

SRR Shur3s HleT & & A & FHY Aot
& I TEITA T foharm ST 82

A To reduce the starting current | URTAS gRT
B HH A & T

B Toincrease the speed of motor | HTEI FT 1T
Jora & o

C To decrease the speed of motor | HIET &I I
B HH A & T

D To maintain proper direction of rotation |

Qe Fr 3T g g1 T@a & fow

87 Which is the most effective method of

balancing armature? | mﬁaqﬁama:r
TR THTEY AT hleT TTE?

A Static balancing | TAfd® Tl

B Dynamic balancing | 31fcrefier Tcferet

C Attached with counter balancing | FI3eX
ol o AT Heldaa

D Plugged with lead weight balancing | €IET #X
T el o AT TefaT fohaT arm

88 Which material is used for starting resistance

of DC starters? | Y Tered & farer i QJ,?KEIRFT
& fore fone el &1 393ter fhar Srar g2

A  Eureka | 213'55T

B Nichrome | ATSsheT

C Manganin | H=amfarel

D Constantine | TECETSeT

89  Which DC compound motor is operated at
constant speed under varying load? | e ST

FHUT3Z A T RT3 s W aag aifa
gaford T ST TehdT 82

Differential long shunt | SRS dfear 2T
Cumulative long shunt | Go=iT & 2T
Differential short shunt | ﬁ'ﬁﬁﬂ"{l" N[
Cumulative short shunt | Wﬂ'ﬂ'?i’d

O 60 ®w >

90 How No volt coil is connected in a three point
starter with DC shunt motor? | 3T e Al FH

A1 Tl UISe FEIET A Al dlec Higel H ST aIdm
g?

A  Directly connected to supply | mﬁ'ﬂﬁﬁ
T

B Connected in series with armature | IR &
AT ST H SIS EIHTE

C Connected in parallel with armature | IR
o T FHTAIR H ST3T g3 &

D Connected in series with shunt field | 2/C s
o TTY AU A SISTEITE

91 Which type of armature winding is illustrated?

| forg wehR 1 3R arsfEer ot fa=oT fomar arar
&2

[1 J2z]aTJa] m

1]2]afs4]

Duplex lap winding | g:@wﬁq?ﬂsﬁw
Triplex lap winding | %qﬁwﬁq?ﬂsﬁw
Simplex lap winding | f&celard oiT argfEar
Quadruplex lap winding | HGTQ?;@ERT@W

92  Which growler test for armature is illustrated?

| 3R & forT it a1 A3er et afaT g2

o 6o v >
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A Open coil test | @WW&W

B Grounded coil test | STHIT &l IR GIT&TOT

C Shorted coil test | agufﬂa;marqfrﬁw

D Shorted commutator test | agnﬁamw
gdrefor

93  Which speed control method is applied to
obtain both below normal and above normal speed

in DC motor? | AT AEI H ATHAT & W 3R
&) aleil ATl ol 9Ted &del & forT fohd arfey
for=ror fafer at efrey fomar Srar 82

A  Field control method | &= forg=or fafer

B  Armature control method | 3R fAgaor
fafer

C Tapped field speed control | &g Hies afa
IGEENI

D Ward Leonard speed control | ars oS
aifa farg=or

94 Why commutators are sparking heavily? |
HFEGL AT ol THh Scloe] T T6T 6?

A Incorrect brush position | §T2T T ITeld AT
B Incorrect field connection | 3Teid hles
Folereled

C Incorrect direction of rotation | H‘Pﬁﬂ'ﬁ'm
fearr

D Incorrect armature connection | eI TR
FolereleT

95 What is the action of the induced emf in a

running D.C motor? | @eT T&T D.C Al H 9URd
STATE T fhar FaT 8?2

A Assists the applied voltage | ©Ta] dlecof &l

HERIAT AT &

B  Opposes the applied voltage | ﬂ'ﬁlmw
[ENPETGINS

C Increases the armature current | IR
T eI &

D Decreases the armature current | IR e
FrECIaT g

96 Which motor has this characteristics curve? |
The Aex 7 I8 favarg?

|

TORQUE
A  Series motor | 0T #lex

B Shunt motor | 1€ HATEX

C Cumulative compound motor | ot Oifdes
A

D Differential compound motor | e aifw
A

97 What is the purpose of resistor connected
with holding coil in 4 point starter? | 4 ﬁ?j?%'l’é?ﬁf
BITeSaT il A I3 TTcRItreh I 3652 FT &7

A Limit current in NVC | ToTaTHT & SIRT EIHAT

B  Protect the coil from short circuit | Qe Tfdhe
3 o R

C Protect the motor from overload | FET &T
Hia’ells | g2

D Protect the armature from short circuit | e

Tfehe I TR 1 GRiET 7@

98 Why the D.C series motor field winding is
wound with thick wire? | D.C WHIE! FT hres

qTEf3eT AT dR & 1Y 138 FAT &2
A To regulate field voltage | HIe8 dlecol I
[EIERIEREZCEAEIY
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B To carry the load current | A8 e Fl o ST
& fow

C To keep maximum inductance | 3TT&Ihde 9ROT
W@ & forw

D To reduce the armature reaction | IR
GTATeRAT &l HH el & Tl

99  Which type of speed control of D.C series
motor? | D.C el Al &1 1fd fAg=01 fohey b
Fe?

L+

oL~

A  Field parallel method | & THR fafer

B Field diverter method | Fres srad fafer
C Field tapping method | %Ies cUer fafer

D Armature diverter method | IR sEY
fafer

100 Which type of D.C motor is suitable for
shearing machines? | FdRaiT #LMAT & forw i 4T

YR T D.C AR 3T &2

A Shunt motor | €AY

B Series motor | A0 Hlex

C Cumulative compound motor | ETJT FifdeR
HeX

D Differential compound motor | F9es i+
HIeT

101 Where D.C compound motors are preferred?
| &8l D.C AT A o wrafAear & s g2

A  Constant load requirements | S9dR oIS
HTGRIHATY

B Constant speed requirements | GEGEIGED
HTGRIHATY

C High starting torque requirements | 3Td
3R 3 TeTeUT 3TaRTHATT

D Constant speed under varying load
requirements | 3TeT3T-3TcTdT oIS 3TAIHATIIT o

3R fAgd a1y

102 What is the necessity of starter for D.C
motor? | D.C AeX & oI TeTEX &Y FT 3TaTHdT

g?

A Limit the field current | Ples 8RT I FfAT
Ey

B Limit the field voltage | PTes dlecal & HifAd
Cory

C Control the motor speed | e T 1T I
IERIEGKETY

D Limit the armature current | TR I HT
AT R

103  Which type of instrument is used to test the

armature winding? | Hﬁﬂ?ﬁﬁ%ﬂﬁﬁm
Fe o v fohT gehR & 3UaIoT T Y1eT foham

STl &2

A Megger | 7R

B Growler | AM3elX

C Multimeter | #FecIHEI
D Ohmmeter | JEFAR

104 Why the holding coil of a 3 point starter is
connected in series with shunt field? | 3 tﬁ"g';‘cfliaél

& BITeSdT higel hl AT HIes o AT STl H F4T

ST ST &2

A To limit the load current | oIS e & HfAT
ol & T

B To run motor at low voltage | & dlecsl I

A Tellel & Tl

C To hold the handle plunger firmly | ToloR &l

QERREECEATIY

D To protect the motor from high speed | 3=d

A T AeTHIETF v
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105 What is the best method to change the DOR
of a compound motor without change of its

characteristics? | &Y T3 Fex Fr fAAva3iT &
ST S, DOR Feelet & forw Tey 31T fafer Far
g?

A Change armature current direction | 3R
T fR Sgel

B Change shunt field current direction | g[e Bies
R fRm Sgel

C Change series field current direction | HOfr

Hres 4RT fgeI deel

D Change the current in armature and shunt field

together | 3R 3iR 2 $res H Fe I T 1T
acel

106 What is the purpose of NVC connected in
series with the field in 3 point starter? | 3 ﬁis

TTET H &1 & A AW H T3 U &l 3682
FATR?

A  Toimprove the torque | Wﬂﬁﬁﬂﬂﬂﬁé’»
forw

B Reduce the field current | HTeg X e Y
C To decrease the back emf | & EMF 3l el
Fel & T

D  To prevent increase in speed | 31fct  gefer
NETEACIY

107 Which type of DC motor is used for sudden
application of heavy loads? | T R & 31T

TR et o ToIT Toh e WepR hr ST Ale &t
39T FoRT ST 82

A Shunt motor | 2 FlEX

B Series motor | AU AleX

C Differential compound motor | fd%ces i
Ay

D Cumulative compound motor | ot ifas
Ay

108 Which speed control method is used in food
mixture motors? | @& 0T Alcd H fora a1l

=0T fafer &1 3ueT foanam STar g2

A Voltage control method | alecst faa=oT fafer
B  Field diverter control method | Hres SIa
IGEELACID]

C Armature diverter method | 3MRR s
fafer

D Series field tapping method | Wméﬁﬂ
fafer

109 Which speed control system provides a
smooth variation of speed from zero to above

normal? | Hﬁﬂ?ﬂ'?ﬁﬁwmgﬂﬁ
ATATT Y 37T deh 1T Sl Teh 3T Seolld
gaTel T 6?

A  Field control | &= =0T

B Armature control | 3R faz=oT

C Field diverter control | Hres srIac fA=or
D Ward-Leonard system control | ars-fo=rs
freeH fagaor

110 What is the purpose of tapes in winding? |

ST H TT T 36T FAT &2

A Insulate slots | W\@E}?\Tsﬂﬁ?{ﬁ

B  Bind the coils | EF\IJSFTEFTET‘ZT

C  Wrap the conductor | F8FeI U

D Insulate exposed conductors | @Wﬁ

111  Which type of DC armature winding the
front pitch (Ye) is greater than back pitch (Ys)? |

e 9 I 3T 3R the T (arsuw) fis &
oy (arsa) & e &2

Lap winding | ﬁanéf%?T

Wave winding | aa'a'rg%w

Progressive winding | cﬂvjﬁlaasﬁw
Retrogressive winding | ﬁ@ﬁﬁaarg%w

O 6o v >

112 What reduces the cross sectional area of

core material for VA rating? | Ao I+ T HER
AT & HIg JeFeTTol &YF ol AT hH T &?
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A Dynamo sheet | STTAT effC C Millinex paper | fAfeed 9o

B Low alloy sheet | W&Pﬂ'%ﬂgﬁm D Leatheroid paper | THS T HITT

C High alloy sheet | mﬁr&rmgr@rw : —

D Normal steel sheet | R . - 116  Which type of armature wmdln.g |§
illustrated? | TohE Wb T 3R aT8T3aT 1 FI=OT

113 How to obtain opposite polarity in adjacent WW%—’

poles of a 4 pole DC motor? | 4 %’dﬁ?ﬁmﬂﬁ

31 ¢fat & fauIe ¢aar Ha gred 32

A Varying the number of turns in coil | ?;Ts!?frﬁ'

EATAT hT HET T Feelel

B  Making series connection of coils | EFUI??W@'
AT HAISTeT TeTTeTT

C Making parallel connection of coils | EFTET»TQ?

HATATAR TLTSTeT TalTe]
D Making current flow in different direction |

TR YaTE ohT 37o19T ST & It

Triplex wave winding | fgTole da asfsar
Duplex wave winding | sqyﬁwéamg%w
Progressive lap winding | wﬁreﬁaﬁqmgﬁw

- — — Retrogressive lap winding | ii&jliﬂi@a o
114 What is the operation in the rewinding L
process? | RasEar ufshar & ug har Fa g? E

117 Calculate the average pitch (Ya) for
retrogressive wave winding, if No. of armature
conductor = 14 No. of slots = 7 No. of poles = 2 |

Rerafa aa agfEer & forw sitad & (va) &r
INOTAT Y, TTE, ITHTT Shgere hl A&AT=14, TAIC
T HET=7, Yl T TEAT=2

o 0o v >

A 4
o B 6
A Cleaning of slots | W@'Hﬂé C 8
B Removing of winding | aT833T TiehTeretT D 14
C  Removing of wedges | SIS T CToTT 118 Which type of test is illustrated for the
D  Cutting of winding wire | AT$fST AR SreaT armature after rewound? | 9fa&Tq & a1¢ 3R &
fore fora g &1 adiaTor R frar arar g2

115 Which insulating material used in winding is
a highly non -hygroscopic and possess good

electrical strength? | QIS{S3T 7 3YJNAT I SATeT ATl

hleT T Frelmereh ATEl Teh e e IR-
BIaITERI e o HEel aTel) g 31X 3 faega
QrFd @ g2

A  Empire cloth | THFATRY hYsT
B Triplex paper | WW

@ \|MI| Question Bank Page 18 of 47



ELECTRICIAN - Semester 3 Module 2 - DC Motor

Reviewed and updated on: 01%* November 2019 Version 1.1

T H deof feaT ST g?

A Runsinslow speed | ST aIfd @ Tercdr g
B Runsin high speed | ST TFdR H Teldl &
C Runsinthe same direction | Ueh 8T feem &

EEGIN]
D Runsinthe reverse direction | 3ocr fieRmH
EEGIN]
A Open coil test | @Wqﬁw 122  What is the speed, if field winding of a DC
B Shorted coil test | agqﬁa;rs?»rqfrﬁw shunt motor is in open circuit? | Tfe 3T 2T A
C Voltage drop test | a’lmg”rcrqfrﬁw ﬁ%a@%ﬁ%ﬂﬁ%ﬁﬁ,#ﬁlﬁmﬁ
D Grounded coil test | UB??H?\I'EWW&TUT A Stop running | TelelT 8 gl ST
B Motor runs normally | eI AT T &
119 Why the newly rewound armature must be
preheated before varnishing? | aﬁfﬂwﬁ%ﬁm TeRA T
FaTSE AT Y A FAt BT S AR C Runs at slow speed | ‘iﬂTﬁ?’Tﬁf@'ﬂﬂ?ﬂ'a’
A Drive out the moisture from it | SG& sTHT I D Runsin very high speed | agﬁﬁ\_ﬂ'?lﬁﬁf
S T &
B Help for quick drying of varnish | arfeter & 123  What is the reason for reduction in speed of
aﬁﬁgmﬁé?%rtfﬂa‘q’ a D.C shunt motor from no load to full load? | [
C Make easy to penetrate varnish inside | 376X mﬁqﬁmﬁé’rqﬂ eTe A T 1T HH gl T
aTfeTT AT AT &eATU FIT HROT &2
D Maintain uniform spreading of varnishing |
IfATRIST & THATA JHR Fl FATT I :'\\
120 How the direction of rotation of a DC ' i
compound motor is changed? | 3T FUT3S AT :
EoTet &1 e 3 Sl S &7 |
A By changing the direction of armature current !
| TR YRT T &R sgeret 0 5
B By interchanging the supply terminals | 3-1Tcl¢ﬁ A Shunt field current increases | € s AE
efaterelt Y 3T 3 A -

C By changing the direction of both field and

. B  Shunt field current decreases | e HIes T
armature current | &1 3R 3R 1At hr feger

gedrg

sdcelehl ) £
D By changing the direction of series field current ¢ Armjture voltage drop increases |
| AT & Y T A R e el g T¢ STl &
D Armature voltage drop decreases | TR
121  What is the effect in a D.C shunt motor, if its ms‘hwﬁm%

supply terminals are interchanged? | 3r &Y eI Al
AT AT ST 8, T ST ATl <THeTell Y
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124 Which winding fault is determined by the
test? | SleT AT ATSTST 1Y 3H TN&TUT SaRT ATA

A Open coil fault | lg?ﬁ'i%@'m

B Short coil fault | agnﬁag%aa’rsr

C Grounded coil fault | AM333 eh\IJ:—;\oi Pice
D Grounded core fault | T3S P Piee
Answers :

57-D|58-C|59-D|60-A|61-A|62-A |
63-C|64-A|65-D|66-C|67-C|68-D|
69-C|70-D|71-D|72-A|73-A|74-D |
75-B|76-C|77-B|78-C|79-D | 80-B |
81-D|82-D|83-B|84-D|85-A|86-D |
87-B|88-A|89-B|90-D|91-A|92-A|
93-D|94-A|95-B|96-C|97-A|98-B |
99-A|100-C|101-D | 102-D | 103-B |
104-D | 105-A | 106-D | 107-D | 108-D |
109-D | 110-C | 111-D | 112-C| 113-D |
114-C| 115-C| 116-C| 117-B | 118-B |
119-A | 120-A | 121-C | 122-D | 123-C |

124 - A |

€@ \| M| Question Bank

Page 20 of 47



ELECTRICIAN - Semester 3 Module 3 - AC. Three Phase Motor

Reviewed and updated on: 01%* November 2019 Version 1.1

125 What is the formula to calculate the slip
speed (Ngiip) of 3 phase squirrel cage induction

motor? | 3 Fell TEFael shol UROT Al I FTara

AT (Naip) Y ITUTT et ST G T &2
A Ns|ip = N - N

B N5||p N N

C Nﬂm'—A%;Nr

D Nﬂm'-AﬁgN}

126  What is the type of control circuit? | IGREMI
afehe T IRR FATE?

Fﬁ'“J 2]
(S

Inching control | 3f=aer faz=oT

ON remote control | R&ATC Hetel I

OFF remote control | R&ATE Shela dg
Forward & reverse control | 3 IR Ry
IGRENS

o 0O v >

127  Which formula is used to calculate the total
electrical degree in stator of an A.C motor? | A.C

AT o T A Fol [aegd 39l Y 70Tt v7at 6
ToIT fohe T 3T fohaT STl &2

A Total electrical degree = 180° / No. of slots |

ot Taegel T34t = 180 ° / Telled T Hea

B Total electrical degree = 180° x No. of slots |

%ol Taegel f39ft = 180 ° x Tolleq T €&

C Total electrical degree = 180° / No. of poles |
Tl faegd f3afr = 180 ° / Yot T FEa

D Total electrical degree = 180° x No. of poles |

Tl faegd f3afr = 180 ° x gat sr weam

128 What is the name of the A.C motor starter? |
A.C HICT T&TET T ATH FAT&?

A DOLstarter | DOL Pl [ox
B  Auto transformer starter | ﬂﬁw

C Semi automatic star delta starter | 37T

TgaTford TeR Soel TEIeY
D  Fully automatic star delta starter | q"\Uﬁ'

TIATId TR 2ol T

129 What is the formula to find synchronous
speed of a A.C 3 phase induction motor? | THT 3

ehell YXUT AT I JeTehiTeteh Tt ATcl et T FT
FATE?
A Synchronous speed= = |<_:IDF€IT=FI'1%IT=FTI'%:

P
120F

P

B Synchronousspeed:? |<_:IDF€IT=FI'1%IT=FTI'%:

120P

F

C Synchronous speed = 129 | mﬂﬁ:

PF
120

PF -

D Synchronous speed = 159 | W?ﬁ
_PF

" 120

130 What is the fuse rate to run a 10 HP three
phase induction motor at full load? | q‘;U‘fFffgW 10
THUT TiieT &holl YOT HICT Tellol o eIl T & T
g?

A 10A
B 15A
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C 25A
D 30A

131 What is the name of the contact marked as

X? | 9k T AT T & fo1d X & &9 & g arar

L k L ] OALREAY T X L
5 L |
1T 7= i 2 1 4 @ o b
REE OFF
240 'Y NOOLT OO
o " ;
A Star contact | ¥€RR s
B Delta contact | Seel g9
C Auxiliary contact | HgTI 9
D Overload relay contact | 3R s Rer gus

132 What s the type of A.C motor stator

winding? | A.C FATeX TeeX ATST3dT T TR FAT &2

A  Single layer basket winding | T&3TeT o

STEhe arsfsar

B Double layer basket winding | 3§eT oI aX

STEhe arsfsar
C Involute coil winding | STfee g%?»rang%?T

D Diamond coil winding | msﬂﬂéﬂg‘%ﬁ

133  Which formula is used to calculate
percentage slip of an AC 3 phase induction motor? |

T 3 FHell $5FLUA A hT Tfcrerd erd & Iorer
Tl & T Tohe A o1 3T foham ST 872

Ng—Ny

A x 100

B YN yq00

¢ %M 100
Ny

p YN 100
N.

r

134  Which operation the control circuit is used?

| fazoT gfdhe forg warelsr & 39T R Srar
&?

Lq Lz

1 W,Tq EI.F'

-

i

e

A Remote control | R&AT Hhelel
B Inching | S'%RT
C
D

=

Sequential control | aﬁmﬁmw
Forward and reverse | 33T 3R e

135 What is the phase displacement between

windings in 3 phase motor? | 3 shell Al :ﬁrang%'?T

&+ ST ol [ATATIA FAT & ?
A 90°

B 120°

c 180°

D 360°

136 What is the name of the part marked as X? |

A Shaft | IT%C

B  Brushes | §I9T

C Bearings | TaReg
D Slip rings | oo Rar

137 What is the name of AC coil winding? | AC
PISCT ATSTSIT AT T &ATH &2
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Half coil winding | W;ﬁﬂ'ﬁﬂg@ﬂ
Whole coil winding | qgsmarmg%w
Single layer winding | T&3Tel iR argf3ar
Double layer winding | g3l 9 arsfaaT

o 0O v >

138 What is the name of the coil winding? |

el ATSTSIT I AT FATE?

A Concentric coil winding | e FHisel arsizar
B Distributed coil winding | ﬁaﬁﬁsﬂﬂéﬂg‘%ﬁ
C  Mesh shaped coil winding | STTel 3TTehIX T
%Ea o

D Diamond mesh shaped coil winding | 81X T
STl 3 3T Y el ATSTSaT

139  Which speed is called as synchronous speed
in 3 phase induction motor? | 3 &l JUT AT H
Tt 31Tt BT JorenTToleh aTfcl gl ST 82

A No load speed | Q]FCI'S:I'IT?’T%

B Fullload speed | gﬁ'ﬂ’l’s’ﬁ?

C Rotating magnetic field speed | Wﬁ?ﬁ
oo 1 g g

D Relative speed between stator and rotor |

T IR Ve & ofrer raaT a1t

140 What is the name of the starter symbol? |

TETCT Tciieh T ATH T 872

| O—

A D.O.Lstarter | D.O.L ¥

B  Auto transformer starter | ﬂﬁm
IR

C Automatic star/delta starter | Eﬂlﬁ?ﬂ—“ﬂ'\"/
SecT T

D Semiautomatic star/delta starter | 37T

TaaTfoid TR / 3ol TETe

141 Name the part marked as X of the winding

machine? | aT3f3aT 72T o H19T X T TG 2

Mandrel | @TI?:TEHI'%TF
Wire feed | dIX sl dRT
Wire guides | AT 9SS
Spool carrier | Tl dlgeh

O 60 w >

142 What is the electrical degree of 6 pole stator

of motor? | 6%@?%@%@?%@

&2

A 360°
B 720°
C 1080°
D 1440°

143  Calculate the number of coils per phase per
pair of poles of 3 phase motor having 2 pole, 24

slots, 12 coils? | 2 [, 24 WId, 12 F3ell dTel 3 FHell
AIET & Fell T HEIT Tfct thoT Ufet Iell T SISt
&I ITOTAT 2

A 1
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OO w
w

144 What is the name of the starter symbol? |

T Ydleh T ATH FATE?

A

Star delta starter | T€X Secl e
Rheostatic starter | Y&efeh TeTe
Direct on-line starter | ¥cT&T 3Tl ASeT TEIEX

Autotransformer starter | WFEI&

o 0O w >

145 What is the formula to calculate pitch
factor? | Torer ek shY ITUTEAT sh¥at ol FF T &2
A  Pitch factor = Pole pitch

Winding pitch

B  Pitch factor = Winding pitch
Pole pitch

Number of slots

C Pitch factor =

Number of poles

Number of poles

D Pitch factor =

Number of slots

146 How pole pitch is measured in terms of slots

in AC winding? | GTel ars331 &l TET arsf3ar &7
Tolie & HesT 7 O AT ST 872

A Total electricaldegree

Number of slots
Number of slots

Total electrical degree

C No. of slots in the stator

No. of poles
No. of poles

No. of slots in the stator

147 What is the formula to calculate the mean

circumference of the coil? | aﬁ’w@raﬂwqﬁﬁr

T ATUTGAT el ohT G AT 52
Loye—Li
A Lm= out2 in cm
Lin+L
B Lm — Zin - out cm
2
C Ln= cm
Lout—Lin
2
D Lmw= cm
Lin+Lout

148 What is the synchronous speed of a A.C 3
phase induction motor having 6 poles at a

frequency of 50 Hertz? | 50 Eé\?f@'&l’lﬂ;ﬁftﬂ' 6 2_13’
aTel A.C 3 hell YROT HIeX T JegehlTorsh I 4T
&7

800 rpm | 800 IRUTTH

1000 rpm | 1000 IRUTH

1200 rpm | 1200 IRETH

1440 rpm | 1440 IRGTH

O 606 w >

149 Calculate the percentage slip in a 3 phase
induction motor having 6 poles with a frequency of
50 Hertz rotating with actual speed of 960 rpm? | 3

Shell S3aleT Al H Ufarerd e &y amorer &y,
TSIE# 50 gEoT T TG & AT 6 ¢a 81 8, ST 960

IRATTH T ATEc (e a1l o A TAT 82
A 2%
B 3%
C 4%
D 5%

150 What is the rotor frequency of a 3 phase
squirrel cage induction motor at the time of

starting? | 3 Sholl ohl TEFA<el chof URUT AEX T AT
g g?

A  Equal to supply frequency | muﬁaﬁraqqﬁa?
SRACES

B 3 times less than supply frequency | mﬁ

MR A3 AT RAE

C 3 times more than supply frequency | mﬁ
3TGRT & 3 I[AT TR

D V3times less than supply frequency | 3-1chﬁ
I T A HS V3 AT hA

151 How the voltage is received in the rotor of

induction motor? | $8F2TeT AlCT & U H dlecol
&Y YTed glarg?

A Direct connection from stator | T&eT § IreT
qay

B Due to back emf produced in stator | E¢eI &

3caTied dh STHATE & HIROT
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C Direct connection to rotor from supply | Bﬂ'q:ﬁ

A Ve 7 rerm Jaey

D By the transformer action of stator and rotor |

FEET 3 VST T SABIA HI SaR’T

152 Which method is applied to control the
speed of 3 phase squirrel cage induction motor

from its rotor side? | 379e1 AeX T&T & 3 Fell
FEFa¥er ahot YROT AT Y a1fd &l IR = &
forT sle A fafer g Hr s g2

A Cascade operation | h¥chs FdTell

B Changing applied voltage | 3T alecal
SCA TG

C Changing applied frequency | amﬁ?rmﬁrﬁr
afads

D Changing the number of poles | ?ga’f@rm
sceledl

153  Which loss of 3 phase induction motor is
determined by blocked rotor test? | 3TTeCH YT

TRI&TOT SERT 3 hell UXOT HIET T hisT AT hdTe
fAeaiRa frar smar g

Copper loss | AT T T

Friction loss | EI“?UT(’»T%

Hysteresis loss | %ﬁﬁ?ﬁ'{?gﬁ

Eddy current loss | $7aX &IRT gTfeT

o 0O w >

154 Why pre heating is necessary for motors
before varnishing in rewinding process? | Rarsfsar
wfsrar 7 arfefRier & vger Arey & fow s &ifcer ==
3T g7

A Todry the varnish quickly in winding | aT's%?T
A e 1 ool & gE & for

B To easy flow of varnish in the winding | HB%?T
H arfeter & 31T Yarg & forw

C Toincrease the insulation resistance value |
ST IR Hed Sglal & foT
D Todrive out the moisture in between winding

layers | TST33T 9T & &I T THT T S8
GEICOCACIY

155 Which type of test is conducted using
internal growler in AC motor winding? | THEI HleT

arsf3ar 7 3R AR 71 3TAT a1 by
Weh ST GO&TOT FohdT SATeT &7

A Ground test | A3 eTC

B  Polarity test | %T:IFITW

C Continuity test | faRdr 9dreToT

D Short circuit test | ee afdhe T

156  Which device is used to test startor winding

short and open fault? | Q—?‘Iﬁ?ﬂ'lg%ﬂ%ﬁ%&ﬂ?
3I9eT Biec T IETOT kel o forT Ford 3TROT 1
39T fhaT ST 87

A Tong Tester | TI9T U{I&Teh

B Internal Growler | 3TdR&® AR

C External Growler | STEYT I3
D Digital multimeter | BToice HecIHTR

157 What is the purpose of using thermal cutout
in addition to fuse in A.C motor circuit? | A.C HII

Tféhe 7 TS & eIl YA FHTHTST I 3TN
el T 3EC LT FATE?

A Protect from heavy load | RY $TR & T&T HY
B  Protect against high voltage | mé*a’lm@r
CEICK: Ty

C Allow for continuous over loading | edITdR
3aT ehfSar &y gt g

D Protect against dead short circuit | ad Qe

afdhe & s

158 Which type of motor is used to provide high
starting torque at variable speed? | gRafda aifa

W 3T R TATYUT HeTel el & ToIT fehdy

Y hT AT T ITANT AT SATaT 872

A Universal motor | qﬁa@iﬁw

B Permanent capacitor motor | T HETRT
A

C 3 Phase slip ring induction motor | 3 &Il TeTq
REr 9RoT Al
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D 3 Phase single squirrel cage induction motor |

3 Shell Uehol [EFaTol shol 90T AT

159 What is the relation between torque and slip
in an A.C induction motor? | A.C 82T FleI H

UK [T & drar ar deer g2

A  Slip increases torque decreases | F&eld Sga &
Jorreoteedr &

B Slip increases torque increases | ﬁ—?rcraaﬁﬁ
Joreoiaedr g

C Slip decreases torque increases | F&dq et &
Joreoiaedr §

D Slip decreases torque decreases | T&oIT Teat &
Jorreoteedr g

160 What is effect of A.C induction motor if rotor
bar is in open circuit? | uﬁqﬁaﬁwﬁﬂame’r
ar A.C S3aRIeT ATCT T FIT T gIdT 52

Vibration of shaft | e T T

Motor will not start | W?ﬁﬂﬁ@?ﬁ'

Runs in slow speed | &Y aifd A gerar g

Over heating of motor | Arex & AfaeT g

;ﬂUﬁWZD

161 Which type of wire is used for rewinding of
A.C 3 phase motors? | A.C 3 %ol HIeII o Rarsfser

o foIT fohg Jeh & AR T STNT FohaT STl 82
A Super enamelled copper wire | Qifﬂt'?-ﬂﬁ?s'
IO IR

B PVC covered copper winding wire | 91drdr

C Single cotton covered copper wire | Harer
FUTH AT HII AR

D Double cotton covered copper wire | SsTel

FUITH Ha? died & diX

162 Which material is used as wedges in winding

process? | aré%ﬁqﬁ:mﬁéﬁa%wﬁm
QIHAT T 3TN fohaT STAT 82
A  Empire | TFITY

B Cotton | spUTH
C Bamboo | 1T
D Terylene | cIrelle

163  Which test in winding is essential before
giving supply? | mq\%aﬁﬁ%ﬁas%wﬁaﬁam
I&TOT 3T &2

Ground test | IM38 SEC

Polarity test | GIelRCI ¢&E

Open circuit test | 39 gfdhe eFe

Short circuit test | ee afdhe T

O 06 w >

164 Why the rotor bars are mounted in a slightly
skewed position in 3 phase motor? | JeX ATeThT T

3 hell AT H A3 TS Feufa & =4t W@ smang?
A  Generate maximum flux | 3TT&hds Fogq
3cTeel

B  Reduce the stray losses | z—taﬁrwﬁ

C Maintain the rotor speed constant | TeX I

T TER TTT I

D Produce more uniform rotor field and torque |

31fereh FHTET AT &1 3R TTEOTehT Scuret &l

165 Which loss is determined by no load test of 3
phase induction motor? | 3 &ell S8F2MT AICL & ar

s TFe A i A gifer TR g 82
A Ironloss | EIRIGH

B Copper loss | dTd g1

C  Friction loss | oyt g1fat

D Windage loss | a'l?gaﬁ?r

166 Which method of speed control two variable

speeds only obtained in 3 phase motor? | 3 hell

AT 3 1T T T et T shlet A Tafer aF

Fael ar =X e STed el &7

A By rotor rheostat control | TeX R3MEee
fg=oT garr

B By changing applied frequency | 3TRIT9a
CIEIREEEER

C By changing the applied voltage | 3RO
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dlecol I dGala
D By changing the number of stator poles | &€
¢1aiT hT AT Y SE T

167 Why slip ring induction motor is fitted with
wound rotor? | T&eTT 3T S51eT A &I AT38

U 41 five fomar SIrar g2

A To reduce the slip | T&elT FHe FIAT

B To control the speed | 31T &l fFIAT L o
IGIY

C To reduce the losses | BTfeT T e el o foIT
D To get high starting and running torque | 3T

FeTféar 3R Ielar semguiume & faw

168 What is the function of timer in automatic
star delta starter? | TaTfId T&X Soel TeeT &

TISFR T HIT FATE?

A  Trip atoverload | @R A W KT

B  Switch ON at pre set time | qﬁﬁu‘rﬁam
O T Y

C Change from star to delta | TR & Secl H
dcel

D Switch OFF at pre set time | qﬁﬁr%ﬂﬁ?rw
o e 3T Y

169 Which instrument is used to measure
insulation resistance of a 3 phase induction motor?

| 3 eIl YROT AR oh Seg ol TTRIET Y AT &

fore fore 3ueheoT &1 3uteT fohar SITaT 82

A Megger | IR

B Multimeter | #ecIAHEI

C  Shunt type ohmmeter | %TCE@W
D Series type ohmmeter | Foft ghR 3EAHT

170  Which test in winding is illustrated? | EW%’%?T
A it @1 odgTor AT 82

Polarity test | ?:]DEIFITW
Ground test | I3 SEC
Continuity test | faXar adrator
Short circuit test | eie afdhe exe

O 0O w >

171 What is the starting current of an A.C 3
phase induction motor? | A.C3 WWQHHIEQ

T URTAE HIC FATE?

A 1to2times of full load current | CJ'\U%WUITF
I 1Y 2 3T

B 2 to 3 times of full load current | 13I‘;U‘f AN g
CAPRIEEICH

C 4to5 times of full load current | Cl('\U‘fﬂTIT?IITF
49 5 AT

D 5to 6 times of full load current | ET\USFSJTT?TRT
I 59 6 AT

172  Which method is used to control the speed
of 3 phase induction motor from stator side? |

T 1SS 3 ol SSFAA HICI ohl TTel hl
fafaa e & fore fora faftry a1 suter frar srar
g?

A By cascade operation | WWQHW
B By rotor rheostat control | IeX R3TeeT
faa=oT garr

C By injecting emf in rotor circuit | e afhe &
SUATE Solae Flh

D By changing the applied frequency | 3R
EICIEECTER]

173  What is the speed control method of 3 phase

induction motor? | 3 FelT 9XUT AT &l AT
IGRELRCIBECE kS
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1/eim
Sy

nn
BIRE1 WOTORS :Ig

A  Cascade operation method | $Ths ATl
fafer

B Rotor rheostat control method | TeX R3NEee
forzror fafer

C Changing applied voltage method | IRET
alecsl S efel fafer

D Injecting emf in rotor circuit method | TeX

gfee A & SvaTE Saa=T

174 What are the two functional circuits
incorporated with a three phase motor starter? |

T ol Al TETEI & ATY AT & HIATcAS
gfhe FaTE?

A  Open circuit and short circuit | 39T gfdhe
AR efé afdre

B Closed circuit and open circuit | Follt Afhe
3R 3i9eT e

C  Short circuit and closed circuit | 2T¢ Tfdhe 3R
FolleT e

D Control circuit and power circuit | IGREMNI

gfdhe 3 ara e

175 Which is the main property of leatheroid
paper insulation? | o\ic\{\lés W:—;\r{j’o\wld PTHEY
T[0T hleT AT R?

A Non moisturized material | ?\THVWB?S'
1Y

B  Highly non-hygroscopic | 3cafaes IR-
HERIEAINED

C Very good for class F insulation | Soff T%
oI o forT 9l e &

D Better ageing and dielectric strength | Q%FF\"
TfSteT 3R wRdey T erfee

176  Which type of insulating material is selected
for binding the coils and over hangs? | iﬁ?ﬂ'}ﬁT

3 Ear ey 35 Fore v b T gaeeaT
FTHIT T T AT SATAT8?

Cotton sleeves | H\T—fﬂ%ﬁ?\q

Empire sleeves | TFITIR Tolled
Terylene thread | S¥elleT UTIT

Fibre glass tape | BI8&X IITH ¢T

O 606 w >

177  Which insulation is used for cuffing in AC
winding? | TEY arsf3er H Hither & foarw ivg
SYCIRIET T 3UTNIT FohT ST &2

A  Fibre glass tape | BI8&X IITH ¢TI

B Leatheroid paper | THS &l BTl

C Empire fiber glass tape | TFITIY BISsX TelTH
g

D Fabric based adhesive tape | 93 9T ITUTRA
[ERETCICIRA]

178  What refers coil in AC winding? | T&HT
AT H igel T FIT Fgd 82

A Number of turns connected in series | o H7
IS gATal T Fear

B  Number of turns connected in parallel |
FATTR 3 o geTat B wrr

C  Number of turns under two similar poles | r
AT &l & 3cTeTcT GATAT hT H&T

D Number of turns under two dissimilar poles |

<l 3TEHTST ¢all oh 3icTTel GHATaT hT Hear

179  Which type of AC winding the number of
coil/pole/phase is more than one at different

pitches? | ford YR Fr vaY arsfaar 1 fafdee
it o) el / et / ol &1 FeEaT T U 37 8
A Involute coil winding | yagg%ararsﬁéw

B Diamond coil winding | ?ITF?)EHHI’%’%?T

C Flatloop over lapped winding | ﬁ‘TS’aTE,'%?TqT
FAT T
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D Flat loop non-over lapped winding | qﬁ?c‘{\q

180 Calculate the number of coils /phase/ pole
for a 3 phase double layer distributed winding for a
motor having 36 slots, 36 coils and 4 poles? | 36

Tolled, 36 Hised 3T 4 Ul arel AT & forw 3

mmmﬁaﬁaas%w%%mﬁwﬁ A Provides insulation around field | &% & TRT
HEIT / el / Gl hT ITUTAT 2 3R TGN YeTel il &
A 3 coils /phase/ pole | 3 EI'T\IJ??FT/WT/W B  Provides insulation for coil tapping | i"_s';?»r
B 6 coils / phase/pole | GEI'T\IJ??FT/W/W éﬁﬁTa?ﬁ'Usrg&‘\’ld UGl T §
C 9coils / phase/pole | 9 a|~T\IJ3?»I'/ FelT / 9rel C Helps tightening material for flange | ﬁ-ﬁ?g‘@
D 12 coils/ phase/ pole | 12 EFTET»I’/WT/W AR & ToIT T3l il ol H A FLAT &

D Provides insulation for heat transfer from coil |
181 What is the type of rewinding process? | HSoT T AT TAEATAROT & Tl T S el 2eT TGleT
Rarefar ufrar F1usR FT 2 ;_GT% °

184 Which type of winding wire is used to wind
submersible pump motors? | ﬁmwé:as’%’w

IR & GIATATS 99 Ay T ars i3 Fa & fow
39T T ST 82

A PVC covered type | 9IaIdT Fhal ThX

B Terylene thread type | eJellel IS TR
A Hand winding | 81T & c s lled type | UR TeITHeS TISY

o uper enamelled type [
B Skein winding | TSI arsfser °
o ~ D Double cotton covered type | maﬁw
C  Former winding | BieR arsfgar
o~ Yh

D Machine winding | #2f\sT arST3aT

: : 185 What is the reason of long chord winding is
182  Which type of starter is used to start and run avoided in AC motors? | Uiy et B iy 7S

the 3.phase slip ring induction motor? | 3 tef [TaTT SN %
AT S5FUT AT HI AF et 3R TolTed o T N
2 A Low efficiency | ShdH G&TdTl

e JohIR o TTIEI AT 3TN fohdT SATAT &2
¢ B  Low starting torque | WQFHTE?TE?—ITEI;UT

A Direct on-line starter | TcT&T 37TeT olTSeT T e
? C More winding wire required | WHE%?T
B Rotor rheostat starter | JeX RAEET T

o AR T HTTLIHdT

C Auto transformer starter | m;mqul? L

D Less heat dissipation | aagéma?ﬂwm
eIy a fAaRa sy
D Manual star-delta starter | ﬂ?::TWFEII—ngI
T 186  Which type of winding has more space for

cooling? | AT & foIT fhg whR T arsfZar &
183  What is the function of collar? | TR T 3RF R E?
PRI FATE?
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A Between overhanging coils | W?TEF\I%F
Fara

B Between overhanging coil and rotor |
HERET3TeT gl IR e & &

C Between overhanging coils and yoke |
JTeRGT3TeT Fhigel 3R Ak & &/

D Between overhanging coil and wedge |

T 31eT dhisel IR AT & AT

187 Where the panel boards are used? | ool
SIS gl 39T AT T 82

A Industrial motor drives | 3G AT g5a
B Domestic wiring circuits | WWW
C 3 phase domestic wiring | 3 WTHW\WT
D Load distribution for AC & DC supply | THY 3T
i 3t & forw oirs faawor

188 Determine the torque in newton metres
produced by a 7.5 HP squirrel cage motor rotating

at 1440 rpm? | 1440 rpm X YOI X Ig 7.5 HP
TEerael shot AT GanT A fAd Foret =gee #iex

H AT H?

A  21.63Nm
B 24.4Nm
C 33.05Nm
D 36.6Nm

189  Which type of handle design of rotary switch
is illustrated? | AT TEaa & fohd YR & BoTS

1 g gula R arar g

Knob | G&dT

Lever | 3dlelsh

Coin slot | &k &1 Falle
Key operation | io_cﬂ'ﬂ?«l'lﬂ?-l'

O 0O w >

190 What is the purpose of using rotor resistance
starter to start 3 phase slip ring induction motor? |

3 ol T&eld T S5 AT Y& FTA & foIw Wex
TfeRTEr TETEX T IUTNIT el T 36T FAT &7
A Reduce rotor voltage | JeX ATecol e Y
B  Reduce rotor current | AT T FT HH P
C
D

Increase the torque | aamy‘ra#raa, 1Y
Reduce the power loss | TSoTell ST T T heT

il

191 Which method of speed control is only
applicable for 3 phase slipring induction motor? |

aTfa forz=oT 1 it & fafer haer 3 e T [T
AT S3FAA HIeX & TIT IR &2

A Cascade operation method | FThs TdTel
fafer

B Rotor rheostat speed control | TeX N3
arfa farg=or

C Changing the applied frequency method |
3R 3mgfer fafer &t seerem

D Changing the number of stator poles method |

T Ya fafer & Tear & deore

192 What is the name of the winding? | Eﬂg%?T
HIAH FAT?

A Skew winding | faR&T arsfaar
B Skein winding | ThissT arafaer
C Involute coil winding | aﬁvg%aas%m
D Diamond coil winding | @TI’@EFI’H’E%W

193 What is the name of 3 phase motor winding,
if the coil pitch is less than pole pitch? | 3 el AT

TS f3aT 1 AT FAT Y, T Hsell T arel A= @
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HHE?

Full pitch winding | q\v‘rﬁzrasﬁw
Whole coil winding | CB'@EFTE’IE%?T
Long chorded winding | aa%aﬂ”é‘s'asﬁw
Short chorded winding | %ﬁéaﬁé‘s'as'%’w

O 6 w >

194 Which is the demerit of 3 phase concentric
winding? | 3WW3’I§%?TW3WIUTWW
e?

A More space is required | BT@H?W@
HTERTHAT &

B Astepped former is required | Teh TATE HIFT

T IMTITRAT &
C More difficult to shape the coils uniformly |

FISeH DI THTT T H IFHR ot o forw 3R 3170w
FideT

D Itis not easy to make the end connection | 3Td

AT FATT 3T A8l &

195 What is the name of the diagram used for
3phase motor winding? | 3phase HIeX ArSf3aT &

TorT Igerel 3TRQ 1 AT FATE?

POLEY POLE4

S N e
amem fos) fueef foca) fo
R

Ring diagram | ﬁ?‘l\@fﬂﬂﬂ'@
Development diagram | fa&r T 3@

Coil connection diagram | iﬂ?ﬂm?mm
End connection diagram | 3d AR IIRG

o 0O w >

196 Calculate the phase displacement in terms of
slots for a 3 phase, 36 slots, 12 coils, 4 pole stator

winding? | 3 &dlT, 36 TAIC, 12 PISd, 4 Gl T
arEf3er & oI Tolic & TG H Thell faTTdeT
0T ?

A 3slots | 3FdlC

B 4slots | 4 TTE
C ©6slots | 6 Tl
D 8slots |8 Tdle

197 Which type of AC motor winding having the
number of coil/pole/phase is more than one

arranged in different slots? | EFUIBT»I'/W/ eIl hT
HEIT aTel THY Al A1STST fhd TehX & 37cl9T-
T TAliC H TARAT &Il 87

Basket winding | Teh<l ATafaaT

Concentric winding | Tehigd arsisar
Distributed winding | fadRd asfsar
Concentrated winding | TehTaI QT3S 4T

(=2 o T -~ B

198 Which type of testing of winding is

illustrated? | AT3f39T & fohd TR o IT&TOT T
Farmor R aram &2

F"“TMH

L——— J
s T
TOLINE g -
/F'_,.—f"
" ___________

Polarity test | igaﬂTé'Fcf

Resistance test | IfaRIer g3reqor
Short circuit test | el gfhe exe
Voltage drop test | a’l@sr:gffcrqfrﬁw

o 0o v >

199 Why external resistance is included in the
rotor circuit at starting through 3 phase slipring

induction motor starter? | Terfear AR Afhe 7
ITedY 9faRier &1 3 that [Eeraier gerere Al
TCICI o ATETH | FT AMA fhar =T 82

A  To get high running torque | BWTT?I?TW
g1l & T

B To get high starting torque | 3T URfAS

EE U ETCEEIY

C To reduce the load current | NS T Pl e
ERC KAy

D To getincreased speed at starting | ‘{I}Kaﬂﬁﬁ'
o o A1 a1y et e e
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200 What is the effect of motor, if the rotor
windings in slipring induction motor is open

circuited at starting? | uﬁ%mﬁws?&%m:ma
3 Ve TSR o TRrer 3 T R ST,
HITT T IATT FATRIAT &7

A Will not run | sT&r Te¥3fT

B Runs at slow speed | & T ¥ Teicil &

C Runs at very high speed | agﬁ?lx_ﬂ?lﬁﬁ
T §

D Runs but not able to pull load | BEGIFACIET]
oS Eias 7 HeTH 76l &

201 What happens to a 3 phase induction motor
if one phase fails during running? | I T &ell

Telel oh GRTeT fathel &1 ST & af 3 dhell YROT Al
FTFATEIAT &7

A Motor runs normally | FIeX AT &I H
T &

B  Motor stop instantaneously | H’raag?raa
A

C  Motor runs slowly, finally it burns | FleI &R-
e eI ¥, 3MRATHR el ST &

D  Motor runs with irregular speed | #eX

Iy Tadr

202 What is the effect on 3 phase induction
motor if one phase is cut-off during running with

load? | oIS & TTY TeTel & ERT Teh shell he-3Th
gl T 3 Sholl S5ReT Al U FIT 1T ISdT g ?
A Motor stops at once | e Teh gR H &b SATcT
3

B Motor will run normally | #leX HTHT &9 9
Terafr

C Motor runs with humming noise with slow

speed | ma%ﬂ?ﬁ?r%a?maw MR & |1
Tl g

D Motor will run slow speed but winding will be

burnt out shortly | Fre €T a1fa & Telalt AfereT
AT Y & H AT o Srwahy

203 What is the defect, if starter with single
phasing preventer does not switch ON? | Tehol

helTae THdeT o |1y TEET ATe I8l §lel I T
avg?

A Improper phase sequence | H@HWW
B  Fluctuations in line voltage | Wmﬁ
3dR-deld

C Loose contact in supply lines | HTq‘\ﬁFI'I??HTﬁI'
SrelT §AISTeT

D Wrong terminal connections at motor | #ICY

W ITeTd ATl Aol

204 What is the defect in AC 3 phase induction
motor runs at low speed if loaded? | oIS &l G

THT 3 ol SaRIA HleX H & 31T W Tolal H a1y
FATE?

A Wrong motor connection | 9Teld Al Folard
B  Wrong starter connection | eI T
Fholer2leT

C Open circuit in rotor winding | Was%wﬁr
ell Hiche

D Partially shorted stator winding | @ETEIE%?T
H RIS T F TLIYA

205 Which fault condition thermal overload relay

protects A.C induction motor? | isT &Y 1Y fEufa
F gl AR Ner A.C IO A ¥ T&T HIAT &7
Short circuit | Q¢ Tfehe

Open circuit | @QHTQﬁ'q?I

C Over current | 3faeRT

D Under voltage | & dlecal

(o]

206 What happens to the rotor of a 3 phase
induction motor if its speed attains to synchronous

speed? | IfE 3 FHaT STFAA Al I AT
JeaahTiersh T Y T T ofcll 8, oY e ohT T
BT g?

A Rotor speed reduces | e T ITft Fa &I SATAT
3
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B Rotor speed increases | X Frafaag ST e
C Rotor speed remains same | TeX T 1 FATT
WEAE
D Rotor bars get damaged | X IR &fdIed &
ST &

207 What is the effect of open circuit in rotor of

an induction motor? | WQHWQFWﬁ@
afehe ST THTEG AT &2

A Motor does not start | W%ﬁﬂﬁ@?ﬁ%

B Over heating in motor | AT H 3aX gifear
C  Excess vibration of shaft | Qe T AT
FqeT

D Motor runs with very low speed | ?FﬂETE@?T
H IS Y TAN &

208 What is the reason for frequent blowing of
fuse after motor running some time? | HICX a?i@

HHY Tl & F1G YT & ol9NAR 35e1 ohl T
FROT &7

A Improper earthing | Hﬂﬁlﬁﬁﬁ

B Over loading of motor | HIEX &I 3iTaX olifser
C Heavy voltage fluctuation | HRY dlecol 3dR-
deld

D Poor insulation in winding | ang%mfrw

SR

209 What happens to a 3 phase induction motor,
if one phase fails during starting? | 3 FelT 90T HlEI
T T GIcTT §, IR Ueh el Y Bled oh GRTeT Tahel
grafrareg?

A Motor runs and stop immediately | #eI Teldl
PR AT AR

B Motor runs in slow speed continuously | #eI
AR A 7S FH T g

C  Motor runs and draws more current | HIEY

Tordr & 3 3w e diadr

D Motor continues to run with irregular speed |

AT AT gad ©hTE

210 Which is the cause for the 3 phase motor
starter with single phase preventer trips frequently?

| 3 ol Al TSI T FAITeT ot e & AT aR-
IR T 1 HROT it ATE?

A Incorrect fuse ratings | WW@W

B  Unbalanced line voltage | mﬂﬁlﬁﬂ'@
dlecst

C Incorrect settings of OLR | OLR &I 3Tl afar
D Improper phase sequence | H@HWW

211 What indication denotes the shorted coil
defect in 3 phase motor stator winding while testing
with internal growler by keeping hacksaw blade? | 3

el AT T ATSTSIT 7 TARP AR IIIEToT
L GHY §ohdl sols TG oTITAd Hsell Al
FT Y& 1T T 82

A Hacksaw blade gets over heated | Hacksaw
SIS A B ST

B  Rapid vibration of hacksaw blade | RETIECES
T il U e

C Hacksaw blade repels against the slots | %ﬂf
SIS Talled & [QTH repels

D Attracted by the winding turns on the slot |

Felle X arsfEar gATa @ JrHa

Answers :

125-A | 126-A|127-D | 128-B | 129-A | 130
-C|132-A|133-A|134-B|135-B | 137-B

| 138-D | 139-C | 140-B | 142-C | 143-D | 144
-A|145-B | 146-C| 147-B | 148-B | 149-C

| 150-A | 151-D | 152-A | 153-A | 154-D

| 155-D | 156 -B | 157-C | 158-C | 159 - B | 160
-D|161-A|162-C|163-B|164-D | 165-A

| 166-D | 167-D | 168-C| 169-A | 170-A | 171
-D|172-D|173-A|174-D | 175-D | 176 - C

| 177-D | 178-A | 179-D | 180-A | 181-A

| 182-B | 183-A| 184-A | 185-C | 186-C | 187
-C|188-D | 189-C|190-C|191-B | 192-A

| 193-D | 194-B | 195-A | 196-C | 197 -C | 198
-B|199-B|200-A|201-C|202-D | 204-D

| 205-C|206-D|207-D | 208-D | 209 - A

| 210-C | 211-B |
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212  What is the working principle of single phase
induction motor? | Tehel TXOT YRUT HIeX HT HT

foearaFare?

A LenZ's law | ofeof T T

B Joule’s law | ag»rwﬁw

C Faraday’s laws of electrolysis | ﬁm?a:ﬁaga
3vues & faaH

D Faraday’s laws of electromagnetic induction |

TS o faegd grehrg WRoT & g

213  What is the name of single phase motor? |

THITeT Tl AT T AT ATH &7

L

i

A Permanent capacitor motor | TP TR
HIeX

B Induction start capacitor run motor | 33&"?]?
FTC HUTAST T AlY

C Capacitor start capacitor run motor | Fuffex
FTC HUTAST T AlY

D Capacitor start induction run motor | FUffex

TTIC S5 T Al

214 What is the working principle of split phase

motor? | TN TUT AT & 1Y fAcHid #ar §?
A LenZs law | ool &7 ATH

B Joule’slaw | Glc\TvI'EFI'ﬁ'EIW

C Faraday’s laws of electrolysis | ﬁm?a:%aga
g & fAIH

D Faraday’s laws of electromagnetic induction |

TS o faega gFehrg WRoT & fags

215 Faraday’s laws of electromagnetic induction

| BT & Tae g Yraehial 90T o foras

L e L,

0 pF, 40V
o A\
. 3
c () e
o 9
a

A Universal motor | H‘ﬁaﬁﬁw

B Permanent capacitor motor | TATIT TUTRT
HIeX

C Capacitor start induction run motor | Fufdex
TTE S5 I AT

D Capacitor start capacitor run motor | Fuffex

T FUffe T Aex

216  Which type of A.C single phase motor is
classified under commutator motor type? | T &I

THaTer that AT Tl Jeh &l hageed Ale T
o g d qifiepet fonar ST 82

A Stepper motor | TEUT HEX

B Repulsion motor | Ifaeryur Alex

C Shaded pole motor | 3T<BTEd 9rel HEI

D Permanent capacitor motor | T TR
A

217 Which method is adopted to start the single
phase induction motor? | f&3Te T §5arI HIEY
Y& e o ToIT shiet & Fafer 39aTTe Sirel 82

A Split phase method | %ot fq3TeTsT I fafer

B  Varying supply voltage method | Qﬁaﬁm‘ﬁ
drecst fafer

C Reversal of input supply terminals | ERh e
3Yfct efdeTell &1 3eer

D Reversal of running coil connection | If3T

g;hsé‘l SholdFRTeT T 3olcT hiall

218 What is the type of A.C single phase motor?
| A.C F3TeT St HYe T ThR FAT &2
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A Permanent capacitor motor | TR FUTRT
A

B Capacitor start capacitor run motor | EOIRErRy
¢ FUfFR T Al

C Induction start induction run motor | SSTT
TTE ST I Al

D Capacitor start induction run motor | Fuffex

TTIC SSFAA T Al

219 What is the purpose of the capacitor (C) in
centrifugal switch speed control method of

universal motor? | ATAHAS HreT & 3M9ehey oo
arfa ferz=or fafer & |enfa (C) 1 3ege T Farg?
c

Ly

No
A Maintain constant speed | fAaR a1fa saTT

X G|

B Improve the power factor | WWTJ-&I@EHT
C Protect from the over loading | 3TaX A3 &
Coy

D Reduce the sparks on the contacts | 9t |
TATh HH Y

220 Which type of winding wire is used for
rewinding submersible pumps? | HaATEder Uul i
1SS otet & fIT fohd YehR & ATS IS eT AN &l
39T FhT STAT B2

A PVC covered copper wire | STaIIT fhal did &
dl

B Super enamelled copper wire | WW

IO AT
C Single cotton covered copper wire | Harer

hicsT ha¥ HIUT RN
D Double cotton covered copper wire | Sdel

FUTH Hha did & dR

221  Which type of AC single phase motor having
low starting torque? | fohd TR & THT FH3TeT Tt

HICY H & TIfEI Tl BT 67

A Induction start induction run motor | 33&"?13’
TTE S5 I Al

B  Capacitor start induction run motor | FUfTeT
TTE ST I Al

C Capacitor start capacitor run motor | FUfTeT
F2IE FUFFR T Al

D Resistance start induction run motor | SITSELAS

TTTE 33FAA T Al

222 What is the function of centrifugal switch in
single phase motors? | Uehol TROT HICH H 3TTheT
faa s Fd FaTE?

A  Maintain constant speed | IGEGIEIGECILY
Eec]

B Break the starting winding | 3TRf&e arsfaar
& faaafad e

C Break the running winding | IfieT argf3ar &1
[EGRIERERCH)

D Protect the motor from over loading | FEI &l
3aX Afger & Farw

223  Which is the application of universal motor?
| FTTHER HYCT T ST et 1 52

A Jet pump | ST gqq

B Food mixer | 8i<teT fATFER

C Teleprinter | &ellfoex

D Compressor | HIT

224  Which single phase motor is fitted with
wound rotor? | aT38 WX & TTY hisT TY Tehed Shell

AT e &2
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A Repulsion motor | IfehYOT HIeX

B Shaded pole motor | TTaTiGd el #AleX

C  Permanent capacitor motor | T FLTRT
Ared

D Capacitor start capacitor run motor | YIRS

R TR o Aed

225 What is the relation between running
winding and starting winding of a single phase
induction motor with respect to resistance? |

TR & T H Uehel IROT $5F2UA Al I IAdT

a3 3R e asfRa & S Far gau §?
A  Both resistances will be equal | GI=il STaRIeT
SIS ghar

B Running winding is less, starting winding more
e T o &, T ﬁ

C Running winding is more, starting winding less
R o R s -

D Running winding is less, starting winding

infinity | TS a3 &, Terféar arefEer 3

226 What is the function of the part marked as x

in shaded pole motor? | 3TTBTEd 9rel ATCI H x b
&Y FH RAITEAT H19T T FIT FATE?

Increase the efficiency | G&TdT SGTT
Maintain constant speed | fAaR a1fa samT

aw:b

C Initiate the rotor movement | e 'cEI,Tﬂ_d %BT

3

D Strengthen the magnetic field | gaﬁwa%—ara#r
FoTge Y

227 How the direction of rotation of a capacitor
start induction run motor is reversed? | $huf&ex

TTE ST ToT AleT o AL T e Fa 3ol
ST 87

A By changing the supply terminals | 3-1T':|‘\ﬁ
il T TEea

B By changing the capacitor connections |
HUTRA FAFAAT T TGl

C By interchanging main winding terminals |
T TSR ool Y 3T o et e

D By interchanging both main and auxiliary
winding terminals | E\’IFﬁd:l)&q IR e 313%'«”
THTel 1 SexTot ek

228 Which single phase motor tapped field speed
control method is employed? | for& TeheT Thell T

HeX & T fres TS et AT FRRT &2

A Universal motor | Hﬁaﬁﬂm

B Shaded pole motor | 3TTBTGd drel A

C Capacitor start induction run motor | Fuffex
TTE S5 I Al

D Capacitor start capacitor run motor | FUfTeT

T FUffe T A

229 Which type of single phase induction motor
is used in food mixer? | @E}Imﬁﬁ?ﬂw
T Tehel TROT YOT HICT T 3TN fohdT ST 872
Universal motor | a‘jﬁaﬁ?‘fmﬂ

Repulsion motor | IfaeryoT A

C Shaded pole motor | 3T<BTEd 9rel HEI

D Permanent capacitor motor | T TR
HleX

(o]

230 What is the angular displacement between
starting and running winding of a single phase

induction motor? | Tehol TRUT UROT AIEX T TeTfear
3R TR arEfEer & S Hrofir faeargeT Far g2

A 45 electrical degree | 45 Sollargehel T84T

B 60 electrical degree | 60 Seifdgeher 33T

C 90 electrical degree | 90 Seifargehel T3fT

D 120 electrical degree | 120 Selfgahol 33T
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231 Why the hysteresis motor is suitable for
sound recording instruments? | eafar Repifsar

30Tt & foIv fRed Rl Ae 3ugera i &2
Small in size | 3T & BT

High efficiency | 3= q&TdT

Noiseless operation | QT TdTelel

Less error operation | amgr%m?r

O 6 w >

232  Which motor is preferred for domestic water

pumps? | WWW*%@W@WW
Fr AT 8?

A Universal Motor | uﬁaﬁam

B Repulsion motor | ¥fciehyuT Hlex

C Shaded pole motor | 3TTBTG drel HIE

D Capacitor start motor | TETRT TR A

233  Which type of motor has relatively small
starting torque? | WW@'FﬂﬂﬁSﬁ&Tﬁﬁ
H CTieh gIaT 87

A Universal motor | aﬁaﬁﬂw

B  Capacitor start capacitor run motor | Fuffex
¢ FUfFeX WA

C Capacitor start induction run motor | Haf&ex
TTE SSFT I Al

D Resistance start induction run motor | EIGEL
YE ST Tof HIeY

234 What is the function of centrifugal switch in

split phase motor? | TATAIC Fell AICI H 3TTehel
Rag w1 Fare?

A Protects from over current | 377t €IRT & SATAT
3

B  Maintains constant speed | foReR 1t =TT
@ATE

C Protect the motor from over loading | eI &I
3o AfSer & s

D Make and break the starting winding from

supply | mq\f?rﬁ%gaﬁﬁag%wwaﬂvﬁ?

235 How to produce starting torque in a shaded
pole fan motor? | Teh TSI d Urel 9@T AleY H
T2 ETeh T ScUTesT Hhdl Hi?

A Using rings on poles | @WWWW
CRGI

B  Using capacitor on winding circuits | HHTAAX

afehe R G &7 39197 ikel?

C Interchanging cage rotor windings by switch |
< GaRT 3o WX AT i el

D Interchanging the field coil windings by switch

| aT ganT hies Higel aTSTSIT I STl AT

236 What is the reason to use a permanent
capacitor in fan motor circuit? | @ AreX Fihe &

Teh TURIT GETRA T 3TN el T HROTFIT 52
A  Speed regulation | 31fd &

B Lower power consumption | EECIEIET:]
Yqd

C Splitting of phase for torque | T o foIT shell
1 TaHTSTT

D  Controlling electrical interference | faegd

=afaeor i FafRa s

237  Which motor is having half coil winding? |

Pl A AT 1 3TN S5 SRR RN L
A Mixer | FAFEX

B Grinder | IMSST

C Ceiling fan | & &7 9@T

D Washing machine | CIREENICH

238 Why running winding is placed in the bottom

of the core? | IAIT ATSTT R o To¥<rer HIIT H FAT
@Y ST 82

A  To get low resistance | FA I g1 & fow
B To get low inductance | & YOT 9Tt & Tl T

C To get high resistance | 3T YTaRIer YTed et
& fau

D To get high inductance | 3T 90T YTCd &hial
& faT
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239 Calculate the slot distance for a ceiling fan
having 28 slots, 14 poles, 14 coils in half coil

connection? | 3-1T‘€Tft;vs<>1 SholerleT H 28 {-oiTc‘:{-l, 14
¢1d, 14 FIgel aTel HTHT %l o foT Felie & gdr &hr
ITOTAT Y?

A 90°

B 120°
C 180°
D 240°

240 What is the application of shaded pole
motor? | mtﬂﬁmﬂﬂww%?
A Hairdryer | ?IITQ'F’:IT

B Ceiling fan | 9@

C  Wet grinder | 3eT IS

D Washing machine | arfever #efeT

241 Which type of single phase motor is used for
hard disk drives? | &8T5 3% 3159 & foT [FH YR

1 RaTer ot AeX &1 39T AT STaT 82
A  Stepper motor | TEUT AEX

B Repulsion motor | IfaenyuT Hex

C Hysteresis motor | g€ RAT Aex

D Reluctance motor | Rl Al

242 What is the function of centrifugal switch
used in capacitor start, capacitor run induction

motor? | AR TeTe, FIfAR T g5 Al
H SEATS Blot ATl UETFIFTe TEarl ol T 1 82
A Disconnect the running winding after reached
75% to 80% speed | 75% & 80% ﬁaﬁ?ra%qga;‘r
& TG e AT (39T ! f3Fhelare Y

B Disconnect the starting winding after reached
75% to 80% speed | 75% & 80% @rmﬁraa:q'gﬂﬁr
o STE; 3Tl aTS 39T Y fSEheiere Y

C Disconnect the starting capacitor after reached
75% to 80% speed | 75% & 80% @rmﬁraa:q'gﬂﬁr
o dTe; B3N HETRT 1 f3Thaiere Y

D Disconnect the starting and running winding
after reached 75% to 80% speed | 75% & 80% I
I T Tt o STG; 2[® 3R AT TS TS 1
Brpade HY

243  Which type of single phase motor is having
very high starting torque than any other type of

single phase motor? | T JerR ot & eTeT that
AT T Tohdll 31 T hT T aTeT thal HIe Hr
el # Sgd e Ferféar eféh g

A Universal motor | H‘ﬁaﬁﬂw

B Reluctance motor | Rerecd Alex

C Repulsion start induction run motor | EIGEA LI
HIET 90T TeT Al

D Capacitor start induction run motor | FUfTeT
FTE 0T T A

244 Where the capacitor is connected in a single
phase permanent capacitor motor? | GETRA &r

Tehel Shell TR GETRA A 7 gl SAIST ATl 67
A In series with starting winding | P 1) EE%?T

3 T sfen 3
B Inseries with running winding | Tﬁl?Ta'Ig%?T
35 Ter sfen 3

C In parallel with starting winding | TeTfeaT
arSfSar & AT FATATIR H

D In parallel with running winding | IHTATAR &
Theter A fEar & @y

245  Which motor is used in table fan? | &l 9
# fore AR &1 3TANT R ST 2

A Universal motor | ?{ﬁaﬁ?‘fﬂﬁa

B Shaded pole motor | 3TTaTIGd Uil HAleX

C  Eddy current motor | Ha¥ &RT A

D Permanent capacitor motor | TIRY FUTRA
A

246 What is the effect, if coil group connection is
wrongly connected in a single phase motor

rewinding? | WWWW&GE%?TU#W
HHE Peerle el Ieh T STST I, Y 71
JHIT &?

A Motor runs slowly | #IeT R-¢fR Terdl &

B  Motor will not run | AT AT T3
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C  Motor runs in very high speed | HIcY Elg?féx_ﬂ'
AT HTelc &
D Motor runs and takes more current at no load

| AT TordT & 3R foam ol oits W 317 ey
adrg

247 What is the effect in a repulsion motor, if the
magnetic axis shifted to another side? | CIGEA I

AT H T T g1l 8, IS Jehrar 3787 g@
T EATATART &1 ST 872
¥

A Direction of rotation will change | /¢ &1
ferer sger STTely
B Direction of rotation remains same | J¢2TeT Sl

A AT /A&

C Motor speed increases from rated speed |

A A afa s afaaTg ST g

D Motor speed will reduce from rated speed |

AreX FT 17 1T 31T J A g1 AT

248 What is the effect if the centrifugal switch is
not disconnected after the motor starts? | HAICY A&

BIel & 91 39hal [&ad al [3Eehetare AT TohaT
SITAT & Y 3T 9T 95T 7

A Motor will run normally | #IEI THGCT &7 H
ol

B  Motor will stop immediately | W@WEE?T
L))

C Starting winding will burn out | mﬁwas%w
STel STl

D Motor will run very slow speed | :m'aag?r
oY a1ty | <relal

249 How the direction of rotation of repulsion

motors is to be reversed? | gfasyor Aed &

Qe ereT T fERIT Y HA el Hal g2

A By shifting the brush-axis | ST2T-376T T
EUTATART Sleh

B By interchanging the supply terminals | 3-1'I'C|t\ﬁ
AT Y 3T H d5 e i

C By changing the main winding terminals | qET
GHATGER EfHaTell T Seeleht

D By changing the compensating winding

terminals | HFTATEIT ATS ST fHTAT T TP

250 Why a capacitor is connected across
centrifugal switch in the centrifugal switch speed

control method? | T Teh TUTRT 3{chal [&ad
aTfer forefaroT fafer o aroehey e & Jergam 2

A To maintain constant speed | faRa¥ 31fd SIT0
@A & fav

B To protect from over loading | 3aT ST &
§dTel & forw

C Toimprove the power factor | GTaX thared &1
IER Fellel & forw

D To reduce the sparks in contacts | deh! &
T & e & ToIT

251 What is the effect, if some slots in a split
phase motor left out without winding after

completion of concentric winding? | TTd FT g
¢, IS Ghiga arsfEer & qu glet o are; Revere ot
A H Fo Felle AT afEad g v g?

A Works normally | THT &9 H FHIH T &
B Reduction in speed | 3Ifcr & T

C Reduction in torque | T H ey

D Runs with very high speed | a’gﬁéﬁ”ﬁﬁ
alsare

252 How the radio interference can be
suppressed in centrifugal switch method of speed

control of universal motor? | araifAs AeTfHr
1T TIT=0T o 319ehd [Ea fafer a4 isar
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TITIhOT T hdl GATAT SIT HhdT 52
A By connecting capacitor across centrifugal

switch | WW%WWWW

B By connecting capacitor in series with

centrifugal switch | 3T9eher f&a o AT AofT 7
FUTRA I SAZ

C By adding compensating winding with
armature | HFTHTEIT ATSTSITRI JTHT & AT
CIECTY

D By connecting an inductor in series with

centrifugal switch | 3T9ehar T&ad o AT A0 & TH

S3Fe Pl SAITHT

Answers :

212-A|213-A|214-A|215-D | 216-B | 217 -
A|218-D|219-D|220-A|221-D | 222-B

| 223-B|224-A|225-B | 226-C| 227-C | 228
-A|229-A|230-C|231-C|232-D|233-D

| 234-D | 235-A|236-C|237-C|238-D | 239
-A|240-A|241-A|242-C|243-A|244-A

| 245-D | 246-B | 247-A | 248-C | 249-A | 250
-D|251-A|252-A
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253  Which formula is used to calculate
EMF/phase in a ideal alternator? | Teh 3TE2T

3TeeTe H EMF / thal T ITUTAT et o forw fohar
T T 3TN Teh T STl 82

_ QFT
T 222
_ QFT

T 444
E=2.224FT
E=4.44 4 FT

o6 w r

254  Which rule is used to find the direction of

induced emf in an alternator? | 3Tecdaiel & IRA
SUATE FI e Wt & forw v Ager &1
39T fRar Srar g2

A Corkscrew rule | ﬁ@jﬁm

B Right hand palm rule | &TfgsT T ST gl T
oA

C  Fleming’s left hand rule | FeIfH3T & STT &I T
oA

D  Fleming’s right hand rule | FITR3T & IfgeT
BY I T TH

255  What is the name of the part of alternator? |

3eeIACT o HT3T T ATH FAT 7

A  Stator | T¢eX

B  Exciter | 3dsieh

C Salient pole rotor | ﬁ@%ﬂﬂa

D Smooth cylindrical rotor | IEEGIEGGICTE
X

256 What is the formula to calculate emf

equation of an alternator? | 3TeeIsiex a?érll"ﬂ"l"q;

HHYROT T IOTAT et ol FF FAT &2
A E=4.44KdKcTpm
B E=2.22KdKcFpm

C E=4.44KdKcFT¢m
D E=1.11KdKcF ¢m

257 How alternators are rated? | 3Teedsicy &l
& ¢S frar Srarg?
KVA | ShdiT
B Kw | [arare
C MW | #Imare
D Kv|&dr

258 Which formula is used to calculate the
percentage voltage regulation in alternator? |

3Teedael H gfaerd diee st f[afaasst $r arorar
el o ToTT Tl T o1 ST FohaT STl &7

A VrL=VNL x 100
VFL

YNL—=VFL x 100
VFL

B
C Mxloo
D

VNL

VrL=VNL x 100
VNL

259 What is the supply frequency of an
alternator having 6 poles runs at 1000 rpm? | 1000

3RUITH X 6 ¢Jal aTel Teh eIl 3MYfel

gy & g?
A 25Hz
B 40H:z
C 50Hz
D 60Hz

260 Calculate the speed of an alternator having 2
poles at a frequency of 50 Hz? | 50 &3l T 3T fer

TR 2 ¢l dTel Teh 3eeTAet ol ITfd hr IT0TAT HY?
A 1500 rpm
B 2500 rpm
C 3000rpm
D 6000 rpm

261 What condition the lamps become dark in
dark lamp method of parallel operation of two

alternators? | &Y 3Tee{alex] & JHTATIR TATeleT &
st o fafer & ol frg Rl A g sma g2

A Terminal voltages are equal | i areesT
CRCEad
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B Voltage and frequency are equal | grecat 3R
g SRR &

C Voltage and power rating are equal | decat
3R grar T T R

D Frequency are same in both alternator | el

3ecTACT H JTRT FHT el &

262 How to compensate de-magnetizing effect
due to armature reaction in an alternator? |

Heclaled H 3R g fshar & HRoT -
HIACTSISTIT THTT T HIITS hdl i?

A Reducing the speed of alternator | 3Tee3sieX
T I T HH AT

B Reducing field excitation current | Bres
SASTeAT &R T e el

C Increasing field excitation current | BIes
Flofell URT # gefer

D Increasing the speed of alternator | 3Tec{aieY
T a1 Serer

263 What is the use of synchroscope? |
FARIEepTT &1 39T FT §?

A Adjust the output voltage | Wmﬁ
AN

B  Adjust the phase sequence | ﬁ'ﬁf&lﬂoﬂ
AN

C  Adjust the supply frequency | Hmﬁmﬁ
AN

D Indicate the correct instant for paralleling |

AT & ToIT &Y T Tohel &

264 What is the name of the equipment that
provides D.C to the rotor of alternator? | 3TeciaieX

& AT T D.C YEToT et aTel 3UHIUN T ATH FAT

A  Exciter | 3daTh

B Inverter | =d¢X

C Converter | FeTdcT

D  Synchroniser | TPIASRX

265 What is the purpose of damper winding in
alternator? | Wﬁ%a@%ﬁwmﬁw
FATE?

A Reduces the copper loss | m*wﬁﬁ
FHBATE

B  Reduces windage losses | an:oraﬁraﬁrw
RRATE

C Reduces the hunting effect | §f¢aT & YT 1
FHBATE

D Improves the voltage regulation | @lecal

fafogas A gurR Farg

266  Which condition is to be satisfied before
parallel operation of alternators? | 3Tee{sie &

FATATR HaTelel O g fohdt [&ufey sy degse femar
SATEATR?

A Rating must be same | XT3 AT gt AT
B  Phase sequence must be same | WW
THTT greAT AeT

C Rotor impedance must be same | JeX giaaTar
AT glail AT

D Stator impedance must be same | T

SEdET T Qe ART

267 What is the speed of an alternator
connected with a supply frequency of 50 Hz at rated

voltage having 4 poles? | 4 9Tl dTel ¥¢3 dlecol WX
50 §EoT T Tl TR & TTY 3 Teh JocTeie]
FrafaFarg?

A 1000 rpm
B 1500 rpm
C 3000rpm
D 4500 rpm

268 What condition the two lamps become
bright and one lamp dark during paralleling of two

alternators? | &I 3Tee{eiexl & AT RGEIALNG
al ol fohd gTeTel & STefd & 3R Toh ol 37 ST 82
A Terminal voltages are equal | i dreesT
T E

B Voltages and frequencies are equal | dlecal
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3R e sRreR &

C Voltages and phase sequence are equal |
oot 3R ol JeTshd RIS &

D Both the alternators receive same frequency |
aleT 3eeeTed HATH TR IToe il &

269 What causes the terminal voltage of an
alternator reduces, if the load increases? | gfe IR

FoaT &, A ocTaeY T CTHeTol diccol hH &l SITdl
g?

A Field resistance | 81 9faRrer

B Armature reaction | 3R gfafshar

C Inductive reactance | 93 9fcfshaT

D Armature resistance | 3R gfaer

270 What is the purpose of using damper
winding in AC generator? | AC AT H 37X

ITSTSIT ShT IUANT el T 3652 FAT 52

A  Prevents heating | éﬁﬁwaﬁrﬂm%"

B  Reduces copper loss | aﬁ%waﬁrm
AT

C  Reduces windage loss | Wﬁwm%
D Prevents the hunting effect | f¢aT & 3T &1
AT &

271  What is the type of alternator? | 3Tee<aie
HT IhR FAT &7

A Brushless alternator | &'QTT%HW

B Three phase alternator | AT thet 3Teciaex
C
D

Single phase alternator | Tehel thal 3eeeiey
Salient pole type alternator | @ﬁ'ﬂ?%’dw
e}

272  Calculate the speedinr.p.s of the 2 pole,
50Hz alternator? | 2 9Tel, 50Hz 3Tec{aAeT & r.p.s H

3TTeY T ITOTAT Y ?
A 50rps

B 100 rps

C 1500rps

D 3000 rps

273  What is the advantage of using rotating field

type alternator? | mewaﬂ
YT et ST FAT BIICGT &2
A  Easy to locate the faults in the field | SER=EAL]

T IAT ST 7T &
B  Easyto connect the load with alternator |

3TecTaAcT & 9T NS l Sholde Hlall T &

C Easy to dissipate the heat during running |
aisa o GRTeT ITHT I et T

D Two slip rings only required irrespective of No.

of phases | &I T&erq 31T Fr 3TaeTehar T g, AR
Uil ShT HEAT fohcTair oft g

274 What is the effect in increasing the field
excitation current in alternator? | 3Tee{alel &
HIeS JaoTell UTRT T TG+ § FAT JHTT ISl 72
A  Prevents demagnetizing | el I AhdT g
B Over voltage protection | 3178 aleedr &
HEToT

C  Dead short circuit protection | Qe Tfthe
HETT

D Alternator will be over loaded | 3Tee{aieT
3T S gram

275 Calculate the pitch factor (KP) for a winding
having 36 stator slots 4 pole with angle (a) is 30° in

alternator? | 3TeelaieX H 30 ° 0T (o) & AU 36
T FAIC 4 U ATl GHATAGR o ToIT ey therex

(KP) T IT0TaT &Y ?
A 0942
B 0.965
C 0978
D 0985
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276  What is the cause for hunting effect in
alternators? | 3Tecieiex H &TEdT oh YHTF T HRUT
FATE?

A Due to over load | 31f8& R & SHROT

B Running without load | ST s F IT @&
C  Running with fluctuation of speed | IITd &
3AR-TGId & Ty I @I

D Due to continuous fluctuation in load | CIEL:]

AR AT & FHRUT

277 Calculate the voltage regulation in
percentage if the load is removed from an
alternator, the voltage rises from 480V to 660V? |

I7E U oelaleX W dls geT fgar Ardar g, ar

aleesT 480V ¥ 660V deh 96 SITdT g, dieesT
afeasds gfaerd & s fifsae

A 0272

B 0.325

C 0.375

D 0385

Answers :

|253-D | 254-D | 255-C | 256 -C | 257 - A | 258
-B|259-C|260-C|261-B|262-C|263-D

| 264-A|265-C| 266-B | 267-B | 268-B | 269
-D|270-D | 271-A|272-A|273-D | 274-A
| 275-B | 276-D | 277-C |
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278 What is the name of the converter? | Feded

FTATH FATE?
[

APHASE e e =

AL
VARIEE
oc
VOLTAGE

FOweR S l

3]

Metal rectifier | ?IIT::T%WI'&

Rotary converter | Jedl aTaex

Mercury arc rectifier | FIET 37Teh feSehRY
Silicon controlled rectifier | GEGEIGRGERIES]
feseshily

O 606 w >

279 What is the name of the converter? | Feded
HTATH FAT8?

Metal rectifier | %TI?:E%WI'&

Rotary converter | Je3T FheTdac

Mercury arc rectifier | FIET 37Teh TSI
Motor-Generator set | FleI-olelRe T

O 0O w >

280 Why D.C supply is necessary for synchronous

motor operation? | AP AT TR & forw
D.C 3Mqfet T 31TaRash g2

A Reduce the losses | mﬁa’raﬁrwaﬁ

B  Start the motorinitially | %Kﬁmﬁéaﬁ
C  Run the motor with over load | AT &I 3T
'S & |y Tl

D  Runthe motor at synchronous speed | HIET &I
Jegehlioleh a1fd & Telld

281  Which acts as both inverter and converter? |
S Srac 3R FIac GlAT o T H 1Y AT g2
A Metal rectifier | Qﬂgw

B  Mercury arc rectifier | FAIY 37T fesehRY

C Semi conductor diode | 3T SIS

D Synchronous converter | (;I(*qulr(\ﬂqw FeTdel

282 What is the function of inverter? | S?déTEFT
T FATE?

A Convert A.CtoD.C | A.CI D.C H ScolalT

B Convert D.Cto A.C | D.C 3T A.C H S&olal

C Smoothening A.C sine wave | A.C Q:IBHH@TE#I'
EHY HIAT

D Convert pulsating DC into pure D.C | Pulsating
DC % Q&I D.C H Feel

283  Which converting device can be over

loaded? | iaT AT IREH 3T 3R s fomar
ST HHAT 872

Rectifier unit | ﬁ:wrfrqj%ﬁr

Rotary converter | eI paasy

C Motor generator set | e STeliel TC

D  Mercury arc rectifier | FIHLT 3Teh fESThRT

(v~]

284 Why exciter is essential to run a synchronous
motor? | R HeT & Tl & ToIT 3aioteh FAT
TR g2

A Carry more load in motor | #eX & 31f& #AX
o S

B Improve the power factor | WWTJET@W
C Reduce the losses in motor | eI H gleY aTel
T ETe ol A Y

D  Runthe motor at synchronous speed | HIeI &l
Jegehliolesh aTfd & ey

285  Which application requires only DC? | g
TRl &1 Shdel SIET Sl JTaRThdT 872

A  Electroplating | fa’c[g?r@rcra

B  Stepping up of voltage | dlecol SIGT=T

C Operating induction motor | gg&"‘\’l?f'ﬂ)fa
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UdTele
D Operating repulsion motor | gfaeyoT Al
YdTele

286 Why the LED’s are avoided as converters in

rectifier diodes? | f&seaRT SIS H Targs &l
FedcH o &9 H FIT Tl AT 87

A Heavily doped device | 3-1'%'5’[’75'?1%

B Verylow power device | ag?rw ‘\’l‘%cf?fla'%d
C Designed for light emitting | TR 3o
foT T ITaT e

D Very sensitive to temperature | GICEIGER G

a5 Hdcerefrer

287 Which is the main application of
synchronous motor? | Wmﬂ?ﬂ@'
3TIOrNT ahleT &7 82

A Elevators | foiore

B Paper rolling mills | SrTaTST UTeraT fAT

C ACto DC converter | T & 1Y gl

D Power factor correction device | TR therex

FaereT f3arsa

288 What is the advantage of motor generator

set? | AT ST UT T oIl FAT 82

A Noiseless | 2TR@IT

B High efficiency | 3T q&Tdl

C Low maintenance required | & TWIETT hr

TATRATE
D DC output voltage can be easily controlled |

éﬂ?ﬁmgta’lmﬁmﬁﬁﬁdﬁaﬁmm
HhdTg

289 What is the function of the part marked as X
of the rotary converter? | e eTacT & HTIT X T

FATHRTE?

oL+

A Converts AC to DC | THY &I 31t 7 aRafda
PRATE

B  Reduces voltage drop | a’lmg”rcrafrw
HRATE

C Helps to deliver without noise | f9=aTT 2T &
3M3cye & A Heg AT &

D Collects the delivered direct current | TddRa
TcgeT IR UehT AT &

290 What is the purpose of damper winding in a
synchronous motor at starting? | Q_RTJETW
Jegehifeleh AleT H SFUR ATSTSaT T 36eT FATE?
A Produce high voltage to initiate the rotation |

AT E et h [T el aleesT T SedTest i

B  Produce high current to start rotate the motor

| HIET Y AT & TeTT 3T 4RI T Scureat A

C Produces torque and runs near in synchronous
speed | WWWT%ﬁTW?ﬁﬂW

Tl &
D Produce a high magnetic-field to maintain a

constant speed | Teh faad a1fd 11T W@ & forw
Teh 3T Y1819 T fHToT vl

291 Why the synchronous motor fails to run at

synchronous speed? | Hopera At sl a1far
Q FT AL TeAcdr?

Insufficient excitation | 39ATC 3atelT
Defective pony motor | m{ﬁﬂ?ﬁmﬂ

C Openin damper winding | g?»?r‘s‘masﬁw
D Shortin damper winding | ?Waﬁﬁﬁﬁ?ﬁé'

@

292 How the synchronous motor is used as a

synchronous condenser? | APl At &l
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FEFRITH 3T & T 7 H 39T Rar AT 82
A Varying the motor load | #IeX &5 H Sgad

B Varying the rotor excitation | e 3T H
dcelld

C Varying stator voltage in motor | AT AT
dlecol H dGolld

D Varying stator current in motor | AlI A TR
GRT H el

293  What is the function of damper windings in

synchronous motor? | mmﬂﬁw
aERra s FMFI§?

A Maintain power factor | g’ thefeX ST0 &
B Excite the field winding | PIeg argf3ar &l
Sdfold &

C Maintain constant speed | IGREGEUGELILELC]
D  Start the synchronous motor | FASPITTH AleX
YEHT

294  Which converter is having high efficiency? |
el A Heldc H 3T GaldT 6?

A  SCR converter | SCR FeTde

B Rotary converter | Jedl sheAdcy

C  Motor generator set | e STelkel TT

D Mercury arc rectifier | TR 31T SRRy

295 How synchronous motor works as a power

factor corrector? | WWWW
thereX GUReh & &I H HIH AT E?

A Varying the line voltage | Hﬁﬂmﬁ
sdcelld

B Varying the field excitation | Hres aotell H
dcelld

C Increasing the speed of motor | #IEI T AT
G

D Decreasing the speed of motor | FleT &I a1fd
YT

Answers :

278-D | 279-B|280-D | 281-D | 282-B | 283
-A|284-D|285-A|286-B|287-D|288-D
| 290-D | 291-A|292-B|293-D | 294-A

| 295-B |
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1  Which resistor is used to measure light

intensity? | FehTRT T fardr sl ATY & forw foher

37AUS T 3YITIT FhAT SATAT &7
A VDR
B NTC
C PTC
D LDR

2  Which code indicates silicon semiconductor

diode? | FAfeIisT A FsFel S fFT FIZ FH

g earg?
A OA79

B BY126

C IN4007
D 2N3055

3  Whatis the input ripple frequency (Fin) of full
wave rectifier? | W%WWWW

BreraddT (theT) FATE?
A Fin=%F

B Fin=Fin

C Fin=2Fin

D Fin=Fin

4 Which is a active component? | Teh GfehT

TCH i ATe?
A Inductor | I8 HIdTell
Resistor | Jshetarell

B
C Capacitor | F&TRA
D Transistor | fol&ex

5  Which letter indicates the compound material

cadmium sulphide? | i IT 376X AT gerey

FsATH Gohrss Y ST FaT e?
A A
B B
C C
D R

6 What is the name of the symbol? | Tcileh ohl
AT FATE?

A:

B Y=AB

Two input OR gate | asﬂ'ﬂ?ORﬂE

Two input AND gate | & $T9& AND JI€
Two input NOR gate | & $T9¢ NOR 3I€
Two input NAND gate | & $eTJC NAND €

O 0o v >

7 Which is a passive component? | Tah fATSshT

T i ATG?
Diac | STIh
B Diode | SIS
C Transistor | gIfolFeX
D Capacitor | TR

8 What is the name of the device symbol? |

Sarsa Aed AT AT FAT§?

@

A SCR | TR
B IGBT | 3TSaieer
C DIAC | 31T

D TRIAC | TTH

9 How many characters are in hexadecimal

number system? | §FATS &Sl TE&AT YOTTell 7

fordey qut &2
A 6

B 8

c 12

D 16

10  Which electronic circuit generates A.C signal
without input? | aﬁﬂmsﬁaﬁﬁ?ﬁmﬁm
SeTYC & A.C TRl 3cteeT AT E?

A  Filter circuit | fhee afdhe

B Rectifier circuit | fesehRT Afdhe
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C  Amplifier circuit | ¥a¥Ts Gfhe
D  Oscillator circuit | Gletel Tfehe

11  Which instrument provides a visual
representation of measured or tested quantities? |

ﬁﬂmmmgumqmﬁmmww
727 yfafa e vereT axar g2

A Voltage stabilizer | AiecoT TCTATSI

B  Function generator | hele Sleleh

C Cathode ray oscilloscope | FAEY
FHireirERT

D Radio frequency generator | IS3T Whrerddr
AT

12 What is the name of amplifier? | TFIITHRIT
HIATH FATE?

A Common emitter amplifier | FiFeT iR
TFIRThRIY

B Class B push pull amplifier | W@'g?l’gﬂ'
TFIRThIRIY

C Common collector amplifier | PIHT FolFel
TFIRThRIY

D Class AB push pull amplifier | WU@'E{QTE@'
TFIRThRIY

13 What s the formula to calculate the

resonance frequency in an oscillator circuit? | Teh
alelel féhe # 37egeTIe 3T ST ITUTAT Hle T T
FAT8?

A F=%ac

1
F =
B & 27.C
1
C =
27~/ LC

D __1
" LC2x

14 Whatis the minimum voltage required in the
base emitter junction to conduct a silicon

transistor? | f&ferTeT TifoiEex & TATel & folT
o TTACT SerleT A # eI H dlecol sl ITaeTehdl

FATER?

A 02V-03V
B 04V-05V
C 0.6V-07V
D 08V-09V

15 Whatis the minimum and maximum value of
resistor with four colour bands, red, violet, orange

and gold respectively? | hHSI: IR {3, dTe,
dorelt, AR 3R A & Ay wfoRiy & e geTaH

IR OFaF AT FATE?
A 23750Q - 26250Q
B 24700Q - 27300Q
C 256500 - 283500
D  22400Q - 336000

16 What s the reason for barrier voltage is more
in silicon material? | f&foreleT ARl & V=T
grec ol &l RUT AT §7?

A  Lower atomic number | WWTUI'H@T

B Resistance is very low | Qﬁﬁﬁrag?rw%

C Doping percentage is more | 3IT9aT gfaerd
AR E

D Valance electrons are two only | a@lﬂsﬁaﬁﬂ
Faerarg

17  Whatis the reason for widened barrier in a
reverse biased diode? | o JraEs s H Tl
TIT T SHIROT AT g7

A Minority carriers in two materials are
neutralised | & GTATIAT H eqd &I dlgsh
3eTHe glel

B  Electron in N material is drifted to positive

terminal | TsT ACRICT @ Selaglel ol § difaifed
AT HgerTATATR

C Holes in P material attracted to negative

terminal | oY ATl F el APRIcHS efdedd &
fore 3R fonar
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D Electrons and holes are attracted towards

supply terminals | sﬁﬁﬂﬁ?@ﬁmm
CAK I nde COR RS E

18 What s the output voltage in the full wave
rectifier circuit? | Wﬁmmﬁ
3M3eYe dlecsl FATE?

T 1
V,‘

l .

No output | f3Td 8T

Rated output | &3 T

Half the rated output | I¢8 3cYTGe ahT 3THT
Double the rated output | i?‘s'&ﬂ':&'c"ﬂ'c"ﬁ
eI Y

o 0O w >

19  Which filter circuit is capable of removing
voltage spikes in the rectifier circuit? | 3l 9T

hee Ofhe YFehRR Afthe H alecst TASFH T
gl H gt g

A LCfilter | LC feeX

B RCfilter | 3TRET ftheex

C Capacitor input filter | HﬂTﬁ?Sﬂg’dﬁﬂT

D  Series inductor filter | S0 Rehca et

20 Which is the advanced version of power
electronic component used in the output stage in

drives? | 315d H 3T3€YE TROT H 3TANT fhT ST
qTel UTaR Selaci foleh Teeh Sl Joold ERIUT il

arg?

A FET
B UIT
C SCR
D IGBT

21  How the decimal number can be converted
into binary number? | a@mmmafrasﬂfr
AR H HH TG oll oIl HohelT &7

A  Divide decimal by 4 | GFeId ST 4 H HTIT S

B  Multiplying decimal by 4 | E\"‘\’mTvlT:I'Eﬁ4@f3;I'U'I'I'

AT
C Dividing decimal by 2 | ETHIT HT 2 A
fenfaa

D Multiplying decimal 2 | a%maaﬁzﬁgw
AT

22  What is the purpose of using binary coded
decimal (BCD) system in digital circuits? | 3foicer
Hfhe A ST H133 gHTT (SIHTST) JUTTelT T
3TN el T 3663 FATE?

A  Storing the data inputs | ?‘CFQFIEEH?J@FT
T

B  Control the binary system | a’lsafrﬁmaﬁr
IERIELKETY

C Interface to binary system | asﬂfrﬁmafr
$hH

D Segregating the input parameters | 3?{32'
FTIET T 37T AT

23 Which logic gate refers the truth table? | Hcd
aTToIenT R diToteh IC ! T THd hial 872

A B Y=AB
0 0 Q
1 0 4!
0 0
1 1 1

OR gate | OR3IC

NOT gate | NOT 3IC
AND gate | AND 31
NOR gate | NOR 31

o 6o v >

24  Which quantity can be measured by CRO? |
IR GaRT fovd ATAT I AT ST HhelT &7

A  Frequency | 3TIT:I<:%

B Inductance | Sehcd

C Resistance | faQer

D Power factor | QI‘F}CW;I'UTW
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25  Which is the main application of SCR? | SCR

I FTI 3TN hleT ATE?
A Amplifier | 9T€H

B Oscillators | &releh

C  Multi vibrators | Hecl aT8sic

D Speed control of motors | FEIT T ITfd
IGRENS

26 What is the function of R1 variable resistor? |

TR I R1 HTHRT FATE?
Ry RFLTER
L— PR PSS )
T
Ry TG | Op=i
n i R
m | S I~

< -[ 0y 7
A Controls the current in R2 | R2 & &TRT &1
IGEIECETGINS
B Protects from overload to TRIAC | AT T

TTeh ohl Y&TT T &
C Protects the RFI filter from overloading |

3RS @ RFI TheeT T L& AT

D Controls the pulse rate for triggering the TRIAC
| T &I fEIR ¥l o Tl Tod & ol I
FRATE

ria

27 What s the purpose of connecting L1 through
C1 to the transistor base? | §’Ii§ﬂ:€1 SHHCLH

HTETH T L1 3 SN1Se1 T 36T FAT5?

Ve

i
n.[ L™

K

ilg T

A Provides DC supply | 'sﬁ?ﬁmﬁ-‘rqa?rm%

B Provides positive feed back | ThRIcHS HIS
e YeTT AT

C Provides negative feedback | sThRIcHS HIS
e UeTT AT

D Provides transistor biasing voltage | Ej.'l'ﬁw
AT reeT USTT FAT g

28 What is the criteria to decide a material as

conductor, semi conductor and insulator? | EEW,

QAT e 3R Tl & T H Th AHM I

HeA o TIT ATIES FATE?

A  Atomic bonding structure of atom | WTUIE?[
OW ’

B  Existence of valance electrons in atom | YIHTUT

H Joig Solareldl I 3edca

C Atomic weight of the atom of the material |

TTHAT 3 TRAT] hT TRATI] R

D Atomic number of the atom of the material |

ATHIT & GIATU] hl TATO] HEAT

29 Which doping material is used to make P-type
semi conductor? | “dT-cT8T THT shase Fellel

T T ST IreafY &7 39T foham STar &2

A Boron | IR

B Arsenic | 3TdA%
C Antimony | TEIHAT
D

Phosphorous | FIEPRE

30 Which type of biasing is required to a NPN
transistor for amplification? | gaeieT & forw NPN

ZIfoEeX & forw ford 9 T 31T T

HALTSAT I 872

A  Base ground, emitter and collector positive |
98 A133, TAK AR FelereX ditaifea

B Base negative, emitter positive and collector

negative | 99 faaifeT, tf@ey uifafea it walaex
JAafea

C Base positive, emitter negative and collector

positive | 3T Titaied, TfAeX fFafea 3iR e
gifeifea

D Base positive, emitter negative and collector
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negative | 3T gitetted, vfAeR fAafea 31k et
foafea

31 Whatis the type of function in the transistor

circuit? | gifoTEex Afhe 7 el T YR FAT?

|+ N |+
Switching | FEaf=ier
Oscillation | GlefeT

Modulation | HVE\EI“FTQIH
Amplification | PEIE)

o 0O v >

32 Why negative feedback is required in
amplifier circuits? | TFTIPRR Afde &
APRIcHE BISIh T ITARIHT FT &7

A To reduce the distortion | %@aﬁrwaﬂﬁ
& fau

B To increase the amplification factor | gaYeT
R PI TGl & [T

C Toincrease the output voltage gain | 313¢49c
aledsl 9gle & foIT

D Toincrease the output current gain | 3A13<9C

RTS8 H eI el o foIT

33 Whatis the purpose of DIAC in power control

circuits? | 9TaX Shgtel Hiehe H DIAC & 36T FT
g?

As rectifier | YfFeHR & T H

For triggering | @?'ITWQ?%U

As an oscillator | Teh 3T Aole & T &

For amplification | gaye & faw

O O w >

34  Which type of control device is used in
electronic fan regulator control circuits? |

Soldcliaish U@ HarHes [SI=ur gfthe # g
YR o AT FUT 3URTUT ST 3UANET ThAT SATAT 872
A FET

B UIT
C DIAC
D TRIAC

35 Which quadrant operation of SCR delivers
heavy current in reverse biasing? | SCR I i T

AT iTeret Read Srafdiar & #y shie aar &2
First quadrant | Cl%T»ITﬂFQRﬁQT

Third quadrant | FﬁWﬂgﬂs@T

Fourth quadrant| @tT ﬂ?fﬁ%l’

Second quadrant | E@ﬂﬂ?_)ﬁﬁﬂ

O 0o w >

36 Which logic gate refers the truth table? | Hcd
aTToIenT R diToteh IC ! T THd hial 872

A A+B
0 1
0 1 0
1 0 0
i i a

A AND

B NOT

C NOR

D NAND

37 Whatis the use of time-base control switch or

knob in the CRO? | HI3TR3T & CI8H-IH shelel
Raa ar g 1 3gAT FATR?

A Select sweep speed | TAIT TS FT AT Y

B Select input voltage range | WWW
T TA Y

C Select input signal voltage| W@?ﬂﬂ
et I T HL

D Select intensity of the beam | Y& T ATddT T
TIA FY

38 Why a snubber circuit is used in the TRIAC
motor control circuit? | g% AeX fAT=or gfdhe &

Teh ToTa Afche T 39T FT AT SATaT g2
A To avoid false triggering | WWQ}IWQE
forT
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B  Toincrease the life of TRIAC | I T SiTdeT
Jelet o forw

C Toincrease the motor torque | JZﬂETEWTEI;U‘f
& §6Te & folT

D To maintain the motor speed constant | #AICY

$r afa =1 R g9 @@= & fow

39 Whatis the output DC voltage in half wave
rectifier, if the input AC voltage is 24 volt? | Wé’d

UFehr # 3m3eqe S dledst AT, Afe 319e

T glceoT 24 diee 87
A 24 Volt

B 12 Volt

C 9.6 Volt

D 10.8Volt

40 Why most of semi conductor devices are
made by silicon compared to germanium? |

STATeTH T JoreTr 7 FaTrhlal gan iferehier 3red

ATeleh 3YHIUT FAT IATT ST 82

A High barrier voltage | 3Td STYT dlecol

B High resistance range | 3o gfag I

C  High thermal conductivity | 3T drdIT
UTelehdl

D High current carrying capacity | 3TT YURT o
STt ShT &THT

41 What is the output voltage if the centre tap of
transformer is open circuited in a full wave rectifier

circuit? | aﬁmﬂwwq\ﬁm
XfFehTa Afthe & Geoll §31T &, ot M3eYe alecst
FATE?

Zero voltage | Q]EIH’IF?T:T

Full rated output | tj'ﬁiﬁ‘s’ﬁﬁﬁ?f

Half of the rated output | &3 T3Td T 3T
One fourth of rated output | s g a1 v

s

o 0O w >

42  Which oscillator provides high accurate stable
frequency? | ﬁﬂmmmmmﬁﬁﬁ
eTeT Sl 67

A Hartley oscillator | gT&er 3{fAeex

B Colpitts oscillator | FreIfieH 3ifAeiex

C Quartz crystal oscillator | EIHI@T:TW
Hiffelex

D R.C phase shift oscillator | mﬂﬁfm
Hiffelex

43  What is the characteristic property of base
material in a transistor? | Ueh ZIfoleey H U

QAT T FARAY 07 FAT 82

A Lightly doped and very thin | o< & 319 fohaT
g3 3R g e

B  Heavily doped and very thin | 341'@'3ﬂ?§§?
Ydell

C Lightly doped and very larger | o<h & 319
feram g3 37K g w13

D Heavily doped and very larger | 34'@'3#\"3?9?[
CEl

44  What is the type of amplifier? | TFIIPIRIT
AT IHR FATR?

Y s

A Push Pull Amplifier | RT Jel THICThTIIR

B Common Base Amplifier | PIFAT T
TFIOITHIAT

C Emitter Follower Amplifier | TfReT BIdI3R
TFIOITHIAT

D Common Emitter Amplifier | SiHeT TfReT

TFT TR

45 Which resistor determines the voltage gain in
a common emitter amplifier? | Pt AT JTRIYT Teh

TTHT TTHEY TFTHRR & dleeol ol &l
AuRT Farg?
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F
|
I

A Rl
B R2
C RL
D Re

46  Which multi vibrator produces a repetitive

pulse wave form output? | aﬁ?rmﬂ?é‘rasaa
HT3eYe H SBGER Tod dd YeT il g2

A Astable multi vibrator | 3ECa ol Hecl AT
B Bistable multi vibrator | STSECEel Hoor
arssie

C  One shot multi vibrator | W%ﬁ?ﬂ?&'a@a
D Monostable multi vibrator | ATAECT S Hocl

CIES[£Y

47 Why a feedback network is used in the

oscillator? | &TeTeh & Ueh HISaah sicdch ol 3UANT
7 foRaT SITaT 2

o
l -
A To cancel noise distortion | QﬁTﬁFqUTEIﬁ'Q?\\T:«"
A & faw

B To phase shift the signal by 60° | 60 T33iT & %ot
I tet & folT

C To phase shift the signal by 180° | f&3ol &r

180 ° ¥ ol [AIFe e & foIT

D To cancel second harmonic distortion | qgﬁ

gl fTeh [aET0T Y Teg et & T

48 What is the main application of a Field Effect
Transistor (FET)? | $Ies Sthare gifoieed (FET) T
e e

A Voltage control device | Eﬂmﬁwﬁm
B Current control device | RT [T 3ars@

C Positive feedback device | GhRIcHS HISdeh
fSarsw

D Low inputimpedance device | & $oT9C
gfdeTer 3uehor

49 What is the main function of Uni Junction
Transistor (UJT)? | ?J‘\?ﬁ'oier?ld CIToTEe (UIT) T
HET R FAT 57

A Relaxation oscillator | Relda2rT 3ffeex
B  Broadcast transmitter | WUTW

C Loud speaker amplifier | o138 TRT
TFIOITHIAT

D Microphone input device | Hlssh\lth\lo-l $odc

[EEIER

50 How the gate terminal of N channel JFET

biased? | N JeTeT JFET &7 A€ AT il AT
e?

A Gates are reverse biased | WWQHH@?IH%
B  Gates are forward biased | :ﬂwmsﬁﬁﬂa%
C Gates are forward biased with drain | 3€ 3T &
Y 379 HHAT &

D Gates are reverse biased with source | IICH

TR & Grer 99T AFf R 8

51 What s the total turn-on time (ton) while
transistor makes a transition from V2 to V1? |

SIToEeY V2 & V1 & IREcie 9l THT Fol Tol-
371 SIS (ton) FATE?
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I ]
b | i
R e e =
1 : 1 :
: | : | ]
1 ! 1 !
Dlh .-.__.J.-.J e e | At \_l
Y . *
* 4
A ton=tr-ts
B ton=tr-td
C ton=td+tr
D ton=tr+td+ts

52  Which device is made up of using the
methods of point contact, grown, diffusion and

alloy junctions? | %gzrqé?, ICCat:GH %@@HW
T T STereril & TTenl T SUATT hieh fehd

39T T fAATOT foRaT STaT 82
A Inductor | 9ehca

B Resistor | IfaRres

C Capacitor | TUTRT

D Transistor | TfaIEeT

53  Why the collector region is physically made
larger than emitter region in a transistor? | Teh

giforeel H Folared 817 Hifds T T 3o a7 F
T FIT FATAT SATAT 87

A It has to dissipate more heat | Sﬁmmﬂ
T JAR HIAT IST &

B Output taken from collector terminal | SeldeX
e fHeter & forr arar faeTa

C Base collector region is reverse biased | s

Folaed AT Rag IEs &

D Collector region always operate with high

voltage | Treldrex &1 §HAT 3T dlecol & AT HIH
IXATE

54  What is the function of a transistor if emitter
to base and collector to base are forward biased? |

Ueh oIy T FIT FATE, T TR T 99 31}
Fholored ¥ 9 o 379 HTAAT 82

A Acts as an amplifier | Teh T&ETITHIIR & 9 H
FEFLAT

B  Acts as an oscillator | U glelsh o ®9 H T
IRATE

C Acts as an open circuit | W@Hﬁw_{?mﬁ
FA AT &

D Actsas a closed switch | T 8¢ Rad h T H
FA AT &

55 What is the main advantage of a class A
amplifier? | FellH T TFICITIR I HTY ol1sT T
e?

A Minimum distortion | m@mﬁﬁ

B Maximum current gain | 3TT&IehdsT &RT oITeT

C Maximum voltage gain | 3T8Ihde alecal ATH

D  Minimum signal to noise ratio losses | 2R

37T gt o TIT = gTeiat ffaster

56  Which electronic circuit produces signal
waves or pulses without an input? | HlTar

golarelioleh Hiehe T&elT eTqe & faeter adait a1
Told T 3cUTesT AT 8?

Detector | f3¢aeX

Amplifier | TFITHIIT

C Oscillator | Grele

D Modulator | W

57 Which circuit is essential to maintain

oscillations or waves in an oscillator circuit? | greleh
fehe H relell IT a3 I TeATU IWat o TolT Hlet
1 Hiehe 3T g2

Rectifier with filter | fhee & TTY fESehRT
Voltage multiplier | WU;I'U'IEF

C Negative feed back | APRIcHS HIsddh

D Positive feed back | THRTcHS HIsdHh

58 What is the main application of uni junction
transistor? | WQH@@W@@@H@W
FATE?

A Rectification | fgseaor

B  Amplification | qaYeT
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C  Regulator circuits | iaﬁa gfee
D Triggering circuits | RIR Tfdhe

59  Which device has very high input impedance,
low noise output, good linearity and low inter

electrode capacity? | ﬁmw:ﬁrag?rm

$eTYC TCIaTEIT, e AR f39TeT, et Ieharr 3R
HH A Solagls &THAA &7

A NPN transistor | TeTdITsT EIfoieex

B PNP transistor | fTueTdY gifoieex

C Field effect transistor | FIes Sthare giTolex
D Unijunction transistor | W‘x’lﬂm

60 What is the difference in current control of
MOSFET compared to JFETs? | JFETs @I’F_IjﬂﬂTﬁ'

MOSFET & YRT f=0T 3 &7 3cR &2
A Insulating layer instead of junction | ST&F2Te o

T Segelc TRl

B Using N material instead of P material | @Y
AT o TSI TeT ATHET T 3T HIaAT

C Using P material instead of N material | Tel
AT o ST OY HIHIT hT 3TN AT

D Using N material gate instead of P material | @Y

HTHIT & FoITT T FTHAT 3T ST SYIIT AT

61 What s the type of amplifier circuit? |

TFTIhTIR Gihe &l YehR T &7

|
I&

INPUT

3

Common base amplifier | P 9H TIUH
B Common emitter amplifier | PIHT UfAeT
TFTOIThIIT
C Class B push pull amplifier | W@i’rgarga
TFTONHIIT

D Common collector amplifier | PIHT Peldel
TFIATHRIT

62 What s the peak voltage of 220v rms AC
voltage? | 220v rms AC aTecoT T UTeh dlecol T

&

A 310.02V
B 311.17V
C 31225V
D 315.20V

63 How the input impedance of CRO can be
increased? | zﬁmaﬁ%sagzmaﬁéﬁ
JETAT ST Hehell 82

A By adding resistance to CRO probe | TT3TR31T
EIEEIRNRCIEC Ty

B By adding resistance to trigger level circuit |

IR aféhe 7 ufayr Sigst

C By increasing time/base attenuator switch
position| AT / 7 Tesgue e feufa &r

delehy
D By increasing volts/cm attenuator switch

position | W/Wmmmﬁ
delehl

64 What is the frequency of the displayed signal
on CRO screen covered by 5 division with a time

base setting of 0.2 micro seconds? | 0.2 Hlsﬁm
& T8 A 97 Qe & 1Y 5 F3dIele gary el fhw

91T CRO Thlef TR Y& et Fliaeter &t 3gfey s &2
A 1.0KHz

B 10.0 KHz
C 100.0 KHz
D 1000.0 KHz

65 What defect will occur in the radio, if the
pulsations are not removed from the input of the

rectifier? | I3 A g1 @IET 3709, 3R Yod T
Y YTFCHIIR & SAYE A 6T GeTIT SITcT 62

A Improper tuning | Hﬂﬁﬁ@ﬁﬂ

B Noresponse | aﬁésrﬁ@ma‘e?r

C Humming sound | déo-ldgo-lld‘\l J1drsl




ELECTRICIAN — Semester 4 Module 1 - Electronic Practice

Reviewed and updated on: 015 November 2019 Version 1.1

D Works with low volume | ENTEH'IEI'IE'?HT?I
FHAFIATE

66 How does the depletion region behave? |

RFIIRIOT 817 h 8 cTagR T8 ?

A Asresistor | IfcRITe & ®TH

B Asinsulator | W?Wﬁ

C Asconductor | W?Wﬁ

D Assemiconductor | 378 TTeTeh o & H

67 What is the power gain of CE amplifier with a
voltage gain of 66 and 3 (Beta) of the transistor is

100? | 66 % dlecol ofTe 3R eIfaiFel & 100 Beta
(SYET) o T CE TFYITHIIR T QATF T FATE?

A 15

B 166
C 0.66
D 6600

68 What is the effect, if SCR is latched into
conduction and gate current is removed in DC? |

FIT IHTT &, 379X SCR Y ATl H o fpar Srar g
3iR DC H 3ie Fie geT AT ST &7

A SCRgets cut off | THHIR e 36 &I SATaT &
B  Current through SCR OFF | THHIIR 316 &
HATEIH § 4RI

C Output voltage will be reduced | 3139

arecol &he g SITTaT

D Gate looses control over conduction | 3I€

UTeld W ATIoT @ AT

69 What is the effect of pinch-off voltage in JFET?
| JFET & T 311 alecsT ol 7T I87Td &2

A No depletion region exists | aﬂé’ﬁa——chw
i o T

B Drain current becomes zero | 3o1 C ?]\FJET
EICIES

C  Reverse bias voltage becomes zero | Rad
I Qe YT B AT &

D  Width of channel has maximum value | Ao

$r AtsrS 1 AP TA A&
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70  Which supply indicates by the colour of
conductor exihibited on Red, Blue and Black? | &Td,

AT, el 31fehd fohT 31T shgere o LT A hieT AT
MYl ST Ll 82

A Supply DC 3 wire system| 3 TR ST&T 3Tt
YuTTelr

B Single phase AC system | Tehol thaf THT YUTToIT
C  Supply AC system 3 phase | 3 ol THT 3Mqfcl
YuTTelr

D Apparatus AC system 3 phase | 3 %ol THT
Ree# 3aator

71  Which cable ties are used to bunch the wires?

| AIRT el ITEBT &t & ToIT ahleT & shelel ST T
39T AT ST 82

Silk ties | ¥R &

P.V.C ties | AT §%T

Nylon ties | AT cllsT S¢T

Cotton ties | B\T—ﬂ'a‘a’

O O w >

72  Which device is avoided in the panel board
assembly? | YT 1S 3rdiwen 7 fFg 3uawoT @
AT ATATE?

A  Sensors | HEX

B Indicating lamp | Hohdl &19h

C Isolating switch | faerfera aa

D  Push button switch | g’%l’ﬁ?ﬁ%ﬂ'

73  What is the name of the device marked X’? |

X' EaRT AT f3arsa &t A1 Far g?

Stop button | T&IT g&aT

Start button | T&TE g&aT

Main contact | JEI)EJ'\':I'CIECF
Auxiliary contact | @I T

O 0O w >

74 What is the name of the wiring accessory

used in control panel wiring? | WWH’I’&WT
A qrafer Trad T FAT ATH g2

A DIN rails | T ¥eT

B Gchannel | ST ddeT
C Grommets | FATH
D Race ways | YT AT

75 What is the name of the device marked as X’
in the cricuit? | IRIYT H’x’ 3ifehd Basg AT
FATE?

13

X « ~t
-~ | -

oG

50 %3 %

Contactor | Tl

No volt coil | =it dec PIse

Stop button | T&IT &t

Over load relay trip | 3iaX @13 Rer feo

o 6o v >

76  What is the name of the accessory used in

control panel wiring? | &helel YTl arIRaT & T

A Wire ferrules | dR B&el
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B Wire sleeves | dR 3TET
C  Nylon cable ties | TTIeIle] et ST
D  Cable binding strap | hacl ST T ICer

77 What is the name of the accessory used in
control panel wiring? | WWW#W
TNoT T FATATH &2

A Lugs | oddH

B Thimble | Reser

C Grommet | AT

D Terminal connector | T8RT GdTeTs

78 Which device protects from overload and

short circuit in a panel board? | Yaa S Hplaar
fEarsa 3Navens 3R i afhe A Sararg?

A Isolating switch | 3T8&TIfeaT Eaa

B Time delay relay| T&J &I er

C Thermal overload relay | AT AR Rt

D Miniature circuit breaker | AT afee
SETY

79  Which switch with an actuator is operated by
the motion of a machine or part of an object? |

TFGUR & HTY hleT T Feaa e v a1fey 2
forelt &) & et aRT Fannfora el 82

A Limit switch | Toffe awr

B Toggle switch | claTer f&ag

C Isolating switch | 3sarelfear Fawr

D Push button switch| gr%ratﬂ%'a

80 Which switch is operated at OFF load
condition? | 37T &g REufa & sl a1 Fa=
e 2

A Limit switch | Toifde a=r
B Isolating switch | 3TS&ETITeaT Ear

C Two way switch | '9"\3'@7:!?[
D Push button switch | JT §ee &=

81 What s the reason for providing two separate
Earthing in panel board? | YTl §1S & & 37eT9T-
37oT9T 33T YT et T FIT HROT &2

A  Panel board is made in metal box | YT s
T o S H H AT AT E

B  Control the stray field in the panel | ﬁﬂﬂ'ﬁ'}“&:
& & fagfa Y

C Reduce the voltage drop in panel board | arer
IS H ATt 319 T &hd Y

D Ensure one earthing in case of other failure |

37 TqweTell o HFel H Ueh 3Tar GiATerd Y

82  Which circuit, the limit switches are used? |

fre dfdhe 7 farfae e 1 3uaier frar srar g?
Lift circuits | foroe afde

Street lighting | HSh JehI<T

Motor control circuits| Arex FFur Gfehe
Domestic power circuits | H’Qﬁl’\ﬁﬁ?ﬂ'ﬂﬁﬁ

O 0o ®w >

83 How the control circuit voltage and power in a
contactor are to be selected? | Ueh GaToleh H
=0T afdhe atedst 3R fosrel &1 g« 3@ forar
ST 8?

A  As per rated current | Wé’tw

B  Asper supply voltage | wq‘ﬁaﬁ@\_ﬂé?
Y

C As per no volt coil rating | a’raﬁwaﬁ%ﬁ%ﬁw
& TR

D As perthe type of supply | W?WQE

K EESIRS

9

84 What s the criteria to select the contactor? |
TSI T TFT il oh [oIT ATIGS FAT&?

A Type of supply | amﬁww

B Type of load connected | %?g‘@?ﬂgﬂwg
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C  Supply voltage and load | mﬁmsﬂw
CIES

D Place of use the contactor | TdTsTeh ST 3UJTIT
el T T

85  Which accessory is used to mount MCB,OLR in
the panel board without using screws? | 9T T

393197 forT foaT deer a1 # Toie, 3T &l
AT el o ToIT fohd A &7 3TN fohar SiTelm
g

DIN Rail | YT YeT

G. channel | ST AT

Grommets | FATH

PVC channel | 9T el

O 606 v >

86 Which type of device protects motors from
over heating and over loading in a panel board? |

TRE IR T 3UEIT AlCH FI UF ST a8 &
i 3R 3T Nfser @ samarg?

Rectifier | f&SehRY

Limit switch | Toif&e aar

Thermal relay | e Rt

Electro mechanical relay | sﬁﬁ'ﬁfﬂﬂ?ﬁlﬁ

§UOW>

87 Whatis the use of G’ channels in control
panel? | RATIOTHET H' G eTell ST ITITT FAT 72
A For fixing relays| et ST 81 el o oI

B For fixing contactors | HIToToh! al STeh el b
forw

C For fixing instruments| 3YUIT Sl ST el
& fow

D For fixing terminal connectors | T8 ATt
I Sk el & [T

88 What is the function of limit switch in control
panel wiring? | a@aﬁmraraﬁwﬁﬁ»@e%a
FTFATHFITE?

A Controls machine from over heat | 377reR Tt
NI CREDIECETGINS

B  Controls machine from over speed | AT &Y
HeX TS A IRAT SHearg

C Controls machine from over loading | TqAfT &Y
X AfEor @ IR T g

D Controls distance movement of any machine |

ferey off #H2feT shr gd a1fcy =t T st &

89 Which is the standard duty cycle code of the
contactor for starting and stopping the AC resistive

and inductive load? | THT TcRIes 3R O AR Hl

& oA HI Wehed o TTT HehehlT T HTeleh
FIcT TP PIS PIT ATE?

A ACl

B AC2

C AC3

D AC4

90 Which is the correct sequence operation of
contactors for operating automatic star delta

strarter? | TaOTfeld TER 3ol TETCX & HaTol &

I TTSTeht o HET 3Tesha T HeTelel hiet AT &7

Main—Star—Delta—Timer
Star— Main—Timer—Delta
Main—>Timer—Delta—Star
Star—>Timer—Main—Delta

o6 w>

91 Why control panels are provided with control

transformer? | fAI=0T TrEHRER & T fAT=0TUe
T 9T fhu ST 87

A To maintain rated voltage to load | '8 &l &
oI ¥es diec st 1T T@at & foiT

B To operate the auxiliary circuits | eI Aiche
FaTferd ¢t & faw

C To maintain rated main supply voltage | 3¢3
HET Y dlecsT ST I & foIw

D To supply reduced voltage to power circuit |

qTeR Hiehe &l A dlecst I ATt e & forw

92 What happens, if time delay relay of a auto
star delta starter still in closed condition after

starting? | FATBIATE, 379 Teh 3iTel T&R 3ol
T & E e & a5 ot ers A 3oy Ry sg grera
Herare?
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Starts and stop | Q\K@HT%’&T\TWE’IHT%’
Runs normally | 91T &9 & Toldl &
Runs in star only | TR H & TeldT g

Runs in delta only | gecl fr%?rumu %’

O 0O v >

93 What s the use of PVC channel in a control
panel wiring? | Teh shelel Yetol arafar & drdrdT
DeTel ST YA FAT g2

A Mounting MCB | MCB eldTT=T

B Mounting relays | R o=T1aT

C Path way for electrical wiring and protection |
forstelt 3 aRT 3R geew & forw redr

D Mounting double deck terminal contactor |

39 3 A TSI TaT=AT

94 What is the purpose of thermal over load

relay in control panel? | Ao U & oeier 3aT
g Net &1 352 FaT 82

A Switching ON/OFF the circuit | Hﬁﬁ"ﬂﬁ'ﬂ'l?{\/
G AT

B Protect the circuit from earth fault | c[%?fra’rcr
 afdre Hriamay

C Control the circuit based on time delay | §HI

FI T o TUR IR Tfehe &l FIFa Y

D Protect the motor from over heating and

loading| HreX &1 3T T 3R AT & F=mw

95 Why sequential control of motors is required

in an industrial application? | mw
F AICE & 3HeToh A [FT0T T ITaRTehell 41 §?
A To share more loads | 3718 HX TS A &
fow

B To reduce power consumption | TersTell T
U FI HH T & foIv

C To minimise the operating cost | gRareleT
STITC T e el o [T

D Toincrease the accuracy of operation |

3T T FEThdT e & [T

96 Which material is used to make open frame
bimetallic adjustable thermostat contacts? | fp&r

HIHAN T 3T Yol 36 & GIeTed T FARIGE
yAfEe GAISTT Y o711 & fore forar srar g
A Silver | TTér

B  Brass | diddl

C Copper | d@fsT

D Bronze | ST

97 What s the purpose of DIN-rail used in
control panel wiring? | WWW# DIN-
ol T 3TN FATR?

A It provides a path way for electrical wiring | g

faegd art & foT v TET YTt T g

B Install the high powered circuit accessories |

3T T aTel Afhe ATHET Sl TATTAT Xt H

C Mounting the double deck terminal connectors
| 3ol 3 T TSI o9l A

D Mounting the control accessories without

screws | @*ﬁmﬁwwmﬁ'ﬁ

98 Which device controls the operations in

sequential control systems? | Eﬁﬂ?ﬁ'%ﬁ'@
SRR FRIOT ot o Frarere ¥ i
FLAT 7

Timer | CISAY

Relays | Rer

Contactor | I

Control transformer | ﬁwm

O 0o w >

99  Which DC load is represented by the DC4
standard duty cycle of contactors? | @il AT 31T

oS, TUhehd T3 oh DCA HTeleh Thelcd Tsh GaRT
GITAT ITAT 2

A  Resistive loads except motor loads | AT s
&l BISH FfcIesd HR

B  Starting and stopping of shunt motor | gre
AT T LRI 3R Jeherll

C Starting and stopping of series motor | H0fY

AT T YR IR Tehel
D Starting and stopping with inching and braking

| =Tt X a1 & AT Y& AT 3 Aot
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100 What s the purpose of control transformer
used in control panel wiring? | WWW
# 393191 fhT 1ot aTel fAT70T TrAhR &7 3652
FATE?

A To maintain constant terminal voltage | IGEGH

iAo dicc ol 9T W@ & forT

B To supply the power to the auxiliary circuits |
HETI Hihe Y Ristell B 3fet et & Forw

C To control the supply voltage to the contactor |
FHNoTe 3 e drodt Y i et &5 e

D To protect the control elements from over

voltage fault | TI90T dcal #r 3ifd dlecaT v &
CEIGEACIY

101 How the contacts in a contactor can be
engaged for working? | et TatsTer & Uk I
Fet o foIT H8 IR fFu ST Ehad 82

A By manual operation | ﬁgrma*q%%maﬁm
B By mechanical settings | Wﬁﬁ?ﬂaﬁm
C By operating electromagnet to change the
position | @%ﬁﬁ*ﬁ'ﬂ'ﬁﬂgﬁﬂﬁﬁ
HATol Hlh

D By using bimetallic strip to change the position
| Rt 1 aeer & forT afaenieas qed &
3T ek

102 Which device prevents flare out of stripped
and stranded cables in the panel board? | et &T

R derer 1S 3 et 3R A1 g el &
THE 3Tel H el 87

Sleeves | 3TEAN

Wire ferrules | IR &l

Lugs and thimbles | 38 3R Reaeq

Cable binding straps and button | sheel STl
gefear 3R g

o 0O w >

103 How to protect the cable from insects and

rats into the panel? | Wﬁmma@ﬁm
T L& H H?

A By using sleeve | 3TTECTS T 3TN FHIh

B By using Grommets | ShIHCH T 3TATIT Hlh

C By using cable binding straps | el dEeT
gefear I 3UANT dleh

D By providing nylon cable ties | ATI T dhalel
S YeTel hich

104 What essential feature to be considered
while designing a layout of control panel? | IGEEM
e & A3T3C Fl [31s e THY fhd 3maeas
FaRIar W 9= fohar ST &7

A Proper type of protection and measuring

system | ﬁﬁW@fﬁT&ﬂTﬁTWWﬂ?ﬂ'

B Inside area and number of indicating lights in

front panel | 376X & &1 3R AT SFer 7 AereAT
T STITC shiel sl HE&AT

C Suitable method of labelling and cable
harnessing | SlafeiaT 3T hadl mﬁw
fafer

D Outside dimensions and swing area of cabinet

door | HfSaic gTarst F e dars-Aters 3R fFger
&

105 Why power and control wirings run in

separate race ways? | meaﬁﬁ?ﬂ
3STT-37e13T TH AT 7 FIT Teld 82

A Toreduce heat | ITHT T HH F & AT
B To reduce the radio interference | IFar
BB P T B 5 FarT

C Toincrease the insulation resistance |
gegel2reT GfeRTer SgTa o fere
D Toincrease the current carrying capacity | €I

TEeT &THT T FEToT o ToIT

106 Why the motor is not changing the direction,
if reverse push button is pressed in forward and

reverse control star delta starter? | Arex fgem =4t
TET FereT T &, TR NG q2r et H HRas 3R
Ra¥ shelel TeR SoeT T & SarT SiTdT &2

A No volt coil is not energized | FﬁWﬁgﬂ
FTord 761 &

B  Faultin forward contactor | BRAS FHicTFel 7

(9]

hled
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C Duetointerlock in reverse contactor | Raa

SircFel H Sl P HRUI

D No voltage exist in reverse contactor | Raa

el H IS dlocol AlS[G T8l &
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107 Which control system consumes very low
power for motion control in AC and DC motors? |

T 3R A Ay 7 a1fa faz=or & fow sl
forr=roT goTTelY gt e ferstelt i @ad Y &7
Field control | &1 fag=or

Drives control | 318 fad=oT

Voltage control | drecof fgaoT

Armature control | 3TH=R fag=oT

O 0O v >

108 Which drive is classified according to mode

of operation? | aﬁ%m%nﬁg%agw [EXIEEIEE
ol gafiehet foham aram 82

A Group drive| H¥g 3189

B  Manual drive | ﬁgrmgsa’

C Individual drive | SITFd9TT 33T
D Continuous duty drive | TR S'Q‘\ﬁ' Sisd

109 What is the name of the characteristic curve
in D.C drive? | D.C 313d H [aQIdT dsh T AATH F4T

&?

A  Speed Vs torque characteristic | GG
FoTET AT

B Torque Vs field current characteristic | EFITE{\UT
FATH &1 GRT farear

C Speed Vs armature current characteristic | 37Tl

AT 3R O faQrwar

D Field current Vs armature current

characteristic | Ples gRT AT 3R

110 What is the name of the component marked
as X’ in the block diagram of AC drive? | TdI 3189 &

Selleh 3G A 'X’ & &9 H RAITEAd g o1 A1H7 47
&

o-EH HA-E
E

A Rectifier | [gSeRY

B D.Cbus|3r&@rag

C

D

Inverter | Sod X

A.C motor | A.C HICY

111  What is electric drive? | Selfagen 3189 T
&7

A A device used as prime mover for generator |
STeReX & foIT UTgH Ha & &9 H 39197 fohar S
dTell 39eh0T

B  Adevice converts A.C to D.C supply | Teh

39T A.C I D.C 3Tqfet H aRafda awar &

C Anelectro mechanical device for controlling

motor | HIeX Y fAATIT A & fT vah faeg
i ITHIOT
D A machine converts mechanical energy into

electrical | WHQWWWH#%E&H?T
aRafda e g

112 What is the full form of B.O.P in D.C drive? |
D.C 31$d #H B.O.P I qUT &I FATH?
A  Bridge Operation Panel

Basic Operational Panel

B
C Basic Operation Programme
D Bridge Operator Programme

113  Which is the classification of drive according

to dynamics and transients? | SATTHFT 3R
CITSTUCH & 3THI 3154 T J1eh0T hiet AT 57
A  Short time duty drive | %ﬁéasﬁsq\é’@sa
B Intermittent duty drive | Hﬁ?ﬂ??ﬂﬁ@%‘d
C  Automatic control drive | TaaTfeld =07
gIed

D Variable position control drive | gRadAT
EIGRGREEEES]

114 What is the function of power controller in

drive circuits? | 3T3d Tfehe H UTaR Felolk T FAT
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FIE?
A It sounds an alarm in no load conditions | Ar

s i FRufa Jve ey soar g

B It detects the overloading condition of motor |
g Al F 3NaTenfseT AT T gdT STommar §

C It reduce motor current during transient
operation | Ig &TT0Teh HATelel oh GIRTA AT FC

P HH FIATE
D It maintain the torque at low voltage

conditions | Ig & dlect Fr fEufa 7 Femgor =t
FATTIGAT S

115 Why it is necessary to keep V/F ratio
constant in a drive? | ngsa:ﬁrw F aam?raﬁr
TEUT TG T 39T+ &2

A Keep the stator flux maximum | ¢ Folard
A A @

B Maintain the rotor current minimum | sgaIdd
e URT FAT0 T

C  Maintain the speed of motor constant | eI
&1 91l [ s

D  Maintain the rated torque at all speeds | Y

a1 oY 13 Forret FerT @

116 Which power modulator used in the electric
drive system? | Selldrceh 313d Fa¥cH A fohg arax
HISZIET T 3TN fehaT STl &7

A Cyclo converters | GTSeFall Foeded

B  Frequency multiplier | 3-]1T:|¢ﬁ'3;I'U'IT=I~T

C Phase sequence indicator | U1 b H A
D

Servo controlled voltage stabilizer | Haf
I d alec o TeaaBR

117  Which type of sensing unit employed in drive

system? | W@mﬂmwﬁmﬁé
FRTA g7

A Opto coupler | 3fTceT TR

B Speed sensing | 31T TdgeT

C Photo voltaic cell | BICIalecges dol

D Resistance temperature detector | STAIeT

dTIHATT f3eaey

118 Which type of machine in industries is
provided with multi motor electric drive? | 3?.“:€I>ITIT
# forg g T 7R Fel Al Salfded s5a H
T YT I STt &2

A  Rolling machine | gmﬁraﬁrmﬁﬂ

B Air Compressor | TIR $edal

C  Shearing machine | IRaT F7MT

D Heavy duty electric drilling machine | IR 1Y

golfeee f3foer el

119 Which control system is used for Eddy
current drives? | US@'WE’IBHQ* fore forer

=0T JoTTelY &1 Iuter fohar ST 872

A Slip controller | T&eld &gleR

B Rectifier controller | IFeHhIAR shglelk

C ACvoltage controller| THY dlecof [
D  DC chopper controller| 3 AR a9

120 What is the purpose of JOG key in control
panel of D.C drive? | D.C 318d & T@IFUT g€ H JOG

hofl AT 3EC e FT 87

A Stop the motor | AICT §¢ A

B  Restart the motor | Waﬂ'gﬂ'ﬂi’ﬂaﬁ'

C Inching operation | sﬂﬁﬂmlﬂ'

D Reverse the direction of motor | HeI &hr feem
3dCq

121 What is the purpose of LCD on basic
operator panel in D.C drive? | D.Cwﬁm

HTOREX Yol IR LCD I 3652 FAT8?

Indicate the fault | GIY T SfaTd &Y

Display the speed | 31fa T fRId &

Monitor the parameter | SRT#IeX Fr TR

ﬁnm>

D Display availability of supply | HTq!ﬁﬁ
TS TR &y
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122 What is the reason of using shielded cable
for connecting low level signal circuits in DC

drives? | 31T 318a H To¥e=T TR o TA3Tol Aliche T
SISl o ToIw IRITETA Shelel ST IYANIT el T FAT
FROTE?

A Easy for connection | Faierelel o TolT 3T &
B  Good appearance | 37<aT fe@rae

C Protects from mechanical injuries | JTT3e Aer
ECEIGIN

D Eliminates the electrical interference | ﬁa;u;r
&Y ! THATC T &

123  Which device controls the speed of A.C
motor in A.C drive?| A.C 3189 H A.C AT i a1fa
3T et AT 3YHI0T [ATTIT FXaAT 8 ?

A  Field supply unit (FSU) | Cﬁl@mqﬁ?
(FSU)

B COMMS technology box | COMMS m

ClCz)
C Speed feedback technology box | s frsds
e st

D Microprocessor based electronic device |

ATSHINATR TR Sl [aieh 3THIT

124 What is the main use of A.C drive? | A.C
S1Sd T HET 39T FATE?

A High starting torque | E'Ié'!—?'lﬁﬂﬁé?

B  Group drive motors | W@E’Bﬁ'm

C Control stepless speed in motors | AT &
foveoT R aTfey

D Interlocking system in industries | E@?ﬁ'ﬁ

ST TehaT JUTTRIT

125 What s the function of IGBT in AC drive? |
UHY 3189 7 IGBT &l I FATE?
A Smoothening incoming A.C supply | 3TTeT aTell

A.C 3Tl T T Y T
B Controls the power delivered to the motor |

HreT FI &Y 778 AfFa  aRa aarg

C Stabilize the output voltage from the rectifier |

VFehIIT A H13eYe dteest &l TR &Y

D Converts incoming A.C power into D.C power

output| 3T A.C AfFd & D.c AafFd AT &
gRafda axarg

126 Why the A.C drives are better suited for high
speed operation? | 8T8 TS 3T & faT A.C
S1Sd d6cX &1 &7

A High starting torque | 815 TeIfear &ich

B  Robustin construction | ﬁm‘fUTﬁﬂGi—sj\Fl'

C Having lighter gauge winding | e<hT 3TaT
TSI gher

D No brushes and commutation | Hﬁé’@l’?T}ﬁT
YA 6T

127 What is the advantage of AC drive compared
to DC drive? | SIHY 313d T Jelell H THY 3159 T
T BIICT 2

A Requires less space | EFHEFI%’QT%U

B Installation and running cost is less | 9T

INTIT R ARTT FAE

C Fastresponse and wide speed range of control

| e afafsrar 3k =0T i caraes aifay dar

D Power circuit and control circuits are simple |

qTaY Ofehe 3R Fere Tfde T &

128 Which is the application of single quadrant
loads operating in first quadrant in drives? | S'Ig_cl"ﬁi'

Ugol FATSC A [QITl FATSC TS ol TATolT fohdich
SaRT fohaT SATAT 87

Hoists | ﬁ'&'ﬂ-‘d

Elevators | TelldeX

C Conveyors | edaX

D Centrifugal pumps | 3T9ehaT &

129 What is the function of Field Supply Unit
(FSU) in DC drive? | S1¥Y 318d 3 $les FeelTs I
(FSU) T T ST &2

A Produces required firing current to the firing

circuit | IR @fdhe & faT 3maegs wraRer

T I 3T FIAT &
B  Provides variable voltage to the field winding
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of motor | A & &7 ATS39T I TX Alect TGTeT

EXGIN
C Provides a constant voltage to the field winding

of motor | Fﬂﬂaﬁftﬁlﬁmﬁwmﬁ

drecol Yerd aldl &
D Provides a constant voltage to the armature of

the motor | HreT FT 3R F v [ areesT
TeTeT hidl &

130  What is the disadvantage of DC drive? | 31ET
SECEIE CRICED N

A Not suitable for high speed operation | 3=d
T FelTelel & folv 3ugard =161 &
B More complex with a single power conversion

| Tl TFd FATAROT & ATY I T¥h Sfcer

C More expensive than AC drive for high capacity

motor | 3T &THAT I Al & folT THT 3BT A
fas AgaT |
D Installation of DC drives is more complicated |

31T 3139 ST TATIT 3ifaF Sifea g

131 Whatis the purpose of LCD in Basic Operator
Panel (BOP) in AC drive? | THI 3189 & a8
HTOREX YAl (BOP) H TeIHTET T 3652 FATR?

A Indicate the status of drive | 318d I fEafT T
Hhd g

B  Monitor the parameter of AC drive | E'Th's'l'sﬁ
& IRTHTE FT fAaRTedt T

C Indicate the display error in reading | 9&s1 &
gede Jfe sd Y

D Indicate the incorrect operation of BOP | BOP
& ITeTd TaTelel T Hhd &

132  Which is the correct sequence operation of
key button in BOP of AC drive to change the

direction of rotation? | JICT T AT dg el &
T AC 318a & BOP # Fholl SieeT T HET 1Tsh e
ORI T ATE?

Press ON - REV —-ON

Press OFF — REV — ON

Press ON — OFF — REV —ON
Press ON —REV — OFF —-0ON

o6 w >

133  What is the purpose of PROG / DATA button
in BOP of AC drive? | AC 3T18d % BOP H PROG /
DATA SCoT &l 366 FAT8?

A To change the parameter setting | SRT&HeX
QT I dgoled & Tl

B To store the entered data and factory stored

data | & fehT 91T ST 3R therd! HaTEIeT ST
TIAEI et o forw
C Todisplay the data direction of rotation

forward / REV | FORWARD/ REV Te2r &hr 3eT feem
e iTd it & forw

D To display the data status of frequency and

current | mﬁrﬁ?waﬁréaﬁuﬁrqaﬁaw
Ffow

134  Which is proportional to the torque in D.C

motor? | D.cmaﬁaaw\ﬁasmam?ﬁaﬁam
g?

A Backe.m.f| aiﬁé't'ﬂt"cﬁ

B Field current | Tes 9RT

C Terminal voltage | TR T dlecst

D  Armature current | 3THIR e

135 What is IGBT in VF drive? | VF 3189 & IGBT
FATE?
A Inverter switching device | 3raé1 Eafrer

IEGIES]

B D.C bus switching device | D.C 88 f&afdar
IEGIES]

C Rectifier switching device | IFe®rRIX Eaf=ir
ECIES)

D Field supply switching device | HTe38 HTATS

Eafier Basa

136 What is the function of VS| drives? | VSI SIsd
T T FAT?

A Converts A.CtoD.C | A.C Y D.c & aRafda
AT

B Converts A.Cto A.C | THT &I T& & uRafdd
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AT
C Converts D.Cto A.C | D.CHI A.CH uRafda
FATE
D Converts D.Cto D.C | D.C3I D.C # gRafdd
FATE

137 Why the A.C drives are mostly used in
process plant? | 3T A.C WWWW
A 39T fRaT SATaT 82

A Easy to operate | Iellel & 3THTA

B Robustin construction | ﬁm‘rmfmaa@

C Very high starting torque | ag?rmgmﬂ?ﬁ
st

D Maintenance free long life | WWW
Siraet

138 How the base speed of D.C shunt motor can
be increased by using D.C drive? | D.C SISd bl

3YGIT ek D.C QT AR T TR T FY TeIs
ST @ehcll 67

A By reducing the field current | Tes Fe &r
FHH Hh

B By increasing the field current | s T
delh
C By increasing the supply voltage | mﬁ

dlec ol I TGThT
D By reducing the armature voltage | 3R
dlec ol I HH I

139 How the constant torque can be obtained
from armature and field-controlled drives? | 3R

3R Fres AT grga & A e & gred famar
ST HhT 87

A By reducing the field current | Tes Fe &T
HH Ph

B By increasing the field current | BIes aic
delehl

C By reducing the armature current | IR
FC P HH IH

D By controlling the armature voltage | IR
dlecst I [AIT e
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140 Whatis the minimum permissible single
phase working voltage, if the declared voltage is

240V as per ISI? | e ITSTHINTS o 3R BT

ATeCST 240V § oY oAl H TeIH T Tehel TROT

FrIMNT Aee ST FATE?
A 233V
B 228V
C 216V
D 211V

141  Which term refers that the mass of a
substance liberated from an electrolyte by one

coloumb of electricity? | forg ersg & arcad & &
fordT 9aTe T Gea AT Folerciege U Ueh FellA
o T e 1eT 67

A  Electrolysis | %IE[{IKTW

B Electro plating | %ajg?rau?r
C
D

Electro copying| Selaral oThel
Electro chemical equivalent | ﬁ?@g?—f

TS Jedih

142  What is the full form of abbreviation UPS? |
HiaTed AT JUTTH T U7 9 F347 82

A Uniform Power Supply | Uniform Power Supply
B  Universal Power Supply | Universal Power
Supply

C Unregulated Power Supply | Unregulated
Power Supply

D Uninterrupted Power Supply | Uninterrupted
Power Supply

143  Which is frequency converter? | 3-1'@%
AT PieT ATH?

Rectifiers | Ferry

D.C choppers | D.C ITIX

Cyclo converters | Hlsﬂméﬁ

D.Cto A.C converters | D.C & A.C heded

o 0O w >

144 What is the full form of PWM? | PWM oAl

qUT ST FATE?

A Pulse Wide Modulation | Pulse Wide
Modulation

B  Pulse Width Modulation | Pulse Width
Modulation

C Phase Wide Modulation | Phase Wide

Modulation
D Phase Width Modulation | Phase Width
Modulation

145 What is the advantage of on-line UPS over
offline UPS? | 3{TthelTgeT JUTTH IX 3ol olTgeT

JUITH T T BIIET &2

A  Supplies constant power output | IGEGEY
[EEEIESICCEIEICIBEIGINS

B It gives constant output frequency | ZI%'%RT—R’
3T3TYC HIFIE ST §

C  Works on single phase or three phase supply |

Tehel TROT T lef TROT 3MYff O HTH AT &
D Free from change over and transition problems

| TREcTeT 3R HHHOT T FHAEATIHT e

146  Which electronic circuit is used in a
automatic voltage stablizer to produce constant

output voltage? | fTaR 3r3¢9C dlecol &l 3caTga
FeA o oI Uk TaaTTeld dlecsl Tk H
g selareifoieh Afche T 3TANT fhaT SATAT §?

A Rectifier circuit | YIFePrRR Gfthe

B  Amplifier circuit | TFTBRR Afdhe

C Oscillator circuit | GRS o

D Feedback circuit| Frsds Tfche

147 Which feedback network is used for
automatic voltage stabilizer? | TadTfeld dlecal

TS & oIt fohd HIsdes sicach T 39T
frar Srarg?

A Current divider network | &IRT f3arsst Acash
B Voltage divider network | diecol f3a8sY
secash

C Tapped transformer network | &9 SIAHRFT
secdsh

D Resistance temperature detector network |

AT arIATT f2eee Aeds

148 Which electrical device is actuating the
voltages in a stepped voltage stabilizer? | TRUTICYH

et FeTATgoR H s AT faegd 3ueor aleest
T AFT T ETE?
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Autostat | e

Output transformer | Mﬂ?@ﬁm
Over voltage relay | 311X dlecol el
Under voltage relay | 37T dlecot el

O 0O v >

149 What is the effect in internal resistance of a

discharged cell? | T f3&amer @ & 37dRe

faRYer 3 &R 93T g &7

A Increase | 3T8&

B Decrease | H

C Becomes zero | %]EI%TGHFIT%'
D Remainsame | GATTIEAT&

150 Calculate the voltage and ampere/hour, if
four cells rated as 1.5 v and 8 A.H are in parallel? |

drecst 3R TFARIR / g9¢ Y 70T Y, IfE FATR
AT IRAT15vHBAHFTI AL HI S E?

A 6Vand24 AH
B 3Vand16AH
C 45Vand8AH
D 1.5Vand32AH

151 Which is the application of automatic
stepped voltage stabilizer? | TadTTold TET5 dlecal

FETATSSR T TN hleT HT B2
A Geyser | IR

B Grinder | IS8T

C Television | €Il REaX

D Pump motor | TIR HaRER

152  Which is the function of an inverter? |

Sd e Sl P HleT ATE?

A  Converts A.C voltage into D.C voltage | A.C
eI I D.C AlecoT H gRafdd Farg

B Converts D.C voltage into A.C voltage | D.C
Aot A A.C Aecol A gRafdd searg

C Converts D.C voltage into higher D.C voltage |
D.C diee ol I 3T D.C dlocsT A gRafda Farg

D Converts A.C voltage into higher A.C voltage |

A.C AeeT A 3TTACAleeT A uRafdawary

153 What is the purpose of output transformer
in inverters? | SoTaEX A T3CYC SHBIER T

3CaRT FATE?

A Step upinput AC | WU.ﬁ.aﬁmm

B Step down input AC | 3eT9¢ THT T T 313

C  Step up AC from amplifier | TFIlBRR & THT
T T I

D Step down AC from amplifier | TFITHRIT &

TH £ 1367

154  Which type of output transformer is used in
automatic voltage stabilizer? | TaaTiold dlec ol

TSR H o TohR & T3CYC SAHIER T
39T FRT ST 82

A Auto transformer | Hﬁ@ﬂw

B Static transformer | TAfde ergwRER

C Ring core type transformer | 3T R Y&hR T
AR AR

D Ferrite core type transformer | WIBE'W

YR T SR

155 Which principle the constant voltage
transformer works? | ﬁlﬂﬁmwm
AT W A HATR?

A  Self-induction principle | QT:I'QTUT@?\?IIFT

B Fallin potential principle | %ﬂa’tﬂﬁm
C Ferro-resonant principle | W—Hﬂmﬁﬁ
faegra

D  Mutual induction principle | 3=a1eg 90T
IS

~

156  Which transformer is used in servo voltage

stabilizer? | Taf alec ol TCTABR & fohe

TIAWIFR T 3YATIT ThIT ST &7

A Step up transformer | Fécra'crgmw

B  Step down transformer | F&qmw

C Torodial autotransformer | RUELE
R

X

D Constant voltage transformer | faad alecat

TAHRRT

X
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157 What is the type of A.C voltage stabilizer? |
A.C ATecol TSR T YhR FAT§?

L 3
2 SWITCH
A L
4
NPUT < |

L N

A Servo voltage stabilizer | Haf diecal

FETATSN

B Automatic voltage stabilizer | TadTfeld dlecol

FETATSI

C Manual stepped voltage stabilizer | T—F_I"W

TS dlec ol TCTATSIN
D Constant voltage transformer stabilize | Tad

el TEHER B

158 Which instrument is used to check short
circuit faults in electronic circuit in voltage

stabilizer? | Aleeol TSR H Sclacl ol Hlhe
H 2If¢ afhe Iy I ST IR o o fohe Fgaor
T 39T fhaT ATAT §?

A Ammeter | THIEX

B  Voltmeter | @ecHIel

C Ohmmeter | 3EHAHAT

D Multimeter | #FecIHCI

159 What are the important stages in a simple
inverter? | meﬁﬂﬁqﬁw
FATE?

A Oscillator and rectifier stages | &releh 31X
fesearrl =RoT

B Oscillator and amplifier stages | &leleh 3iX
TFTRIThIIY TROT

C Amplifier and transformer output stages |

TFTTHRI AR TRAHER et aror

D Oscillator, amplifier and transformer output
stages | GloTeh, TFETHIAIT 3R S$ER el
TIOT

160 Where square wave inverters are used? | GEll
TRET SoTaC T 3YTIIT gl 1oh T STl &2

A Computers | EFW:C',T

B TV receiver | rar REay

C DVD players | SIATaI ToldX

D General lighting | HTHTeT HehIRA cTIEAT

161 How the backup time of UPS can be
increased? | JUTUH T Seh3(T HHI & TG ST
HehcT8?

A Increase the VA rating of UPS | Zlfﬁwaﬁ'VA
B Increase the AH capacity of battery | JelrHr
TUT &THAT JGTT

C Decrease the AH capacity of battery | JerHr

AH &THAT €TI0
D Maintain battery terminal voltage always 90%

of rating | SeY efFeTel aleesT Y AR 90% Yfear
FATT T

162 How the hard sulphation defect in secondary

cell can be prevented? | aﬁﬁw@aﬁw

T aIY ST 8 WehT ST Hehell o2

A  Provide trickle charging | fiehoi TS UETeT Y
B Provide freshening charge | ShRIfaier aTet UeTe
Coxy

C Provide constant current charging | IGREGRIEY
EUEEECEERS

D Provide constant potential method charging |

IGRGACECACIBEIEIR G TS

163  Which part in UPS supplies continuous
output voltage in case of input voltage failure? |

gATE # et A1 GEaT $e1qe dlecst i fateldr &
AHA 7 fAeR 33T aledst 1 3Mqfc & 87
A  Battery unit | a'c"ff?{ﬁ'cf

B Inverter unit | 3@&1’1@3

C Rectifier unit | WQ@E

D Controller unit | mﬁré
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164 What is the effect during loading of the cell,
the current strength falls and become zero? | ad

T NS T o ST FAT YHIG USaT g, ORT AfFd

RS § 3R e g Sl g2
A Buckling | ShfoiaT

B Polarization | i;aﬁw

C Local action | TUTAT fohaT
D Amalgamation | 3THIITH

165 What is the reason for having low back up
time in UPS? | JUITH H & ek 379 glel Al HUT
FATR?

A  Faultininverter circuit | sﬁ!ﬁﬂﬁﬁ'ﬁm
B Battery is short circuited | aﬁﬁ'ﬂﬂ'qf?\—lﬁ%

C Mains earthing is not proper | Aog 3T
R

D Ampere hour (A.H) capacity of battery is not
sufficient | SeT T TEIRIT 3T (A.H) &THdT
SRS E N

166  Which is the cause for the fault if the output
voltage of UPS is higher than normal? | ui%:qsﬁw

&I HT3CYC Alecsl AHA A 3T g, ar Iy &1

FROTFIT8?

A Battery get short circuited | azfrargrcrfﬂ?r
BT e

B Defective feedback circuit | @W@Eﬁ?
gfehe

C Inputvoltage is very high | goTdc diecal sgd
kIBCS

D Relay points are joined together | ﬁﬁq\%?
Th HIY 3 S &

167 What is the reason for tripping the UPS with
full load? | ZHTTH &I T oIS & A & et Al

HIUT AT 2

A Main supply failure | ﬁ@'ﬂq‘ﬁw
B Incorrect over load settings | ITeld 3aaS
RSILER:)

C Battery charger input fuse blown out | ErE

TSN $e1YC FST 35 I

D Loose connection in battery terminal | ErE)

ML GEE: A CIEGE G
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168 Which fuel is available in plenty in India for
power generation? | faaTell 3cdTed & [T IR &

FiaT ar sy Y HTAT 7 3Tl &7

A Coal | I

B Diesel | SI9Tel

C Gasoil | T HI A
D Gasoline | 9crel

169 Which is the conventional power
generation? | IRURE THSTell 3cUTGe ahieT IT 72

A Wind power generation | 9aeT 2Ifed 3cdre

B Tidal power generation | SaRIT QAfFd 3cdTesT
C Solar power generation | HIX eIfefd 3cUrged

D Thermal power generation | 3SHI ATFT
3cdige

170  Which material is used in solar cell? | T

el H ford AT 1 3T1eT fohar SATaT 82
A Silicon | Rfoeia

B  Copper | dT&T

C Antimony | TSIHAT

D Phosphorus | FIEPRE

171  What is the name of the atomic material
used for nuclearfission in nuclear power station? |

TRATY] Fiil T H RATAESA o FIT Tt

ORATU] FTHET T T +ATH 82
A  Silicon | GIREIG]

B Thorium | 2IRT#H

C Antimony | TEIHAT

D Cadmium | FsfAae

172 What is the name of the material used for

making photovoltaic cell? | GieIardfea Tl gellel

o oI Sgerc At 7 FaT ATH 82
A  Silicon | fafoia
Arsenic | 3mdfAE

B
C Antimony | TEIHAT
D Germanium | JHfEIe

173  Which is the non-conventional energy

source? | I IRURF FT TIT HIT ATE?

Wind | gdaT
B Water | U=l
C Steam | HTY
D Diesel | 319Tel

174 Which is the natural source of energy? | Sl

BT T vl et T 87
Sun | Q:It:él'

B Heat | ITHT

C Coal | SIIeT

D Biogas | SR

175 Name the constituent marked as X’ of the
schematic arrangement of hydro electric plant. |

812l Selfdgen Tolie I TISTATTGY STaEAT & Tceh

AXPraAAHS]

Penstock | AECIh
Surge tank | T &
Valve house | dTed g13H
Power house | ToTell BX

o 6o v >

176  Which is a non-conventional energy source?

| Teh I-IRURF Fall GiT HlT AT E?
Lignite | foraarse

Sun rays | W@TW

C Stored water | Afgd 9r=ir

D Pulverized coal | aﬁ‘ra@w

177 What is the main disadvantage of non-
conventional power generation? | IaRIR=

TSrSTelY 3cUTesT & HET Johar 41 8?
A Poor efficiency | hH G&TdT
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B No constant generation | 31TE2R 3cqTesT
C Can use only light loads | Shael e HIX &l
ITART T TR &

D Heavy load cannot be operated | HRT IR
Farford w181 fondT ST T &

178 Which power generation requires heavy

water treatment plant? | ieT & QfFd 3cdTeeT &
Y STeT o QYT I hT JTTRThT Blell &7

A  Hydel power generation | E'IBBFTW
3cdTgeT

B Diesel power generation | SroTel faaTell
3cdiget

C Thermal power generation | Ui AP
3cdiget

D Nuclear power generation | WTUI?T%CT
3cdiget

179 Which device senses the wind speed in a
wind power generation? | Uddd Foll 3cUTee H isT

Y f3arsd gar &l 1T &l HEHH Hcil 62

A Exciter unit | 3?375375@'

B Turbine controller| TaTSsT HheTeR

C Chopper controller | ?ﬁCNEI@’I?‘IT

D Line controller unit | elTSed IGREED schlé

180 Which turbine is used for high heads in
hydro electric power plant? | ﬁ%@mﬁmss’r
SolfFgeh TaR Telle H Tohd a1 &l 3UNLT fohar
ST 8?

A Kaplan turbine | ShYelle] CTHTST

B Impulse turbine | WTE‘GI‘IB?{
(o
D

Francis turbine | STTET CX&TSeT
Reaction turbine | Qﬁﬁo—mawsa

181 What is the function of penstocks in hydro
power stations? | TeTfaoTell &M=t 7 UeT€eTeh T
FRIFATE?

A  Carries water to dam | WWWW%
B Carries water to turbines | Eaﬁga’ra%crr&i’r

RREIGIN
C Carries water away from power house | IEEE
B G ITeil of ST g

D Discharges surplus water from reservoir |

ST I 31 gTelY &7 fAdgaT aar g

182  Which is the purpose of boiler in a steam
power station? | TEH UTaX T2 H S1o} &l

3CCT FATE?

A Super heats the steam | $T9 &T 31f8e I167
PRATE

B Heats feed water and air | ITHT 91T AR gar Hr
g

C Converts water in to steam | GTsil &l HTT &
afRafdd atarg

D Liberates the heat from burnt fuel | GIFTg'Q’
SEeT | IHT & 7FT AT &

183  Which type of power plant is more efficient?
| forer TR 2T TorsTell T 318k Herel 82

Diesel plant | 3roTel GIF

Steam power | HTT AFT

C Hydro electric | 9oT farstelr

D Nuclear power | ng

184 Which material is used as control rod in a

nuclear reactor? | WWﬁﬁW&EQ?
w9 # fohe AT 1 3997 foRam STar g2

A Thorium | 2IRTH

B  Graphite | Ufl'q"TIBE'

C Cadmium | FsAae

D Tungsten | CIECA

185 Which is the non conventional power

generation? | IR IRIR TosTell 3cUTEsT it AT
g7

A Diesel power generation | StoTel 2TfFd 3cdTGeT
B  Nuclear power generation | WI'UI?I%-T
3c4icad

C  Wind mill power generation | 9deT TeFehl
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EECIRGICT]
D Hydro-electric power generation | Eﬁﬁa}gﬁ
uferd 3cdreet

186  Which is the residue of bio-mass? | 3i@

G HTT T AN il ATE?
A Slurry | STeI(TeR)

B Bio fuel | éﬁ'éﬂ?{

C Manure | 9lg

D Biogas | ST

187  Which is the main constituent of biogas? |

ST T HTT T i ATE?
A Oxygen | 3iTFeTsTeT

B Methane | #1dsT
C Hydrogen | T8alolel
D

Carbon dioxide | STes] §I??'311¢HI$S

188 How electricity produced in solar panel? |
I AeTeT F TSTel &1 3cuTest 4 foham Sirar g2

A While sunlight strikes glass | WQHWW
THATE

B While sunlight strikes nickel plate | STsl Il
FT V2 [AheT Tl W ehadr g

C  While sunlight strikes manganese | aaqa;wr@r
2T HeTetToT T THAAT &

D  While sunlight strikes on photovoltaic cell |

Stafer gLat & Qert wietalfees dof W THdr §

189 What is the function of air pre heaterina
steam power station? | TEH UTFT FIT H T W
e AT FATE?

A Heats feed water | Hquaﬁaff?lﬁWT%
B Supplies hot air to economiser | Baﬁﬂ’m'l'&!a?
a1 379 gar ol it

C Supplies hot air to super heater | grwéi’aﬁ
a1 gar 1 3t

D Extracts heat from flue gases and heats input

air | Fo 3T & a1t f¥ehTerar & 3R 31eTet arg
TF FATE

190 What is the main disadvantage of nuclear
plant? | GAHTY] HIF l HEY Jhdle] FATE?

A Disposal of waste | SR &l fuer

B Running cost is more | 3T @I ST &

C Plant requires large space | TIF I 93 TUTT
T HTaRIHAT Il &

D Installed away from load centre | 318 HeX &
o T foham ara

191 What is the function of economiser in steam
power plant? | TEH 9TaY TlTE H ShIATHTS SR &l
I FIT &7

A  Converts water into steam | 9Tsil &l HTT &
afRafdd atarg

B  Heats the air by the flue gases | q——qr\ﬂﬂ‘rm
gaATHI TH AT &

C Heats the feed water by the flue gases | Wef

3T gaRT IS gTell &l ITH AT &

D Purifies the feed water by chemical treatment
| TrHTHfeYeR ITUR @RI T gT AT T ST FIAT
€

192 What is the advantage of non conventional
power generation? | I IRIR TSsTell 3cATGsT T
AT BIICT 2

A More reliable | 318 RAHS

B More efficient | 3778 G&T

C Low initial cost | & TRTAS ATITT

D  Reduce pollution | 9GNUT TCTT

193 What is the function of charge controller in
battery based micro hydel power generation? |

ST 3R ATSHT TS UTaR AR H ATor
HeToR T FAT HRT §?

A  Controls the over voltage | 3TaX dlecof &l
IGUIFGECTGIN

B  Disconnects turbine from the battery | S
TS I BEhaiae HIaTE

C Prevents the over charging of battery | Selrfr
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YT T T el &
D Controls the over speed of the turbine |

TIETS T 3TaR T o I e

194 What is the purpose of barrage in tidal
power station? | SARIT ATFT T2 H SIS T

3CCT FATE?

A Controls the tidal waves | SARIT A3 T
GRIEGKETGIE

B Releases water towards the sea | W@'W
T ST ®

C Tap the water at the entrance of gulf | @TSI &
YA AR I ITeAT &l fda T &

D Converts potential energy into kinetic energy|

FATAST Folt T 1Tt ST & IR HLar s

195 Which component in a steam power plant is
used to heat the feed water from the flue gas? |

FEH ATeR Tolie 7 ford Tesh &l 39T Feg I &

IS TTetY 3l T3 Flat o foll TohdT AT &2
A  Boiler | X

B  Economizer | ShIATHATSSR

C Super heater | {l"':lTaET

D  Air pre heater | TIX YT §leX

196 What is the advantage of pressurized water
reactor (PWR)? | Q’QITI???S'HU'IETW (PWR) hT
T BIACT 82

A No heatloss | aﬁémﬁmﬁraﬁr

B High thermal efficiency | 3T T4 G&TdT

C It has high power density | 38 3Td eIfed
gl §

D Metal surface temperature is lower | Eﬂ?—gﬁﬁr
g I AIATHA HHA G

197 Which power generation plant is having
more reliability in operation? | fha ferSTell 3cdTesT
TIT & AT & 31T Faq=Naar g?

A Hydro power plant | GIFT%E‘SEIDHW

B Diesel power plant | 3rsTel QfFd EIF

C Nuclear power plant | quU;I' S UEGERES
D Thermal power plant | mtrﬁajgam'ar

198 Which is the disadvantage of non-
conventional power generation over conventional

power generation? | IRIR farsTell 3cdigd W IR
IRYR e TaSTell ScuTesT &hi aJohare 418 ?

A Increase pollution | WW

B Security risk is more | ﬁT&ﬂTGﬂ"@Hm%

C Requires more maintenance | 318 @@
T HTERISAT &

D Cannot be used for base load demand | §&
oS f3ATs & foIv SEdATe A8 [ohT T HehedT

199 What is the major disadvantage of wind
power generation? | Udel QT 3cUTGaT bl RESEC)

R dTel T 2

A Pollution effect is more | 9GNUT =hT ITHT FITCT
3

B Requires high technology | 3Td dahsileh T
TG &

C Plant installation more complicated | §IT
YT 3T Al &

D Wind power is not constant and steady | 9deT

Foll forard 3R R =g &

200 What is the function of turbine used in tidal
power generation? | SARIT ATFd 3cdTeT &
LSS T 1Y FAT§?

A  Prevents water flow to other parts of dam |
7T & 37 ST 3 T T T AT

B Converts potential energy into kinetic energy |

feufast o 1 aifas Fot & aRafda sarg

C Keeps the water flow from low to higher level |
g1l & 919 &Y foleT O 3o TR WIWATE

D Converts kinetic energy into potential energy |

aTfast Fatt 1 feufasr ot & aRafda awar g

201 What is the advantage of non-conventional

energy source? | I-IRIR FAT Jid T FAT
HIIET 87
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More reliable | 3778 $RIAHG

Low initial cost | & YRIA SIRTd

Efficiency is high | G&TaT 3f¥&h &

Greenhouse effect is avoided | 3T 8139 YT
IATSAATE

O 0O v >

202 How the potential energy from water
flowing is converted as kinetic energy to generate

power? | Oeil & S8 aTell AT FaT o fastelr
3ol el o [olT AT Foll b €T H HH
afafdd frar ararg?

A By storing water in high quantity | 37T #TaT
H gTeAY T HSROT A §

B By using surge tanks at the water canal | 9Tl
T T H ToT Coh T 3TN Flch

C By using water turbine to drive alternator |
3TeeIe1eX 313d el o (oI Ulell eXATSeT T 3THNT
I

D By creating high head through penstocks |

JoiEeiard & ATETH ¥ 3T 88 Tl

203 What is the effect of radioactive rays
produced during nuclear fission? | WTUI%'@EH

& ERTeT 3ot g1 arell 2T Afsha ot & &
EEICHIGINE

A Damages the reactors | ﬁ@zﬁaﬁﬂwa
G

B Creates health hazards | TaRE2Y T WRT YeT
IRATE

C Reduces fission process | @t fshar 1t
IRATE

D Enormous heat is produced | IehT AT ST
BT e

204 What happens to solar cell, if the intensity of
light is low? | TIfe ST T T & §, A T AT
T T gIATT?

Output increases | Wm%’

Output decreases | HBT%EEIEHT%

C Output remain same | 313¢9c T EdT e

D Nooutputinthe cell | @ﬁﬁﬂﬁé’ﬂﬁ?ﬂ'{ﬂﬁ

205 What is the output voltage of a solar cell, if
light intensity is high? | Jf¢; JerTer T igdr 318
g, A &R AT FT 3M3TYE et FAT R

A Nooutputin the cell | @ﬁﬁﬂﬁé’ﬂﬁ?ﬂ'{ﬂﬁ
B  Output voltage is increased | 3-113‘?%'63’!@3[
9¢ ST

C No effect and remain same | qﬁé’ﬁﬁ?’lﬁ'o—-@j
AT AT &

D Output voltage is decreased | WEIEFIT%'
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206  Which electric lines connect the substation
to distributors in distribution system? | TaaRoT

YUTTel # [adah! & ToIT HaEeers &l dhled Y
faegd orse shsch &2

A  Feeders | st

B Distributors | fAdia

C Service lines | aﬁﬁans?r

D Service mains | GfdT A

207 What is the insulation resistance between
any two conductors in a medium voltage domestic

installation as per IE rules? | IE é:ﬁ?:uﬁra:w
HEIH dlecol B SECToRle H fahegl &l aTelehl &
ST gegerereT gfaRrer Farg?

A Infinity | ded

B More than one Mega ohm | T&h R eH &

kIBED

C  More than two Mega ohms | &I & 3178 &am

EA

D  More than three Mega ohms | e 3T 37IEs
& 31fs

208 What is diversity factor (D.F)? | fTafaerar
FR (D.F) FATE?

minimum actual load
A DF =

Installed load

B DE = Installed load

minimum actual load

C DF = minimum installed load

actual load

actual load
D DF =

minimum installed load

209 What is the voltage ratio in A.C distribution
line adopted for domestic consumers? | 'EI'QT:[

3T F T 379a1S 315 A.C faaRoT o &

aATeeST 3e]aTe T 82
A 415V/240V
B 240V/110V
C 415V/110V
D 11KV/415V

210 What is the name of the insulator used in
O.H lines? | 3I.TT ATSAT H 3TALT ThT ST aTed
Sl I ATH FAT§?

(2

==t

\

Pin insulator | ﬁlﬁé’{lﬁﬂ

Post insulator | WB’@W
Strain insulator | FQFTB'{!D@ET
Shackle insulator | ﬂﬁg’{lﬁﬁ

O 0o v >

211  What is the name of line insulator? | &llSeT
Gl I ATH FAT§?

Pin type insulator | ﬁmwsrgaaz

A

B Disc type insulator | [3¥& Y& $o-{-lao\1¢~{

C Shackle type insulator | strgaaz
D Suspension type insulator | Tolee YR

30'35 e

212  Which is the permissble load for lighting sub

circuit in domestic wiring as per IE rules? | IE forgr&T

o 3THR B ATIRAT H 39 Flhe I STollel o fow

3TAY R DT ATE?
A 800W

B 1200W

C 2400W

D 3000W

213  What is the name of the insulator? |

STgeT FTATH FATE?
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A  Stayinsulator | 1—%3@@3'\"

B  Shackle insulator | W@W
C

D

Suspension insulator | GGEG) &-{3&6(
Single shed pin insulator | f&3TeT 5 T
: 9

214 What is the reason for the conductor cross-
sectional area can fully utilised on transmission of

DC as compared to AC? | T HRUT &, ST THT Fr
olelT # ST & AR TR SHhseFe hIH-Herlelel
& T QU NG W AT & Hehell &7

A No heat loss | aﬁé’:mﬁzraﬁraﬁr

B  No skin effect | aﬂémqﬁwaﬁr

C No power loss | aﬁé’elﬁ?raﬁraﬁr

D Nocoronaloss | aﬁéﬁﬂmaﬁraﬁr

215 Why the disc pin insulators outer surface is
made by glazing and bent the sides inward? | 3%

0T SgoIeT aTeY Helg T T folaT GaRT &1 q=Td]
1T & 3R FoheTRT ohY 37e ohY T T ST T8T &2
A To withstand high voltage | 3T alecol &l
HIHAT el o folw

B Not to attract birds to sit on it | 5 T §&=1 o
fore afarat 1 3refa et & forw 8

C To offer high mechanical strength | 3T AT
NIEREHEERCCAELY

D Disables continuous water flow in rainy
season| wﬂﬁﬁmaﬂmﬁﬁm
FATE

216 What is the type of over head line joint? |
3R 83 oISl HYeFcl hl ThR AT &2

= ¢

A Twisted joint | 3T ET S
B Straight sleeve joint | T8 3TTEAA T SIS
C Compression joint for ACSR | ACSR & foIw
.J e
D  Straight joint through connectors | aded &
ATeTH A Y S

217 Why steel is reinforced in ACSR conductors
used for overhead lines? | 31Taigs 81 & foIU

SEAHTS gt dTel ACSR hgeFe H Tl sl 3T
yaford foRam SiTaT &7

A To minimize the line sag| T8 {1 T HF
ERC ATy

B To reduce the line voltage drop | H’IBHH’I@GT
ST Y T Y 35 T

C Toincrease the tensile strength | d=IdT S&leT
& forw

D Toincrease the current carrying capacity | &IXI

TEeT &THT T FEToT h foIT

218 Which type of A.C transmission is universallly
adopted? | ford Yeh IR T A.C THROT ATG9I A &
 HIATIT SATAT &7

Two phase four wire | &l ol IR dR

Two phase three wire | & %l dle dR

C Single phase two wire | T&3Tel el I AR

D Three phase three wire | cilel hof dlel dIX

219  Which type of line insulator is used for
terminating on corner post? | WWWW
& TFHA o T o JehR o 15T Segeled 1
3TATT fohar ST 82

A Pininsulator | ﬁ?rsgﬁ'a

B  Straininsulator | @Hs@ﬁ?}
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C Shackle insulator | Wﬂﬁﬂ

D Suspension insulator | [aelaa gogelcy

220 What is the reason of keeping binding wire
gap too close and very tight in pin insulator? |

STSTSIT AT 3 T Sg T I 7T AR O $elex
H S TTST el T FAT HROT &2

A Avoid sparking | T9TfehaT & §<I

B Avoid corrosion | &ROT H &I

C  Avoid oxide formation | 3iTFHTSS STt & &
D Avoid atmospheric pressure | Waﬁﬁ
aTT

221 What is the name of conductor used on
overhead lines? | 31a3gs 8T IR 39197 [T

STTe aTel Shgae ol T AT &7
ACSR | ACSR

Aluminium | 3egHIfATH
C Galvanised iron | aﬁﬂﬁe_cfﬂlél
D Hard drawn copper | I draT

™

222 What is the main purpose of crossarm used
in electric poles? | ﬁ@ﬁ@ﬁﬁﬂﬁﬁﬂmﬂ
HEY 3¢ FATE?

A  Supporting the line conductors | WW
T HERT oAl

B Holding the insulators on overhead line |
3NARES WS TR gl TehgaT]

C  Avoids short circuit between conductors |

FHeFe F ST AC Tfhe FTATIATATE

D Reduces conductor sag between supports |

TER & I Fgae RfAerar A T aarg

223  Which type of line insulator is used at the
dead ends of the H.T overhead lines? | H.T3-ﬂER%_s'

STt & 31T R o Ry Y 35 TS SRR
T 3TN fHaT ST 82

A  Pininsulator | ﬁﬁgﬂﬁa

B Discinsulator | %ngré’a

C Stayinsulator | 1-_33@@—6'\’

D Postinsulator | W%’g@—d—\’

224 What is the advantage of AC power
transmission? | AC GTdX ZIATHRIT 3T FT HIICT g7
A Corona loss negligible | PRI o Hle o110
B  Stress on transmission lines is minimum |
CTATARI ATSaAT IR IoA1d = g7 &

C Low voltage drop in transmission lines |
TIATALIA STSAT H T dlec ol 31T

D Voltages can be stepped up and stepped down
easily | AlecsT sl T 379 ThdT ST FhdlT & 3R

3T T 313 TohdT ST ThelT &

225 What is ACSR stands for? | ACSR ol Hdeldl

FATE?

A All Conductors Steel Reinforced | All
Conductors Steel Reinforced

B  Aluminium Core Steel Reinforced | Aluminium
Core Steel Reinforced

C  Aluminium Covered Steel Reinforced |
Aluminium Covered Steel Reinforced

D  Aluminium Conductor Steel Reinforced |
Aluminium Conductor Steel Reinforced

226 What is the purpose of cross-arm in O.H
lines? | 31.TT oISl # ShIA-3TH HT 36T FAT 67
A  Provide more support to the O.H pole | T,
qrel T 3178 TERT YeTeT

B Protect from short between conductors |

el & sl oIt § T&T Y

C Reduce the sag of the lines between poles |
GFAT o o1 T @37 Fr RAFDeTar v A HL
D Holding the insulators where the conductors

are fastened | WW?’GW%W@
SlehsSdl

227 What is the advantage of overhead lines
compared to underground cable? | N@WHW

hY Tl & 3iaR g3 olTSeil b1 F4T BIIeT &2

A Public safety is more | HﬁmﬁTﬁTm
3

B Faults can be located easily | &% 3TETT & 9T
ST ST Hehl &

C Nointerference with the communication lines

| TR WITSaA1 & |1 IS §EAGTT FET

D Not liable to the hazards from lightning
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discharges | df3d foRTAT & @RI & forw
ICEENEIDE

228 Which substation the transmission line
voltage is stepped down to consumer supply

voltage? | TIATHLIST SlTSeT Alecol ol fohd TATT TR
SUHIFAT YT AecsT H o ST ST 572

A Mobile substation | AISTS el TEEC U

B Mining substation | WeleT TETCLMeT

C Secondary substation | ATETTHS JaEC AT

D Distribution substation | TaaROT HaEC AT

229 What will happen to the string arrangement
of disc insulators, if one of the disc insulator gets

damaged? | uﬁ%msagﬁaaﬁar«ré’rm%,
ar f3Teh Sqelex I ROCaT caawT T FT gemm?

A  Whole string become useless | QNHWWET
STaTE

B No effect operates normally | Eﬁlé’ﬁﬂ'ﬁﬁ-‘l’lﬂ'
Tel, AT &9 & HAfold &l &

C  Only the damaged disc will not function | sael
gifaared foes w78 el

D Damaged insulator and the adjacent insulator

will not function | WWWW
SogoIeX I el Al

230 How the sparking on the aluminium cored

conductors binding joints can be prevented? | Sirsr
I STEe Tl TogHI o1 1S dTel el T
TTfSRaT Y HE AT ST BT &2
A  Keeping binding turns very close | ST arel
TATAT T ITH-91H IGeAT

Making binding turns very tight | STers arer

9

B

gATAI T HHHT TGl

C Providing guard wires below the conductors |

HEFCIT h o IS AR ol TGTeT all
D Providing more than one binding | T

31T TEIT TSIl el

231  What will happen to the skin effect on the
0.H conductors, if the conductor diameter is small

(<1cm)? | 30T hedFe] O cadT & YHIT T FT
8191, 379X ShsaFe T I BIET ¢ (<1cm)?

A Becomes negligible | STITOT &Y SATAT &

B Increases to maximum | mwwa'c;m

g
C No effect, remain same | aﬂémaﬁ, aﬁ
EATE

D Decreases half of the value | HTeT T THT T
JTATE
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232  Which circuit breaker is installed along with
wiring circuit against leakage current protection? |

lehol ShiT HIearere & auTd g IR dfche &
T i TT Glche ST AT SATAT &2

A 0CB
B MCB
C ELCB
D MCCB

233  Which relay hold their contacts in position
after power is cutoff?| qTaT e 3iTh & 91¢ hila I

et 319 duet o1 Reafa A @a &2
Read relay| &8 Rer

Current relay | &RT Ret
Voltage relay | @lecal Ret
Latching relay | oT=<ieT et

O O w >

234  What is the name of circuit breaker? | gfe

A  Oilcircuit breaker | Jof afhe st

B  Air blast circuit breaker | T seke Hfdhe
CETY

C  Vacuum circuit breaker | faaTa afde st

D  Air break circuit breaker | T 5k JTehe ShT

235 How the rupturing capacity of circuit breaker
is rated? | Hehe e T Tt T &THAT T
He gl H8 har ST g?

a

A KV

B KW

C MVA
D KVAR

236 What is the pick-up voltage in a over voltage

relay indicated? | Hehfad 311X dlecst Ref & -
AT Alec FAT &7
A Working voltage of relay | Rl &l SRIRY

drecst

B Maximum voltage rating of relay | Rel &r
3fhaA drecst e

C  Minimum voltage rating of relay | et fr
eI H dleest Yo

D Minimum voltage to start the relay | ﬁ@fﬂ?‘?
5 TN e et

237 What is the function of Buchholz relay in

power transformer? | WWJETW
Rer T wy Far g2

A Over load and short circuit protection | 3iTaX
s 3R 2iic afdhe TXaTor

B  Over voltage and earth fault protection |
dleds 3R ged 2y & geaT

C  Open circuit and earth fault protection | 39T

Tféhe 3R g gy FeTor
D Open circuit and over voltage protection |

39T e 31 3NaT aiee s WeasrT

238 Which type of load is protected by G’ series
MCB?| fhE YR I s’ G AU MCB garT TRfard

A Ovens | 3asT

B Geysers | IoR

C  Air conditioners | TIX &haIReR

D General lighting systems | GQTHIT HhIT
SqaEAT

239  Which type of relay is used in both A.C and
D.C supply? | A.C 3R D.Cﬁq‘ﬁaﬁﬁmw
& el &1 39T fRar ST 82

A Reedrelay | i3 Rer

B Impulse relay | 3Ta9T Rer

C Thermalrelay | ¥ Rer

D Clapper-type armature relay | FAR-IHR
R et

240 Which circuit breaker is used as a switch and
protective device in the domestic wiring circuit? |

B AR afehe 7 e AR graters 3uehior
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& &9 # fra afihe S a1 39T R ST &2
A Air circuit breaker | TR I sl

B  Miniature circuit breaker | At afee
SETY

C Moulded case circuit breaker | Aless hH
Hfdhe s

D Earth Leakage circuit breaker | 372 oliehol
Hfdhe s

241 What is the purpose of trip coil used in
circuit breakers? | Tfehe ST H SETATC T SiTed

arelt foT higel ST 3662 FAT 82

Easy operation | 3THTeT hTHGbTST

Remote operation | R&ATE 3iTaRer

Accurate operation | T 3TaRerT
Emergency operation | 3TATTRTeleT 3TIRRTT

O 606 w >

242 What is the function of relay to the breaking
operation of circuit breaker in control circuit? |

foor afde 7 afde st & sifarer sifaversT &
Rerwra Famg?

A Sensing the fault quantities | GIY HAT &I TAX
T

B Analysing the condition of breaker | S&< T
feafa &t fageivor

C Controlling the Speed in case of fault | 3Teldl &
HATHS # T1E Y a3d e

D Interpreting the fault situation to operate
breaker | SehY HATTold el o TelT 1Y T FFUfa
T SATEAT HTeAT

243 What is the effect, if the test button marked
as X’ is closed permanently in ELCB? | I X’ & &9

# RIS T a1 9dreqor Seo ELCB H TR &9
AdeE, ASHR FAT YT &

r 9 |
.[]'“’_“’
k2 P
I
1
ﬂ i
]
- I
T, —
X -
A Circuit trips intermittently | Tfehe Th-Teh T

feagare

B Circuit functions normally | Tfehe TTHTT 9
AFA AT

C  Circuit switch off completely | Hﬁ?qﬁaﬁl}l
dc

D  Circuit will not trip on leakage | lahef G

afde foa g e

244 What is the defect in an air circuit breaker, if
trips intermittendely on loading? | argmﬁn—cam

HFAT IV §, IR AIS9T IR Hehe Feh-5h &Y [T
BT E?

A Incorrect setting of relay | Ret & aTera AfEaT
B Excessive heat | 3/cTfeieh AT

C Insufficient air pressure | M‘I'VCI'H'I'CI;GTW

D Line voltage is too high | ellSdd dlecal sgd

HUF G

245 \What is the defect in a oil circuit breaker if

the oil heats up excessively? | Tfe deT TS I8
AU dl AT Afche e HFAT AT 62

A Line voltage is too high | ¢lTSdd dlecal sgd
AfRFT

B Excessive load | 37caf8idh IR

C Poor dielectric strength | amw%agmﬂ%cr
D Defective tripping mechanism | W%ﬁﬂ
=El

246 What is the cause for the defect if phase to

ground fault on the transmission line? | 39X
CIATARI A8 I %ol € 33 Hice ¢ dl &
HROTE?



ELECTRICIAN - Semester 4 Module 7 - Circuit Breakers and Relaystion

Reviewed and updated on: 015 November 2019 Version 1.1

Components failure | ©1cehi T TTHIdT

Human error | ﬂ'l?-IT:l'?Ifc','
Fuse failure | FgaT el

A
B Insulation failure | sr{j)é?lo-l aeran
C
D

Answers:

1-D|2-B|3-C|4-D|5-D|6-D|7-D|8-
Cl9-D|10-D|11-C|12-B|13-C|14-C

| 15-C|16-A|17-D| 18-A|19-A | 20-D
|21-C|22-A|23-C|24-A|25-D|26-D
|27-B|28-B|29-A|30-C|31-A|32-A
|33-B|34-D|35-B|36-C|37-A|38-A
|39-D|40-A|41-A|42-A|43-A|44-D
|45-C|46-A|47-C|48-A|49-A|50-D
|51-C|52-D|53-A|54-D|55-A|56-C

| 57-D|58-D|59-C|60-A|61-D|62-B
|63-A|64-D|65-C|66-B|67-D|68-D
|69-B|70-A|71-C|72-A|73-D|74-A

| 75-D|76-D|77-C|78-D|79-A| 80-B
|81-D|82-A|83-C|84-C|85-A|86-C
|87-D|88-D|89-B|90-B|91-B|92-D
193-C|94-D|95-D|96-A|97-D|98-A

| 99-C | 100-B | 101-C | 102-C | 103-B | 104 -
D|105-B|106-C| 107-B | 108-D | 109 - A

| 110-B | 111-C | 112-B | 113-D | 114-B | 115
-D|116-A|117-B | 118-A | 119-A | 120-C

| 121-C|122-D|123-D | 124-C | 125-B | 126
-D|127-B|128-D|129-C|130-A | 131-B

| 132-C|133-B|134-D | 135-A | 136-B | 137
-D|138-A|139-D|140-B | 141-D | 142-D

| 143-C|144-B | 145-D | 146-D | 147 -B | 148
-A|149-A|150-D | 151-C|152-B | 153-C

| 154-A | 155-C| 156-C | 157-C | 158-D | 159
-D|160-D | 161-B | 162-A | 163-A | 164 -B

| 165-D | 166-B | 167-B | 168-A | 169 -D | 170
-A|171-B|172-A|173-A|174-A | 175-B

| 176-B | 177-A| 178-D | 179-B | 180-B | 181
-B|182-C|183-C|184-C|185-C| 186-A

| 187-B]188-D | 189-D | 190-A | 191-C | 192
-D|193-C|194-C|195-B | 196-C| 197-C

| 198-D | 199-D | 200-B | 201-D | 202 - D

| 203-B|204-B | 205-B | 206-A | 207 - B | 208
-A|209-A|210-D|211-D|212-A|213-D

| 214-B|215-D | 216-C | 217-C | 218-D | 219
-C|220-A|221-A|222-B|223-B|224-D

| 225-D | 226-D | 227-B | 228-D | 229-C | 230

-B|231-A|232-C|233-D|234-B|235-C
|236-D|237-A|238-C|239-B|240-B | 241
-B|242-D|243-C|244-A|245-C|246-B |



